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Ppuwljui pybip

§1. gﬁulllulﬁ, unipnne L nughnGuy F}lllill

Utin owlnpnipjnilip pytiphG vuyby b plhwlwmb pjkppg 1, 2, 3, ...: Qdpwlp
oquuqnnoty hp hwyyuiwl U hwiwpwluwpiwl hwdwn: {tnn qqugyby L ynnnpuy G-
nh wGhpwdt)mnipniln: “Fhnwpyblp, ophGwy, hwnmywoltnh GpywpnipyniGGtph
swihdw( fulnhpp, swthtGp 6. 1-nud wwuytpquo AB, CD, EF, GH huunjudGiph
tpyupmpmGatpp’ swhdwl shwynp ytpgltng OO0, hwnjwon. OO, =1 dhwynph:

I -
0o 0,
— ) et 1 1 1
A B CD E F G H

Ul 1

AB hwunjwop tpynt wlquu tpup £ OO, -hg, mptdG® AB=2:

CD hwunjwop tptip wqud Yupd & 0O, -hg, mptdG' CD =1/3:

EF hwwnjuwop tpynt wlqud tpup & CD -hg, mpbdG® EF =2/3:

GH hwwnwop snpu wlquy tpyup t CD -hg, mptdG® GH =4/3:

Uyuyhuny” wpntb swthdwl yupqugmjG fuGnhpGipnd wpwew Gmu | Yninnpuy Ghph
Gtpinidvwl wihpudbynmpyniG: <pptlp, np YnnnpuyGhpp m/#n wtuph pdtnG 66, nputn
m -p L n-ppGuljuG pytip bG6: RGwlywa pytipp GnyGubu ynnnpuyGhp 6 1=1/1, 5=5/1,
4=8/2, 11=1518/138 L wyG:

Jhgtipnpn nwuwpwind nnip dwlnpwgl) tp pwguwuwlwl wipnng pytphG L
pugwuwlwl Ynunnpulwht pytphG: <pptgGhlp, np pGuwyw pytpp, Gpulg hwwnhp
putinp L qpnG yuquinud GG wdpnge pylph puqinip niGn:

Qpuyul m puwguuwul YnnnpuljughG pytpnp L qpn juqimd GG nwghnbiug plph
pwqunipynilp:

Snipwpwlyjnp nwghnlwy phy Yuptih & Geplujwuglty rla wmbtupny, npntin p -G
wipnng phy k, hul ¢ -G° plwlwl: fwghnGwy pybpp juptih Ewwnybpt pywihG nmnh
Ypw:

Fgﬁt[mj]:ﬁ nighy kb whjwlinid wjl nighyp, nph Jpw Gygwo b Gplni Yhap,
npnlighg dklip hwdwwwpwupuwbingd b 0 pyhb, dyniup’ 1-pb:




0-h L 1-p dhol htinwynpnipjniGp hwdwpynd b suhdwl Shwynp: Gpuub
nwghn(w] a phyp wwuytipyni & 0-hg ¢ dhwynp htinnt Yhnnmy, Gny6 Ynnuinid, hGy
np 1-p (GY. 2):

Puguwuwlul nwghnGwy b phyp wuwn-

Yty E hwlywnhp Ynndmd® 0-hg || =-b b 0——a -b=Ibl
htinwynpnipjudp: Ujunhuny hwjunhp nw- bl 2

ghnGu pytpp pywjhl ninnh Yypw wwwn- '

ytpynwd GG O -h mwppbip Ynnutipnud, 0 -hg GG htnwynpnipjwdp (GY. 2):

CanniGYwo E pYwyhl ninpnp wuwwytipti] hnppgnGuuG qony L 1-p wuwwmytipty
0-hg we: Wyu wwjiwlny npuwlwl pybpp wwwmybpynid GG qpnjhg we, hul
pugwuwluwbGtpp’ qpnjhg dwju: Qpnl pwdwlimd L ngpujul pytiph b puguuwywl

bl b1

pytinh pwqunipymGatpp: Unhwuwpuly, tipt ¢ > b, wyuw @ -G pyuwyhG ninnh ypw b -hg
wy E:

PGwywb pytph puqinipyniG6 pnmGguo t GQubuyt; N wmwnny, wdpnng pytph
puquinpjniGp’ Z -ny, hul nmghnGuy pytphGp’ Q -m: Mupqt,np NcZcQ:

Plwlwl pybpn unynpwpwp qpunnid Glip mwuwlwl hwiwljwpgnii: Uyn
Guuunwyny oquuugnponi tiGp 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 pywlywbGtpp: AGwlwi pyh
nwuwul gptjwdln nhppwyhl b wjunmbn Juplnp £ pyh gqpmpjuG gt pywlywlh
nhppp:

OnhGuwy™ 3534 pyh qpnipjul vk tpym wlquy hwlnhwynn 3 pywlwbitnhg
wnwohlp GuwGwymd t 3-10°, huy tpypnpnp’ 3-10': Wyu phyp pugywd wbkupny
(Qupquyhl gmiwnpbhGhph gnidwph mbupny) qpynid £ wjuytiv’

3534=3-10°+5-10> +3-10"' +4-10°:

UnunnpwlwjhG pybpp quunbint hwdwp oquuwgnnpoty kGp hGywtu unynpuyud,
wjlwtiu £ mwulnpnujub Ynnnpuybtnp: bhwnpyt, ghntlp, np wikb h Yytpowynp
wnwulnppuiwl Ynunpul upbih £ gpb) ungnpujuwG ynnnpuwyh 30 8

wmbupny, wjuhlpG’ Yybpowynp mwulnpnpuub YnnnpwyGtpp L;O 0,375
25 49 56
nwghnGuwy pYtip tG: OphGul” 0,13 = 13 ,12,25=12—=— LwyG: 40
100 100 4 ~40
Ujdd thnpdtlp unynpuwlwb ynunnpuwybtipp gptip mwulGnppuyjul 0

ynunnpwlh wtupny: OphGuy® 3/8 -p mwulnpujwl Ynnnpuyh wmbkupny gpbnt hwiwp
3 -G wilynbGudl pwdwlimy tip § -h L umwbimy 0,375:
Gpb Gny6 pwGl watkGp 1/3 -h htin, wyw pudwlmip sh wjwpnm- 10 [3

yh, b junwGulp wayting mwulnppuywb yninnpuly

9
10
9
10
9

l=O,333...;
3



Wuwhuny® 1/3 -h niwulnpujut gponipjw dhe unnpuytinhg htinnn wytpg Ypyaynud
L 3 pqwlywGp: Uyn thwuwnp gpunnid GG wjuybu.

Gpti 52/185 -pqptiGp mwuGnpruljul Ynunpuyny, junwbuip 0,2810810810...: Uju
nhypmd unnpuwltnhg htwn tpypnpny Ghphg ujuwd wlytne YpyGymd £ 810 -p:
Ltunlwpwn

52

—=0,2(810):
185 (810)

Shunwpyduo tpynt ophGuymy unwgwlp, np 1/3 L 52/185 unynpuljwb ynun-
puyGtipp gnynud GG wligkpe wpuppbpwlpul ppwulinppulyub fnypnpudih upny. Gpulg
nwulnppuul gpundwl kg, hGs-np mtinhg ujuwo, pywlywditph th fumdp (Gud dh
pywlywl) whgtpe YpyGynd k: Uhw wynuhuh Lo dh pwlh ophGuy.

23 203 3
=220,(23), ===12(30), ==0,(428571):
5o = (23), 15 =12(30), —=0,(428571)

- Bnipwpwlisynip nwghnliwy phy qpynid b Jhpounjnp ypwulinpnuwlyul

Ynypnpulih Jwd wlidbkpg wwpphpwlwl pwublinppuljubl Gnipnpulih plkupny:

‘Llwwtlp Gul, np

- Jnipwmpwlisynip wligbkpo wpwppbpwlwl pwulinppuljub §nipnpuly npn)w-
hh nughntiwg pyph pwulinppuljub qpunnid k:

StuGhbp, pt n nwghnGuwy phy6 & 0,(7)-p: UyGhwywn £, np wyy phyp” 0,777...-p,
hwjwuwn k
7 1 7

10 100 1000

waytpg gmuiwnhG, npp 7/10 wnwohG wnuing b 1/10 hwjnwpuwpnyg widtpg Gjugnn
tpypwswihwlwl ypngptuhwjh gnudwn t: <twmbwpwnp

1-1/10 9-
Liwh éhnq umulgqnuj L, nn
71
1201 =12+ 2L ¢ TL . _yp4 1000 _ 1259,
1000 100000 - 1990
100



GnpoGwlwl YhpwnnpniGGipnid whytipng mwulnppujub Ynunnpwynyg Giplu-
Jwgynn phyp Ununnuynp GepluywgGnud GG ytipowynp vnwulnpujuG ynunnpuyny: Udka
wlqud pnnlnd GG wyGpwl nmwulnpnuuG Ghp, np ufuwp thGh poyjwnpth: Utklp
pwquihgu Yyhpwntilp wju inntignuin:

cd Swuljughi] Gip puup
1.  N0°ppytph GG ogqunugnponiy hw)ytint L hwiwpwjw bt hwdwn:

0°n pytinhg L juqiywo wipnne pytiph puqinipynidp:

0°n pytinhg L juqiywo nwghnlwy pytinh puqinipynip:

N°p6 E yngymd pyuyhG mnhn, L h°G6s6 E Gpu swihdwG Shwydnpp:

OyuwjhG minnh ypw O0-h n°p ynndnmd 66 wquwumybpynmd gpuju b n®p ynnpdnd
pwgwuwyuwl pytinp:

6. N°ppuqinpynGitpG 6 GpubGuymd N, Z, Q wwntpny:

A

7. PGwlw6 pytpp mwuwlwl hwdwupgmd gpuntnte hwdwp n’p pJul)wiGbpt Ga
oquugnponiy:

8. 25678 phyl hGswb°u k qpynid Jupquyhl gnidwpbihGiph gmudwph mtiupny:

9. UdkG dh ytpownp mwubnpuub Yynnnpuy gpyn®d £ wpnynp undnpujuG ynunnpuyh
wmbtiupny:

10. 0°p pytpG GG gpynid wlytpe wuppbpuwl Jud Jepewynp mwulnpnuljub Ynunn-
npwyny:

A Unwownpuiipibp
1. EJwjhG mnnh ypw wwwnytpty a =16, b=-17, ¢=14/11, d =—-20/13 pytpp L
Juunwnty htinbyw) wnwownpwlpGhpn:
w) Spjwd pytiphg npn°Gg dhol t, ¢ -G:
) SpJwo pytpp nuuwynptp wddw b upgny:
) {wytiy |b[ -h windtipp:
n) Spjwd pytiphg n°pG £ pugwpdwy wpdtpny wikGudbon:
t) a -G Gpyujwuglt] unynpujwb Ynnnpuyny:
q) Gl npwo pytinh dhohl pYwpw lwljwbp:
2. fOwyhG mnnh dpw O -hn°p Yynnind GG (— a )-G b |a| -G, bpk®
w) a-GnpuyuG k: p) a -G ppguuwuwdk: q) (—a)-GnpuuGt:
3. Qulb] tpymt pGuwlwl phy, npnlg gmiwpp 504 E, huy wikGwitd pnhwnip
pwdwGwpupp 84

4.  btwljw) pGulwG pytipp gpt yupquihG gnudwpbijhGiph gnudwph wtupny.
w) 352, p) 5864, q) 60853, n) 80451 :



Cuwn Jupquyhl gnuiwnbihGhph gnudwph’ gpty puqiwGhy phyp.

w) 3-10° +2-10% +1-10, p) 7-10* +4-10° +5-10+9,
q) 8-10°+2-10° +6, n) 5-10°+7-10* +2-10° +5:
6.  Spywo phyp Ghpluywg b wipnne pyh L dkyhg thnpp ny puguwuwluw wwuGnppuyjw i
ynunpwh gnudwnpny:
w) 34,251, p) 45, q) —12,3, n) —80,45:
7. SpJwd unynpujul Yynnnpwlp gpbp nwubnprpujul ynnnpujh mtiupny.
w) 45/4, p) 37/40, q) 127/25, 1) 99/50:
8.  SpJwd mwubnppuywb Ynnnpuyp gptp undnpujul ynnnpuh mtiupny.
w) 1,25, p) 2,256, q) 0,016, n) 3,625:
9.  Spywd unynpuyjul Ynnnpuyp gpty wlytpg wuwpptpuyul nwulnpouiul ynnnpuh
wmtiupny.
w) 1/9, p 1/6, @ 1/7, ) 12/11:
10. Qwibtdwwb) pytpp.
w) 5/12 10,42, p) 11/1510,74, q)2/91.0,2, 1) 5/6 L 0,83:
11.  SpJwo pytipp quuwynpty wddwb Jupgny.
w) 49/11, 45 =54, p) —8/17,-0,5 L0,5:
12. bty 0,6(3) pyhg Wto L 0,634 -hg thnpp nwghnwy phy:
»13. Uyt —0,6(3) pyhg thnpp L —0,634 -hg vhd nwghnlwy phy:
»14. UGYLpe wuppbpwlwl wwulnppulijuwl Ynnnpulp gpbp ungnpujuG fnunnpuyh
wtiupny.
w) 0,(6). P 0.2(4). 9 5.0(2). 1) 10,39):
»15. Qwpytij wpmwhwjmmpjwul wpdtpp.
w) (2/7)-1,1(6)+0,1(6), p) (8/9):0,(6)+2/3,
q) 5,(09)+0,(90), n) 9,7(2)+1,9(7):
[ ypljimnepwin hunfwp
»16. Qb wyG tpyGhy phdp, npG hp pywlywGGtph gnuiwphg vGo £
w) 3 wlqud, ) S wlquud, q) 8 wlquud:
»17. Qb w6 tpyGhy pytipp, npnGp hptiGg pywbwlGtph gmdwphg WGo GG

w) 4 wiqud, p) 7 wlquu:



§2 . hpulllmﬁ PYbp

frwghnGw) pybtpp wwwytpbnyg pywjhG nignh pw’ wikl dh nwghnGwy pyh
(Ytpowiynp Y wwppbpwywl nwubnpuyju ynnnpuih) Jipugptghp dh Yuw, npp
0 ytwh we Ynnimd k, tipt wyn phyp nppujua t, L dwhe Ynnind” tiptk puguuwyuG t:

UwluwyG nwghnGw) pytpp skl «glGnud» pywyhG nihnp. pyuyhG ninnh ypw JuG
Ytintip, npnGp sbG Gpluyugynd nwghnGuy pyny: Ujdd thnpdblp wyn YnbphG GnyyGutiu
Jtpwqnt pytin (mwulnpnuijuG ynnnpuyGhp):

Qhnwnytlp, ophGuwy, B Ytwp, nph htinwyynpmipjnilp O -hg hwjwuwn £ dhwynp
Ynnuiny pwnwyniunt waljniGuqoh ipupnipjwn (GY. 3):

B

V2 |
0 . 14B15S

A 2

LY. 3
{wlpwhw)yh nuuplpwghg vtiq hwjnGh t,np 1 Ynndng punwlnium wilyniGugqoh
tpyunnpjniln sh wpmwhwjnymd nwghnGw) pyny: Uwlw)la hdwlGwny, np wjn
tpqupnipjwl pwnwlyniuhG 2 b, wilniGuqoh tpupnipyniGp hwdwnpt Glp J2 :

UjuhlpG’ wyG npuyw phyp, nph pwnwyniupG 2 t: {kGg uw t wjG phyp, npp
hwiwwywunwufuwlnd £ B YhwhG: Uydd V2 -n GEpluwjwglblp nmwulnppuyub

Ynunpwyny:
B Ytwp 1-h b 2-h dhol E: MiptdG’

1<v2<2:
[1; 2] hwwnywop puwdwbny wwup hwjwuwnp dwup’ wtulnud Glp, np
14< V2 < 1,5
(pwGh np 1,4> <2<1,5%): Uju wwpwquynd 1,4 -p L L5 V2 -h pwulinpnuljud
dnypuplnudllpb k6 107" 6)mmpjudp, pwh np 1,5-1,4=10"": UjGnihtnl [1,4;1,5]
hunywop pwdwlbny mwup hwjwuwp dwutiph™ junwluip®

1,41<V2 <1,42:
‘Llwwubip, np 1,41 L 1,42 wmwulGnpnujuG YnunnpulyGtphg jnipupwGsjnipp uptigh
E hwdwpty V2 -h wwuGnppuuG Snnwpymd 1072 Gumpyjudp: Chn npnud, 1,41
Unnwpynmd k V2 -0 wwlhwunpyny, huy 1,42 -n° hwykinipgny: <wujwlwh t, np tph
witl wliquyi nmwup hwjwuwp dwuh wmpnhtlp wjG hwnywop, npp WyupniGwynd L

8



V2 -0, wyu gnpoplpugl wjwpun sh niGhGw (hwjunwy nhypmd V2 -n jupumwhwjnyph
Ytpowynp muulnppujul ynunnpuyny L jnuwnbw nwughnGuwy phy).
141<v2 <1,42,
1,414 <2 <1,415,
1,4142<2 <1,4143,

UjuhGpG OB hwwnwoh tpyupmpnilp, npp GpuGwlty thip J2 -ny, Jupunuw-
hwjunyh wiytng nmwulnpnuyub Ynnnpuyny: Fw YihGh wiybpg ny yuwppbpuywb mwu-
Gnpnuwlw G Ynunnpuwly, pwGh np V2 -p nwughnGuwy phy sk:

{LwlqniGnptG, pyughG ninnh ypw 0 -hg we wdtG vh Yhnh jhwiwwywumwufuwbh dh
nwulnppuyul Ynnnpuy (Jtpewynp ud waytpg, wuppbpuwywl Juwd ny yuwppbipw-
Jud):

dhipgGhny wyn mwubnpnujul nnnpuy Gpp «—» Guling® junwlwip 0 -hg dwfu
Ybtwnbipn:

N2

Y2 Ppwlpwli pwulinpyudpu i nipnpu Ghpp (hwingwoGtph tpiupmpyniGGt-
nn), pruguwuwljmb pwublinppuljub nypnpuliibpp b qpnb juqdnid 6 ppuwljub
pyYbph puwqgdnipjnilip:

bpwlwG pytiph puqinipniG6 pGnniGwo £ GQuluwyt; R nmwnny:

N2
X

7 bpwlwb, pujg ny nughnliwg pyhpl whjwbinid kb ppwghnlivg pykp:

Ujuhlpl' hnwghnGw) pytph puqinipjnip RAQ-G 1™, V2e Q\R:

bnwghnGw] pyh ophGuy k Gul 0,1010010001... phyp (wnwehl thlhg htinn dhy
qnn, tpypnpnhg htinn® tpyne qpn Ly ), pwGh np wyG Gepyuyugyuo k ng wupptpuwG
nwulnpujul Ynnnpulny:

s [Oqughli nigph judwywlwb jhph hwdwywpwafuwbnod b odp hpuoludb
phy b hwhwnwlp. jwdwjwlwl ppuwlmb a pyh pjuwjhli niggh Jpw hwidw-
wupwufuwbingd Edp Ylyp: Upl quplignid b uljqpliwlliphg |a| hlnuwnpnipunip’
uljqplimlilipphg wy, kipk a -6 ppwlpb b U sw, kpk a -6 puguwuwlwb k:

©BJuyphl ninnh A Ytwhl hwiwwywumwufuwlng ¢ phyp Gppbdl wijuwlnd GG A

htwph §gnnpppliwyp: Ujn hul yquuwdwnny pywjhG ninhnlG wijwlnid GG Gub
gnnppplivupwhl ninhy:

o OJuyphl nigph pu a L b pyliphli hwdwwwpwupouting [hpkph hlinw-
ynpnipynibip |a - b| E:

* A\ B -ny GpwGwynud k6 wjG pytph puqinipmiGp, npnlp wuwwnliuwind G A -hG b sk
wuwwnluwimy B -hG:



OphGwl). «x-h htonwynpnipjniln [x=51 2

5-hg thnpp b tpyntuhg» wwydwlp dnnpnih L : :
Grwlny qpymd t Ix—=5I<2 wlhwjwuw- 3o > 7
ppjutp: Nwuwnp | x—51< 2 wihwjwuwp- lx=5I<2 =xe3,7)

dwl inionudp YhGh (3;7) dhowywypp (GY. 4): LY. 4

cd wulpugti| Gp puup

1.
2.

Unpunwhwjunyn®d E wpnnp judwjwljuw i hwnydwdh ipupmpini nwghnGuy pyny:
V2 -h opnhGwyny pwgwwnptip, pt hGywtiu GG qulnd hpwghnGw] pyh mwulnpnuyjwb
dnnwpymuiGhpn:

Pwuguwuwul hpww pytpt hGyybt®v GG hwdwywunwufuwlitgnmy pyuwihG ninnh
ytwmtph:

N0°n pytinG GG uqund hpwlw pytph puqunipnilp, bW h°6s vwunnyg GG GQwGuynid wyn
pwqinipynilp:

0°n pytipG GG wiJwlmy hpwghnGuy:

bGswhuh® mwulnppuw 6 YnnnpuyGtpny GG wpnwhw jjuymy hpwghnGuy pytpp:
hGswt®u & npnpynid pJwyhG ninnh pw a b b pytiphG hwiwwywwmwuhuwlnn Yhnbph
htinwynpnipjnilp:

£ Unwownpuiipibip

> 18.

19.

20.

21.

22.

23.

10

Uwwgnighy, np mpjwo pytint hpwghnbuwy Ga.

U.l)\/g, p)ﬁ, q)\/E/Z, I})\ﬁ—ll

GGt mpyuwo pytiph mwulGnppuul dsnnwpynuiGipp wujwunpnny bW hwytnpnny®
107 Gummipjudp.

w) 0,1386, p) 0,7821, q) 0,(125), n) 0,2(451):

GGt mpyuwo pytiph mwulGnppuul dnnwpynuiGipp wujwunpgny L hwytnpnny®
107 Gunipjudp.

w) 12/17, p) 21/32, q) 14/9, ) 31/18:

GGt mpyuwo pytiph mwulGnppuul dsnnwpynuiGipp wuywunpnny W hwytnpnny®
107 Gyunipjudp.

w) V7, m9, 009, ) 0.4

Qwpyty 48 qwyGmipyniG b 5 0 Epupnipyn G mGbagnn mnnuGyyuw 6 wiymbughop

w) Uk dbwnp Gpunnipjudp,

p) Uty nighvtiinp Gyunipjudp,

q) Ut uvwGmhdbunp Gyunipjudp:

Unnnith Gowlny gpbip yuwjdwGp, npny Gyupwagpynid 66 pywyhG ninnp wyG x yhntipp,



npnlg htinwynpmpjniGp’

w) 0 Ytanhg 4 dhunp, p) 1 Ytwnhg 3 dhuninp L,

q) —2 Ytwnhg 5 dhuninpt, 1) 0 Ytanhg unjtih pw 11 dhwnp t,
t) 13 Ytwnhg wytih pwG 7 Shwynp t:

24. (©JwjhGninnh oqlnipjup (niotip Guunpn wnwewnpuilGpniy unwgywd hwjwuwpnud-
Gtpp L wGhwjwuwpnuiGhpp:

25. ©uwjhlmnnh [a,b] hwnguoh tpyupmpmbp dhowgpty GG 5 wiqud «dghny» Gpw
w9 dwypwltinphg L wG)wnpd ywuwhtiny dwhup: Gnlt unmwgyuwo hwnjwon, tpt’
w)a=3,b=6, pa=-1,b=1, qQa=-8, b=—4:

26. ©OYwyhG ninnp [a,b] hwngwoh tpyupmipynilp inpugnpty GG 6 wiqud Gpw dwfu
owjnwybtunp «utinibnyy» nhiyh weon: bt unwgyuo hwnywonp, tipt”
w)a=2, b=20, pa=-10,b=2, q)a=-31,b=-T7:

>27. a-h n°p wpdtpltiph nhwypnd (a°—3a, 3a—2) Ghowwjpp YywpniGuwyp’
w) 0 Ytunp, ) 4 Yhwp, q) 10 Ytanp, 1) —2 Yhwp:

[ yplyinue i hunfuwp

28. Uwuwgnighy, np tpynt hwenpnujwa qniyq pytiphg styp pudwGymu t 4 -h:

29. Uwuwgmghy, np tptip hwenppuwl pGwlwé pytph gqmiwpp pwdwlynid & 3 -h, huly
wpununpwin’ 6 -h:

30. Uwwgnmgt], np judwjwiwl pwlwb 7 -h nhypnid (n3 —n)-[i wnwlg dGwgnpmh
pwdwlymdt 6 -h:

§3 r()‘llulllulﬁulllulﬁ (}np&nllnlplnlﬁﬁlip
hpwlwt pybpp hkwn

‘Lwhu nhunwpyblp gnuiwpdwb L puquuyuwnydwb gnponnmipniGGpp npuaju G hpw-
Jui pytph niypnd: Gpynt nppujub ¢ L b pytiph gnudwpp pywjhl ninnh ypw yquwwnlb-
nptnt hwiwn pywyhlnimnh Yypw a Gpliupnipjudp OA hwnywop mtnunptilp wjlwbu,
np Gpw dwfu owypwytinmp hwdipGyGh O 4 +b
ytwmhaG (GY. 5): UyGnthtml A Yhwnhg | ) \
wmtnunptiGp » tplupnipjudp AB 0 a A b B
hwunyjwon: Unwguo OB hwwmywoh
tpyupmpniGp YihGh a + b gnidwipn:
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a+b gmiwph dnnwpynuiGbpp quGhim hwdiwp Jupnn Gip dnunwplt gnudw-
ntihGphg jnipupwGynipn L yting Gl wyn dtnnwpynudGtph gnudwpn:

OphGwy' L4-plk 1,5-n J2 -h dnnwpynuiGhp GG 107 Gyunipjuip (hwiwwywnwu-
fuwGuwpwp wuwwunpnny b hwytnipgny), huy ,7-p b 1,8 p V3 -h dnunwpymiGhp GG
GniyG Gyunnpjudp: {tmlwpwp' L7+18=31 phyp L 1,5+1,8 =33 phyp YihGta
(\/5 + \/5)—11 dnunwplnuiGip 107 +107' =210 Gyunipjudp:

Qpuwlyuwl hpwlwb pytinh puqiuwyuwwmynuin dtliwpwltint hwdwp oquytlip
ninnuiGlyul dwlybtptuh qunuthwphg: Ghgnip whwp £ qunbhy 7 hpwlwl pytph
wnunuwnpjuin: Gpunptlp’

a, <r,<b Wa,<r,<b,,
npwnbn q,,a,,b,,b, € Q : LY. 6-nud Yunytpquo U,, U,, U nnulyynGGtpG mGLG
hwiwwwunwuhnbwlwpwn a; b a,, b, b by, 1, L r, Ynnitip:

Lwibdwwnting ninnuyniGGtph SwytptulGtpp, mtulnd GGp, np

a,a, < nKr, <bb,: 0

bhwnlt, nppwl g, -0 nu b, -p Wnn 1hGLG

b,
b

1 G, huy a,-Gm b,-p° r, -hG, wylpwl aa,-Gm %2 U Y
I

b,b, -p ph Yuwppbip G 77, -hg:

Spywo hpwyuwd pytiph wpmwnpyuip Ybp-
ownn nwulnprpujwl Ynnnpwly Gtpny dnnwn- >
ap n by

LY. 6

Ytnt hwdiwp whwnp £ wpumwunphsGipp dnnwnty by
nwulnppuyub ynunnpuwlyGtpny L ngpulg wpnw-
nnjuin hwdwnt] mpjwo pytinh wpmwnpyuih dnnwnpyned:

bpwljwl pytinh hwiwp gnidwpiwl L puqiuyuwnmyiwb gnponnnmpniGGGpG niGhG
nwghnlw] pytiph gniwpiw6 L puqiuuyuunliuwl dbhq owinp hwnympmGatpn:
Ujuhlpl” dhpw GG himlywy optilipGtipn:

== Da+b=b+a gnidwpdwl phyushnpuwljwb opklip

2) (@+b)+c=a+(b+c) qnubwpdwb gqnignppuljub opklip

3ab=ba wpipmnpyugh phpuinpunlub opklip

4) (@a-b)c=a-(b-c) wpypnpjuwih quignppulwb  opkbp

5 a-(b+c)=a-b+a-¢c  puwppuwmljumbi opklip

6) 0-a=0 gpnyny pwqlwwuaplkini hwplnipynil

7 0+a=a gpn qnidwpkini opklip

8 1l.a=a dklnyd puwgiwwuwplkini opklip /

bpuwlwl pytiph mwpptpnipjuwl nt pwlnpnh mwulnppnujul dnnwpynidGhpp
quGynud kG GiwG dLutipny:
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buwlwny hpwywl pytiph puqiuyunyniin’ vwhdiwltip hpwlwb pyh wdpnne
gnighyny wumhdwn.

a"=a-a---a
- —
m waquid

, a‘mzim , nptn ae R\{0}, me N,
a

0" =0, ¢" =1, npmtin ac R\{0}, me N:

0-p 0 wwppdwbip b puwgwuwmljub wuphdwbp skl vwhdwblynid:
Oquytyny 3-pn L 4-pny optilipGtiphg” ndywn st hwingyby, np wyu duny vwhdwlGjuo
wipnn9 gnighyny wunhdw (6 niGh hbnbyw) hwnynipymGGpp

‘ " m _n m+n

a
a” -b" =(a-b)", .=

nputn a,be R/{0}, mneZ:
‘Ltilip wipnng gnighsyny wumhdwlh Lu Gpynt hwwnynipjniG:

bpha>1 Lm>n, wyw a™ >a” :
bph 0<a<l Lm>n, wyw a™ <a" :
Uwulwynpuytiu, utihg vto pyh npujul wunmhdwlp dto t dtiyhg, huy puguuwyu i

wuwmhdwln thnpp, dtlhg thnpp npujul pyh npujul wunhdwlp tinpp £ dtyhg, huy
pugwuwuwl wunhdwbp dto:

cd Cwuljuighi| Gp nuwup

hGswt®u GG qunGnd npuiju G hpuww pytph gnidwpp dnnwpymdGhpp:

bGswt®u GG qubnid npujul hpuwywG pytiph wpmwnpyuih sSnnwpynudGhpn:

h°G; optipGtiph b6 GGpwplynid hpuwlwG pytiph gnidwpmiG nt pugqiwwuwmynuip:
hGywb®u E uwhdwGynmd ppuwlw6 pyh wdpnng wunhdwln:

A e

h°Gs hwnynipjmGGtp niGh hpuwyw pyh wdipnne wunmhdwp:

£ Unwownpuiipiitip
31. Qi npJuwo gmiwph nwulnpuju i dnunwpnud Gipp wuuunpnny Whwgbpoupnng

2-107% Gumnmpjutp.

wV2+v3, ) VT+401, O V175+42. ) JL1+409:

32. Qulb npjwd wpnwhwjmnipjul nwulinpnuiul sninwpynudGepp yuwwunpnny b
hwytnpnny 10726 yunnipjudp, Gwfuwwtiv hw)yting wpumwhwjnnipjwl punwyniuhG.

w V24405, p 324423, 9 V27443, ) V12 +./1/3
33. Uwuwgnighy, np hpwghnGuwy pyp hwlwnhpp bW hwjwnupdp ppughnGuy pytp ba:
34. NwghnGw’, pt° hnwghnGw) phy k& nwghnGuwy pytpp’
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w) gmudwipp, ) mwpptpnipyniGp, q) wpmwnpjuip, 1) pwlnpnp:
»35. Qupn®n L wpnynp nwghnGuwy phy (hGh] hnwghnGuy pyp’
w) YpyGwuunnplyp, p) timwwuwnhyp,
q) pwnwyniupG, 1) fjunpwGupnn:
£tipt hwiwywwnmwufuwl ophGuyGhn:
36. Quwih a L b pytiph GpuwGGhpp, tipt.

a+b>0 a+b<0
{ab>0 ’ p){ab>0 '
»37. Uwugnigtp yuwpwgqpupbh yipgnid pipyuwd wunhdwlh hwwnynipjmGGhpp:
38. Qwitdwwby htinlywy pytipp. .

w (2L (2), e g %j Ll

2\ 2 Vi5Y (V15 3Y |
w3 Wl | L =l ul:
1) 3 3] i 4 |0 9 n
39. Qb wpmwhwjmmpjub wpdtpp.
(“0’1)

3 3 (\/B)S 4I5SV (4 )
w) Jﬁ(m)z p)—\/ﬁ ; Q) (~/§) -(\/§f, 1) (\/a)i :

»40. Qulty [\/E , \/g ] dhowlwjphl wyuwwnwnn 13 hwiwphsny YnnnpwlGtpn:

»>41. Qulby [\/ﬁ, Jo1 ] dhowwphl yuwwnlwlnn 15 hwjmwpwpny ynunnpuyGbph puGu-
up:
[ yplinue pui hunfwp
»42. Pawywiphyp 6 -h pwdwbbihu unwgymit 5 WGwgnpn: h°Gs WGugnpn Yunwgyh, ipt
wyn phyp pudwblp’ w) 2-h,p) 3-h,q) 12 -h:
»43. 6pym pGuwlwb pytphg dtyp 7-h pwdwlbjhu vnwgymd £ 5 dGwgnpn, Gpypnpnp

4 Gwgnpn: h°6y WGwgnpn Junwgyh, tpt 7 -h pwdwGhlp Gpulg w) gniiwpp,
P) wpuwnpup:

§Zl bllllllllllﬁ pl“l n-pip wumhdwlh wpdwmp

Q-hntlip, np qunjhg mwppbp juiwjwlwl ¢ hpwiwl pyh pwnwlniuhl gpuyub
phy b, L (- a)2 =a”: Upwlhg htinlnud E, np nplt pugwuwluG phy hpufuiG pyh
pwnwlniuh sk:

OphGwlyGtpny hwinqytlp, np jnipupw(synip npuju G pyh hwdwn jw sh npuju
phy, nph pwnwyniuhG mpgwo phyG E: Spdwo a ngpujul pyh hwdwnp Ja -ny GpuGwynid
GG wyl npuuG phyp, nph pwunwynmuhl a k:
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OphGuwl 1. QnGhap \/TZ -, wyuhGpG’ wyG nnuywG phyp, nph punwyniuhG NORS

Lwyh wnlhny, np (\/5 )2 =2, whwp L qumbkbp dh npwlwb phy, npp snppnpn
wuwmhdwln 2 b hbhwpyt, shGp Jupnn qubhy \/72 -h pninp muwubnppuijwG Ghpbpn:
Guntlp \/TZ -h mwulnpnwlwl dnnwpynuiGipp yuwlwunpgny W hwytnipnny 107
Goumipjwip: Lwlh np

(1L1)* =1,4641<2<2,0736 = (1,2)*,
nipbidG \/TZ -h mwuGnpuwlwé SnnwpynusGhpp wwwunpgny b hwybmpgnyg’ 107
Gounipjudp L1-p b 1,2 -G 6G: [1,1;1,2] hwwnwop puwdwGbng wwup hwjwuwp Swuh b
Juunwpbng wihpuwdtym hwyupyibpp” junwlwip®

(L1 8)4 =1,93877776 < 2 < 2,00533921 = (1,19)4 :
Ltwmlwpwn’ \/TZ -h nwuGnprulw snnwpymsp’ 107 §pumnpjudp wwljwunpnnyg
1,18 t, huy hwytmpnny® 1,19
UyGhwyn t,nptpp a 20, a -G L ¢’ -6 mGkG Gny6 Gpubp: Gudwjwlwi ¢ hpulwl
pyh hwdwp gnjnipniG niGh vh hpuywG phy, npp funpwGupnp a -G t: Uyn phyp GuGuynd
6 Va -ny:
OphGuwl 2. QunGkiGp VA -h wmwuGnpuul SnnwpynudGhpp’ 107 Gunipyunip
wwywunpnny b hwytinpyny, tpt A =0,5050050005...:
[0;1] hwwnJwop pwdwlbny wwup hwjwuwp Jwuh b juwwpbng hwiw-
wuwnwufuwl hwywpyGhpp’ Yunwwp® (0,7)° =0,343< A< 0,512 =(0,8)":
Ltnbwpwn® wnwohl Unnwnpliwl hwdwp YmGEGuGp’
0,7<¥A<08:
Gplpnpn pugnd funwwtp’ (0,79)° =0,493039 < A< 0,512 = (0,8)’ : Muwnp
0,79<¥A<08:
Ujuhlpl VA -h wwuGnppuiwl Ynnwpynuip’ 1072 Gyunipjuip ywlwunpnny
0,79 -G t, huly hwytympyny* 0,8 -n:

N
N

Inijq n-p nhypnid ny puwgwuwljub a pyh n-pp wuphdwbh wpduwp
gnsynid F wyli ng pwgwuwljmb ppuwljmb phip, nph n-pp wuphdwlbp a L
Uklipn n-p nbiypnid hppwlpmb a pyp n-pp wuph@wblp wpdwp Gnsynid b uyl
frnwlwb phyp, npph n-py wwphdwbnp a

a pyh n-pnp wuphdwbh wpduopp Gwlwlnod LG a -ny:

Q-dun st huingyt, np judwyjuywG a,b >0, m,ke N pytiph hwdwp’
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e "o ="a* . a-b="la -

Ophiwl 3. YUnnnpuuyhG wpunwhwjmmpjul hwjowpuph hpwghnGunipniGhg
wquuytnt hwiwp Gpuw hwdwnphy G nt hwynmwpwpp puqiwwyuwnynid GG hwymwpwph
1onpnny, wjGuyhuh wpmwhwjnnipjudp, np hwjnwpwpmd wpdwnwlywi shw.

2 _ 23 23
B BB 3
I Si-Jy Jx-y

P =

Ty W R D)
1 Va2 ~Yab +3p* _3a2—%+§/b_2
Y Va+ i (%+%X§/a_2—3ab+3b2j a+b
‘Lotilip 7 -pn wumhdwlh wpdwwmh Lo Gpynt hwnymp i G:
e bpha>1 L m>n, wyw "a <%a :
Epi 0<a<1 L m>n, wmww %o >%a :
Uwulwynpuybiu, dkihg dto pyh 7 -pnp wunhdwGh wpdwwun thnpn L wyn pyhg, huy
dtihg thnpp npuywé pyh # -pn wunmhdwbh wpdwwnp uko L wyn pyhg:

cd wulpugti| Gp puup

1. 0" ppwyuwG a -tiph hwdwp gnympjmG mGh Ja -6 (hGsn™1):

2. bhGyyt®u G quinid npujuG pyp pwnwlniuh wpdwnmhp dnnuwynp wpdbpGtipp:
N°p a -tph hwdwp gnynipyniG mGh % -G:

4. P°Gs E GpulGuynud % -G, tpti m-pqnuyqt, hull a -G ny pwgwuwyw:

5. P°Gs t GQuGuymd Ya -G, tpti n-pYtlwn t, huy a -G hpwywda:

A Unwownpuiipibip

44. Qb wpnwhwjnnipjul nwulnppujul tnnwpyniiGhpp wuwljwunpgny b
hwtnipgny’ 1072 6)wmnipjwdp.

w) V44 | VY8 VI, ) 70,4567 -

45. Qb wpnwhwjnnipjul nwulnppujul tnnwpyniiGhpp wuwlwunpgny b

hwtnipyny” 10~ Gyunipjudp.

w) V1025 , p) V219, q) ¥-65, n) V=124 :
16



46. <wibkiwwnbypybpp.

wiBuv2, p¥a i, OV32 L5, it uis
wVv5us5, @¥07 107, bJLlulLl, m Y01 L 01:

Qan Gt wpumwhwymnipjwl wpdtipp (47-48).

47. w)«/§~«/§, p)\/ﬁ-\/5_4, q)\/g'i/g~f\’/§, q)%'i/Z'g/a:

w 18, p Y162 g Y0.6) g YOI
V2 J18 V27 V32
Uquuyty hwjmwpwph hpwghnGuinip jniGhg (49-5 0)
13 —p? @
v ‘“)f5+1 Y oss ) J_+J‘ Ry
»50. w) , ) Q) :
i/g +1 i/_ J_ Yp? - {/E +¥a?

51. Uuuwgmgty, np
w)%zﬁ, p)%zg/z, Q)W=§/y, q)lyﬁ:%/bj:

[Z ypljimne i hunfwp
»52. Snmiygwwiy,np 7+ 1 hwwn pGulwb pytph sk Junbih k quGby’
w) tipyniup, npnGp 7 -h pwdwbtjhu unwgymu £ GniyG dGugnpnp,

p) tpyniup, npnGg mwppbpnip nilp pudwlymd £ 7 -h:
»53. w) budwywlywd 7 pGulywl pyh hwdwp nhnwpybip
1, 11; 111 ... 111...1
—_—

n+1 hun
pytinh hwonpnuywlnipynilp: Uyuwgnmgbp, np wyn pytinh dte ub tpyniup, npnlp 7 -h
pwdwlbjhu unmwgymd £ GnyyG WGugnpnp,
) Uwugnighip, np judwyjwwi pGuywa 7 -h hwdwp gnynipyniG niGh ShwyG 1 -tpng m
0 -Gtipny gpjnn phy, npp pwdwGymd & 7 -h:

§5 bpuljub pih nughnbu] gmghyn] wumhdwbp

Ujdd, hdwluwyny hpwljwb pyh wipnn9 wumhdwlp W hpwwd pyh 7 -pnpwumhdwlh
wpdwunp, vwhiwlbip ny puguuwywl pyh nwghnlw wunmhdwln:

raa npwljwb piyh mug]mﬁuq wuphdwlip vwhdwliynod E hliypliywy pulivigling.
n=%qm npiphin ne N, me Z.:
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Or

0 -h nwghnlw] wumhdwln vwhdwlGjwo £ dhw)G npwywb gnighgh nhwypnid
=0, r>0:
Nrwghnlw) gnighyny wumhdwG6 odnywo L htnlyw hwuninipyniGGepny:

o Gwdwywljmb a, b ppulpub b p, 9 nughnliwg pykph hwidwp

aY a’
(@-b)’ =a’-b”, (3) =5
p
a’-a?=a"", Z_q=ap_q, (1
_ 1
(a”)q=a’"’, a p=a—p: J/

OphGuwly’ vnmqtGp, nptipt a>0 L n,ge N, m,pe Z , wyu

bpnp,

cd Swuljughi] Gip puup

1.

2
3.
4

m P 2.2
a -a?=qaq" 1
m 4
a7~aq:4/a_m-2/a_p:n\q/a7‘1-n3/a7p:
mgq+np m.p
:ng/amq'a"p :ng/amq”p =qg "M =q" ?:

‘Luwl duny wywugnigymu kG dGugwo hwnynmpjniGGLpn:
‘L2tilip nwghnlwy gnighyny wumhdwlh Lu Gpynt juplnp hwnynep jniG:

2= bpha>1 UL p>q, wywm a” >a’: @
Gpi 0<a<1 L p>q, wmyw a®” <a’:

bGswt®u £ uwhdwGymy ¢ npujwi pyh nwghnGuw) wuwmhdwGp:

. N°p nhypnid £ uwhdwGymyd O -h nwghnGuw] wunhdwlp b hGsh® w6 hwjuuwp:

Qptip a npuul pyh nwghnGw) wunhswGh (1) hwnynipjmGGtpn:

. Qntip (2) hwnympmGGtpn:

A Unwownpuiipibp
54.

Uity qnponnnipmGkpp.

w) 1V 0 na gl @ ()"

n ()P, W (@) e, O 27,
D @) @) @), p) (W —vP):
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»55. Mupqbglt] wpnwhwjmnipniGp L hwpyby Gpu wpdbpp.

W
| —

1 5 1

m* +m?n? m® +mn*
w) 3 1 3 ,tpim=9, n=16, p) 2 5 ,tpim=3, n=2:
m*n* +nt nm? +n*

Q) I T 1 3 ~\/5,hph a=0)5:
3a 2+2a * a?+3a?
56. Uwywgnigti (1) wnGsmpniGGhpn:

»57. Qhgnip a>b>0, pe Q: Uyugmghy, np’
w)btpti p>0,wyu a” >b",
ptpt p<0,wuyu a” <b?,
Q)tipt p=0,wyu a” =b":

58. Qwitiwwby 1 pyhhtin.

31 1,13 27 0,14 - —0,037
il 0,0001 “ had
w) [30] , p) (1,0001) ;o 9) (26] , r})[3) ,

0
. 99 1
v (o3, o {o99)”, b (E) n) 0%
59. EYtpp nuuwynpl] wddw G upgny.

ul) 71,49, 7],5’ 71,493’ p) (1,2)6,538, (1,2)6,5’ (1,2)6,539’

@ (5277 65277, 6277w (08, 08, (0.8)*":

[Z yplimne i hunfwp

»60. Sniygwuwy,np’
w) 3 -h spwdwynn pGwlwl pyh pwnwyniupl 3 -h pudwbihu unwgymi k1 dGugnpn:
p) G pyh pwnwyniuhG 8 -h pwdwGbjhu unwgynud b 1 SGwugnpn:

§6. Ppuljub pydp pnwghnbuy gnighyny] wumpiwbp

‘Lwhunpn ywpuwgpuwbnid vwhdwlbghlp npulub pyh nwghnlwy gnighsny
wuwmhdwln: Npwtiugh ngpuuw6 pyh judwjwlwl hpwlwb gnighyny wunmpdwlp 1hGh
npn2yuw o, dnwd £ uwhdw Gtbp npuu b pyh hpwghnGuw) gnighgny wuwmpdwbn: 26 npni,
uwhiw(tlp wylutu, np Guwiunpny yupwgpuph (1) U (2) hwnympniGGipp yuwhwwGyta
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Gwl yuiwjwywl p L ¢ hpuyw6 pytiph hwdwp: OphGwy wntulklp, pt hGywbu L
npnzynud 372 phyp:

bGsytu qhwntGp, J2 -6 hnwghnGwy phy E, npp Gepyuwjywugynid £ wlyting wmwulnp-
nuluw6 ynnnpulh wmbupny’ J2 = 1,414213...:

Zwoyhsh oqlnipjudp quGhny, np 3" =4,655..., 3" =4.706..., 3" =4,727...,
344142 = 4 728..., Ywpnn LGp blpwnpby, np 3V2 -p inunwynpuwbiu 4,72 b: CwpniGulb-
ny wju hwpgwnlGtpn Jupnn tlp qultg 3“/E -h mwulnpnujub Giplujwgdwl htp-
pwiju Ghtipp:

‘Liwb duny Yupnn blp npnp b judwyuyub ¢ npujul pyh x hpwghnGuy gnighyny
wumhdwlp a” n:

Gph a>1 L x<0,wyw —x>0,numph a* -pJupnn Gap npnpty a* =

uwpnipynilhg:

0<a<1 nhypmu l > 1, L jnipupwlsjnip ppuyul x -h hwdwp @¢® -p Jupnn bGp
npnp b a*= (; j hwjwuwnpnipniGhg:

a=1 nhypmd 1" =1 Juwdwjwljwb ppuwljpub x -h hwdwp:

a=0 nhypmy’ 0" =0 Judwjwlwmb gpuljub x -h hwidwp:

Ujuyhuny® a” wunp§wlp ngpujul ¢ hpdph nhiypnid npnpgwd E pnpnp hpuyw
x-tph hwdwp: 6y npoud, yuiwjwwi o, b gpuyui b x, ¥y hpuwd pytph hwdwp’

X

a -
S ata’=a"", 2) S =a"",
a

aY a*
Y @)=a"s 4 @by =ap, 9 (Z) G

6) kpa>1 L x>y, wywa*>a’,
Nhph 0<a<l b x>y, wmyw a* <a’:

Lotilip (Gl wumh@wlh htnlyw) hwnynipyniln, npG wGdh9uuytiv htimlnd £ 3-pn
hwinynipjniGhg. ( )y = (a’ ) :

o 1. (5] | =) <) b

_J7 -J17 s
Ophliwy 2. Punpuunttp (5) L (0, 36) pytipp: MiGhGp [3 j =0,6)" u

036)7 = (0,67 : wGh np 0,6<1 L 17 >4>23/7 , mptil wnwehG phyp thnpp &
tpypnpnhg (hwdwdw)G 7-pn hwnympjui):
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1 3x+2

Oph(Guwy 3. wpunwhwjnmpymGp Gepluywugliblp c-a* wmbupny.

212x+1

143X+2_143X~142_ E X §_§ & X
212 21201 | 212 3 319 )

cd Swulpugti| Gp puup

1. 0°n p-tphhwdwp b npnpqwo a” phyp, bpt’
w)a<0, p) a=0, q) a>0:
2 hGswt®u & npnpynud dkhhg Wko pyh hnwghnGw) gnighsny wumh§wp:
3 hGswt®u & npnpynid dhyhg thnpp npuwuG pyh hpwghnGuy gmghyny wunhdwn:
4. BGsh°Ehwjuuwp 1-h judwjulub gnighsnd wunhdwGp:
5 0°p a-tph b x-tph hwiwpt 6hpwn ¢* > 1 wihwjuwuwpnipjnilp:
6 N°n a -tiph b x -tph hwiwp £ 6hpwm ¢* < 1 wGhujuwuwpnipjniGp:

A Unwouwnpuipiitip
61. Qult] wpunwhwjnnipjul wpdbpp.

w 67)° m[@iyzfi
» ((@ﬁf . ((ﬁmﬁ, o

62. Mupqbglb) wpmwhwjnnipniGp.

\/E 5 S 4
w) x‘/§+1 (l) , ) (x‘/gy Q) x‘/3 :4\/x4‘/3 ,

—2

>

e
—_—

(98]

51 o
—Z

N

X

) 2 A b) (x—i/z )—3/E ’ 0 (%)277 '6/x12 e

63. Pwnnquuby pytipp
¥5 1 E 78 )77 L1
w 3 L 9 > - - o s
) p (3j > q
_ _ "9
m (052 ul, B (02) " us. ®GjhE:
»64. Qb wjGyhuh 7 wipnng phy, npp puywpwpnid £ updud wlhwjwuwpnipjni (G-
nha’ )
w) 37 <397 <31, » (1,8)" < (1.8)"7 <(.8)"".
n '\/E n—1 .
a) (%j <(%) <(%) : m (0,6) < (0,67 <(0,6)":
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Upunwhwjnnipjnilp Ghipljuyuglby ¢ - a™ wmbupny (65-66).

65. w) 9™, p) (0,5)°, @) (0,17, ) 7273
3x-1 x+2 4x+1 3x—1
66 w) & e gL p 4
9 107" 21 35
[ yplimue i hunfwp
»67. UtnulhG npjwo SwwmhwnGbpp, npnGg phyp thnpp tp 60 -hg, nuuwynptighG winuhtiph
Ut9: Bnipwpwlsmp unihmy 10 dwwnpwn nGem nhiypmy wybjuguwy 4 dwwhw, hul
12 Swnhwn nGpn nphypmy” 6 dwnpwn: Lwlh” Swmhn Yup ubnuGhG:
»68. Upynmu tinuo fuGadnpGhph phyp dto k. 200 -hg Lthnpp 300 -hg: Uyn fuGénpGhpp ninwg-
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pulGtpnid 10 -ww jud 12 -wlw6 nGhm ghypnid yipghlG mnypuynid yujwunid
L 2 fuGdnp: Lwlh® fuGanp Ju wplynnud:



2

bnwalpynuinugwhnipywion muppbpp

§1 (rwnpwb: Fpuljub b puguuuljub yyunyymbGhp

Gpypwswihnipjul quuplipughg dwlnp tp wiljwl wunhdwlwihl swiphG. 1°
dhonipjwip walyniGp hodwd wilywb 1/180 Wwul k: Ujdd dwlnpwlwlp whljniGGhph
swihdw( Gnp shwynph:

Qhunwnpytlp R pwnwynny ypowlwqoh AOB YhGumpnGww wlyjnilp, npp htGiw6
wnbinp Gpyupnipyniln GnyyGytu R b Uyu wllywl dkompnilp swhdiwl Gnp shwynpl
L, npl wiywlnd 66 rmghwb (GY. 7, w):

TR
B
R R R
/2 C A
T nunhwi/ O R
) L. 7 P)

"2 ULl nwnhwb dkonipyudp whljynil6 wyb Ghlppnbwlwb whlynilb E nph
hblidwl wnbknh Gpljupnipynilin hwijwuwp b jpowlivngoh rwnwiyht:

Nwnhw6p Ypdwwm qpynid £ pwr: Gph Ukl nwunhw dkonpyudp AOB wGlyjnilp
dtowgltilp © wlquwy, Gpw htGiwl wnbnp Lo Yutowlw © wiqud L junwgyh =«
nwnhw( vkonipjuip AOC YulGunpnGuywl wilyniGp, nph hiGdwb wntinh Gpuwpnipjnilp
hwywuwn £ fhuwppowlwqoh tpupnipjulp’ ©R (GY. 7, p): Lbmbwpwp’

T nwn=180°:

Upw(hg unwgynid GG nwnhw Gl wunhdwlnyg L wunmhdwlp nwnhwing wpunwhw)-

wmbiint pwGwalbtinp’

- 1nmq=&z57° 1 =lnu.u}z 0,0175 nwi:
n ’ 180
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<Lbpwmnipjwip Jupnn Gp unnighiy, np
T o
Onwn=0°", g nun=230°", Z nun=45", = HUJI} 60°, 5 nun=90",
3n
2—; nwn=120" 7 nun=135", 2w nun=360°:

GpypwswihnipyniGnid phunwpyynd 66 0°-hg shask 180° (0 nwnhwlhg ShGsl w©
nwnhw() dtonpjul whlyniGatip: Uydd uvwhiwlblip yunndiwl wiljul qunuthwnpp b
wmtuGtilp, np wuundwl wllyyjwl dtonpniGp Jupny L wpnwhwjnyty juiwjuywb
hpwlwG pyny:

“Shwnwpytlp OB, L OB, dwnwqujpltpp, npnlip OA Gwnwqujph htim Juqind G
(nyyGupup’ 30° dhonpyuwl walynG (GY. 8): Gpt OA Gwnwqujpp wyuuntlip O Ytwmh
2mpop 307 wlyymilny, wyG YhwiplyGh OB, Ywd OB, B,
Swnwqupltiphg dtyhG’ juhjwo w6 pwbhg, pb np
ninnnipjwip tilip juumwpb] yunywmp: Mungwuh w6 nm-
nnipjnilp, nph htimlwGpny OA GwnwquijpG plnniGnud 30°

L OB, nhppp, wijuwltGp npuywd nipnmpjmd, huy O 7
-30°

wwunijnh hwwnwy ninnnipjnilp” puguwuwui:

Uju nhiypmid wumd GG, np OA Gwnwquypp 30°
wunijnhg htnn qpuynd &t OB, nhppp, hull —30°
wwnnijnhg htimn® OB, nhppp: UjuhlpG” wnwohb nbuy-
pnud wundw b walynilp 30° &, huy tpypnpn nhiwypnid’ LY. 8
-30":

B,

NA

rS ‘Mpniyph wyl nigpnipjnilip, npp hwidplijlinid b dwidwgnijgh ujwplib-
ph owpddwli nigpnipjwb hliyp, wlhjwblnid ki puguwuwlwl ningnipynil, huly
hwlpwnwly miggnipynilip ppwludb:

LY. 9-nud ptipdwo GG yunumiw( whlyniGGph ophGuyGtip:

35° : E

-270°

Qwiwfu «yumuniwl waynily pwnwjuywlygnipjul thnfuwptl oquugnponid Ll
«wlnily» punp: <wuwlwih t, np wl nhyptpnd, Gpp funupp puguuwul «wiy-
Jwl» juwd © nwnhwlhg Who «wlljjuwl» dwuh E, hwulwlnd G6 thw)l wuundwl wi-
ymG:

SYhunwpyblp ZAOB =n/4 whlymGp (GY. 10, w): wuywlwih t, np yuwi wi-
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Ol Sl

il z =—+2n =——2n
I I

w) LY. 10 D)
ytine pyny o wilynGGtp, npnlGgny OA Gwnwqujpp O Ytwnh pnipop wumwnbiny,
Jumwlwlp dhulniyG® OB nhppp: OphGwy’ (ngnun}, a=(§+2n]nwr},

Oc:(g—ZRJnun} (GY. 10, p): Uynuhuh pninp o -Gupp quaGhine hwdwp pwyjw-
Ywi t qunGh) GpwGghg dtyp, ophGwy’ /4 -p, L YtipghGhu gnidwpty wipnng
pUny 27 -tip, wjuhlpG’ oc=§+2nk nwrn, npnbn ke Z:

cd Swulpugti| Gp puup

1. b°Gs £ty nwnhwlp L pwGh® wumhdw Ew)G:

2 Uunh@wG6 hGsuyt®u L upnwhwjmynid nwnhwlng:

3 Lwlh® nunhw k" w) ninhn wyyniGp, p)thndwo whlyymbp, q) Wty jphy yunyun:
4. Muudwn’pninnnipyniG6 GG wijwind npuub L npp puguwuww:

5 bGsyhup”® pytipny GG wpmwhw juynd yunndw 6 wiynGahpn:

6.  h°Gs tilip hwuljwlnd « 390° whynily, « — 7T nwnhwl wlnGy» wubny:

A Unwouwnpuipiitip
69. Lwip®nunhwlt’

w) 90° -, p) 60° -p, q) 300° p,
) 10° -, t) 45° -, Q 72° -,
£) 216° -, n—720° 1, p) 1200°
70. Lwlph” wunhdw(rt’
w) 2@ nwn-p;  p) — T nwn-p; q) /5 nwn-p; 1) 3n/5 nwn-p;

—-7n/12 nwny-p; @) — /36 nwn-p;  b) 1257 nwn-p; ) — 6,257 nwgp:
71. NwnhwGGipny wpmwhwjnb’
w) hwjwuwpwupnt G ninnuiGlyyniG tnw Gyl walyniGatpn,
p) hujuwuwpuynnd tnwGljw 6 walyniGatpp,
q) ninnulyyniG towGljwl wGymGatpp, nph ketiphg vtyh GpuwpnipyniGp hwjwuwn
E GuppGwdhgh tpywnpnipjw YhuhG:

72. o wilym®G6t uko, pt° B whlyymGp, tpk
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>173.

>74.

>75.

76.

77.

78.

79.

w) o= 7/2nuwn, =85, p) a=m/5nuy, B=40°,

q) o.=7/10 nwy, B=17°, 1) o.=27/3 nwy, B=130":

OA Gunwqujpp, o wllyyniGny yunwdbny, hwjymGymd £ OB nhppnid: LwGh”®
wumhdwlt AQB walynilp, tpt’

w) o=250°, p) oe=18,2m nwn, q) o0 =—-0,77 nwn,

n) o=-410°, k) oo =-900°, q) o.=121mnwn:

OA Suwnwqujpp, o wilynilGny yuwnybny, hwjymGynd £t OB nhppnid: @it OB
nmnnh Juqiwd whlymGGtpp (nwunhwGGtpny) YynnpphGuwwmwhG ninpnGeph htw, tpt”

w) o =200°, p) o =0,7mTnwn, q) o0 =—8,2wnun,
1) o.=-700°, b) o=-520°, q) o0 =15241 nu:
OA Swnwqujpp, o wilnilny yuwnybny, hwjymbGynd £ OB nhppnid: GnGh w6

wikGwihnpp npujwl wayyniGp, npny yuwnbihu OA -G JhwjnGyh GnyG OB nhppntd,
tipt”

w) oe=730°, p) o0=19,5Tnuy, q) o.=—17,25m nwn,
) o=-550°, t) oo=-10°, q) o.=12211 nu;
Uwuwgnighi, np R Jwnwynny’

w) ppowlwqoh o nwnhwG wntnh ipupnipyniGp’ /= oR,

OR
) 2powlh O nwnhwl whlniGny ubjwnph Jwiybptup” S =

O ytGupnGng b R pwnwynny powlwqdh AOB JulGwpnGwlywl wilyjul dhont-
pniGl wpmwhwjnb] nwnhw(lbpny, tph Gpuw htGiwli AB wnbtnh tpupnipjniGp
hwywuwnp t* 5

w) R, p) 2R, q)gR, r})?TCR:

Uikl wmwph dwpn wdudw ybpohlG wpwp’ niyyju Yhpwyh qhotinduw dwip 2-ha
{wjwunwbh <wlpwybnnipniind wiglnid GG wiwnwjhl dwiwlwlh: Uyjuhlpa wyn
wwhhG dwdwgniygh upupGhpp vhY dwd wnwy LG nwihu: Uyn pipugpnid h°Gs wunnijun
0 Juuwpnd dwd L pnwb gnyyg wynn ujupltpp: Mwunwupw il wpnwhw jjunty
nwnhwGGbpny L wunmphdwGGEpny:

Udtl mwph hnyunbdptp wdujw ytpohl pwpwp’ niyyu Yhpwyh qghptinguw dwdp 3-ha
{wjwunwlh <wipwybunnipniinid wglnd GG ddtnwjhG dwdwGwyh: Uyuhlpl® wyn
wuwhhG dwdwgniygh upuplbpp vy dwd bu GG mwhu: Uy ppugpmd h°Gs wuniyn GG
Juwwwpnid dwd L pnwt gniyg wynn vjwplbpp: Mwunwuppw il wpnwhwjnt)
nwnhwGGbpny L wunmhdwGGEpny:

> 80.
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Ypliincpywii hundwp

Qb a, pjupwlwluwl wypngptuhwjh wikGuwthnpp npuijul winuaip, Gk’
w)a, =-7uLd=15, p) a, =15n L a, =11mn;



»>81. Qult| a, pywpwlwlwl wpngpiuhwjh wikGuwiko puguuwlwl winwdp, tpb’
w) g =21ud=-22, p) a, =-8m L a,; =5m:

§2 Q‘llllll]lﬁ wipgnuikGmh
EnwGljynibwyupuljub $obljghubhpp

A
UnnpnhGwwwjhG hwppnipjul ypw nhnwn-

ytiGp 1 pwnwynny b (0;0) YtGupnGny ppow- y B(x.y)
Gwqhop (GYy. 11), npG wjunithtnb JuGJwGhip
dpuwnp oppwblimqho:

Uhwynp 2pgw@wqdh OA wnwyhnp, npntin
A-G (1;0) yowG t, ywGJwGblp whqplmlmb
2unu .

Glhpunptlp® OB wnwyhnl OA uyqpGulwui
2wnwynh htimm Juqinmd £ o unp wilynl: Uyn iy, 11
ntypnd B Ytwh wpughup' x-p, hwjwuwn t
OBD ninnuGlyniG towGlyywG OD teoh tipjupnipjwlp, huy opnhGwwmp’ y -p, BD toh
tnyunpnipyniGa t: hGywtu ghwmbp Gpypwswthnipjwl nuuplpwghg,

\4

inq=BD_Y_ _OD _x_
sma—OB—l—y, coso OB _1-%
_BD_y ctga=92 %

tg(x—OD r g BD "

‘Ldwl duny vwhiwlynd 6 judwjwlywl o wllyjwG uhGniup, Ynuplniup,
nwlqblup L YnnwbqbGun:

"2 ‘thgnip OA ulqplimljmb pwnwyphnl O Jhpp rnipop & wlilyniling
wypnijyh hkplowblipny quufnid £ OB nhppp.

sina fnsynid I B Ghiph opnphlivupp,

cose lnsnid £ B flaph wpughup,

tgo gnsynid b B [laph opnphlivph hwpwphpnipynilili wpughupb,

ctgo gnsynid ' B [kph wpughuh hwpwpbpnipynilili opphliwphbic

Uyuwhuny® tpt B Ytwh YnnpphGuwwnbbnt 66 (x; y) wuw

<:‘: sino=y, coso=x, tga:l, ctga:f: )
d y
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UhGnuup, YynuhGniup, mwGqbGup L YnnwGqbGup Ynsgynd GG rwblyniiwswhwljub
Pnilijghwibibp:

Lwbh np dhwynp powlwgdh Juiwjuwb B(x;y) Yuwmh hwiwp —1<x<1 U
—1< y <1, upGnwuh L YnuhGniuh vwhdwGniihg wGih9wutiu hmbnd b, np judwjulwl
O -h hwdwp

<:': —1<sino <1, —1<cosa<1: >

Ophluwly 1: o =0" niypmd OB -G hwipGyGnd & OA -hG, L B YtwmG niGEGmy L
x=1, y=0 ynnpphGuwnbtpp: {<tmbwpwp’

sin0° =0, cos0’ =1, tg0" =0, ctg0’-p npnpqwd gk:
MuwjdwGwynpytlp, np wjunthtnl, tph o wilyjwl suhdwl Shwynpp nwunhw Gk,

wuw w)h skGp gqpnud: UyuhGpG' qpiny o = t/2, hwulwlnd Gp' o = /2 nwn b hb-
wmbwpwn YqptGp® sin0=0, cosO=1, sing =1 (mb'u hwonpn ophGwlyp):

Ophiwl 2: o =7/2 niypmd B Yhnh YnnpnhGunGhpG 66" x=0, y=1: <twluw-
pup’

T T T T
sin—=1, cos—=0, ctge—=0_ tg—- O sk:
5= L 5= g2 , g2 n npnqwd sk

Ophluwl 3: o0 =7 nhypmd B Ytwh YnnpnhGuwnGhpl 66 x = -1, y =0: <twmbluw-

pwn
sint=0, cost=-1, tgmw=0, ctgm-G npnpJwd sk:

Oppliwl 4: o= %t qud o = —g ) nhwpnid B Yhwnh ynnpnhGuwwmGhpt 66 x=0),
y=—1: Niptd@’
3 3 3 3
n—m=-—1 “n=0.ctge—mt=0_tg—T- :
sin : , COS 5 , ctg ) , 18 > G npnpywo sk

hGswtu wpntG Gob) GGp, OA wnuyhnlG O Ytwh pnipop o, o0+2T L o —27
nwnhwiny wuwntihu gpuynid £ dhtlnyG nhppp: {tnbwpwp’

= sin(a £+ 27)=sino,, cos(a+2m)=cosa,

1
tg(a+2xn)=tgo, ctg(o+2xw)=ctgo: W

Uju pwlwdlbtiphg htimlnud , np judwjuwl o wGljwb uhGniup, Yynuphlniup, mwG-
qtiiup L YnnwGqhGup qulGhnt hwdwp pwjuywb E hpdwlwy 0-hg dhGsk 27 nwnhwG
(0° -hg dhGsl 360°) wGyyniGGEph tow Gy Gwswhwwb $niGyghwltph wpdtpGhpp:

{wpyh wnblbny 1-hg 4-ny ophGuyltpp L (1) pwlGwalbpp, Jupnn Glp puglby
htimlyw] wnyniuwyp.
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cd Cwuljuighi| Gp nuwup

1.

AN

7.

o (keZ)| 2mk §+2nk n+2mk 37”+2nk
sin Ol 0 1 0 -1
cosal 1 0 -1 0
tgol 0 npnpywo sk 0 npnpwo sk
ctgal npnyuwo sk 0 npnyuwo sk 0

b°Gs £ Shwynp ppowlGuqhon:

UwhdwGtp judwjwiwb o wiyjwl tewblyniGuwywhwluwb $niGyghwbtpp:

N°p whlyniGGeph hwdwp 66 npnpJwo uhlniup L YnuhGniup:

Q.nynipjniG mGh® wpnynp wyGyhuh O, np’ w) sin o0 = V2 ;) cosou=—2:

N°p wyymGatph hwdwp Enpnpquwo nmwlqbiGup (YnunwlqbiGup):

Npn°Gp b6 GrwlyniGwswhwywi $niGyghwibph wpdtplGpp 0, 7/2, w, 37/2
wlyynGatph nhiypniy:

h(sh® &6 hwjwuwnp sin(o £ 21w) -G, cos(o*2m)-G, tg(o+2m)-G, ctg(o £ 2m)-G:

4 Unwounpuiipibip
82.

83.

84.

“hgnip OA uyqpluyul pwnwyhnG O Yuwnh pnipep o6 whlyniiny wunnyynh hbmbwG-
pny quuynid £ OB nhppp: Ogunybtiny hwjwuwpwunpntG nipnuGlyynil towGlju G hwwn-
YnipjniGGtphg’ qumtip B Ytwnh YnnpphGuwnGtpp, tipk’

w) o =45, p) o= 3m/4, ) o=-135":
Qhgnip OA ulqplwlywl pwnwydhnG O Ytwh pnipep o whlynilGny wyunijnh
htimbwGpny qpuiynud & OB nhppp: Oquytinyg 30° ump wiynilny ninnublyyni tnwG-
ywl hwnynipyniGGtphg, qnbtp B Ytwnh ynnpphGuumbtpp, tpt’

w) 60°, P /6, q) 120°, 1) 5m/6:

Oquytiiny Gwjunpn tpym fulnhpltphg’ puglt htmlyw] wnyniuwyn:

Q) o=-m/4,

0° | 30° | 45 | 60°| 90° | 120° | 135°150° | 180°
0 n/6 | w4 | w/3| w2 |2m/3| 3m/4|5m/6| T
S o
cosa
tg o
ctg o
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{wpybtp wpnwhwjnnipjul wpdtpn (85-88).
85. Qunltj wpdtppn.

w) sin(On/4), p) cos(19m/4), q) tg(13m/6),
m tg(-570°), t) sin(~117/6), q) cos810°:
86. w) sinE+sinE'cosE, )] cosn+2cos£,
6 4 4 3
q)2sin£+tgE n) th-Ctgz—n+sinn'
3 %47 3 3 '
St .
87. w) sin23—n+cosz3—n, D) tg—n-smE+cosE,
4 4 6 3 2
) ct 5—n~t ks )4cos£~cos3—nsin~3—n~
Ve ! 44
88. w) 2sin30° + V3 1g60°, P) 743 c0s30° —3sin 150"
q) tg135° - cos120° +3cos60°, ) ctg60” - tg120° 4+ cos150° - sin 60°:
» 89. Qultj wpnwhwjnnipjul howagniyG L thnppwgnyG wpdtipGhpp.
w) 2sin o, p) —3cos20, Q) 1+2cosa >
n) 5+3sina, t) 3—sin’a, q) Scos’a—2:

90. Aphgmp OA uyqpGuwywl pwnwypnG O Yhwh pmpop o wGyjnilnyg wywnijnh hb-
wnlwpny qpuiynid £ OB nhppp: GwGtp B Yawnh YnnpphGunGpp, tpt’
w) sina=1, cosa=0, p) sina=0,6, coso=0,8,
Q) sino=5/13, tga=>5/12, ) cosa=-7/11, ctga=7v2/12:

[Z  ypljimue i hunfwp

»91. Lot wihwjwuwpniiGaph hwiwljupgp.

2 =3x+2<0 XX +7x+12>0
Wloy_3<0 Dox+10>0

§3 Gnwbljymbuwimpuljmb $mblhghubhph ﬁzmﬁﬁlipn\
pum punnprGbpp
Uju wupwgpudnmu juuwngtilp, pt hGy Gruwbitp nGhG sino, coso, tgo, ctgd

utionipyniGGhpp yuujwo o -hg:
UnnpphGuwunwhG hwppnipjwl punnpnltpp hwdwpwluyblp wylwtu, hGsuwtu gnyyg
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Eunpwo 12-pn Gupnud: UwuGuwynpuytiv, wnwohl pwnnpnb wyG Ynmtph puqingpnGa
E, npnlg YnnpnhGuwnGtpp npuiyu i Ga:

= Gph uljqplivlml pwnunjhnli O whljyniting wpnijyph hhploulipny hugppl-
ynid b 1 pwnnppnid, wunid kb, np O -6 wuwplwbnod ' 1 pwnnpnhli, jwd
o -l quplijnid F 1 pwnnppnid: <wliqnilinpkli wwhdwbliynid b dyniu punnpy-
likphl wwwplwliknipynilip:

A
Uhgwljujpp Uhowljwjph Lwnnpnp
nwnhwGGbpny | wuphdwGGbpny

II I

©0: n/2) (0° 90°) I
2; °. 180° 11

1 v (m/2; =) (90 80 )

(m; 3m/2) (180°; 270°) 1
vl 12 (3n/22m) | (270°; 360°) v

Unynuuwynid Gpgwo GG npny dhowlwyptinh wwwnyuwlnng wyunwumdiwl wayyniGatph
pwnnpnGhpp:

Lwbh np 21 juwd - 21 wilynibny wynnywuhg htnn Qunwyhnp hwjmbynid t GniyG
wmbnnud, nipbdl judiwjwlwuwl & wdpnne pyh hwdwp o + 2wk wilyyniGnyg wwnnijnh
htimbwGpny uyqpGuwlub Junwyhnp Yhwjwmbyh Gniyl nhppnd, npuntin w6 qubGynid tp
o wllynilny wuniyymhg htinn: <bmbwpwnp’ o+ 2wk whlyniGGbpp pnpnp wdpnng
k -tiph ntiypnid w6 pwnnpynid GG, npuntn o -G E:

OphGwly 1: ©/4 -p, 9/4-p L —77/4-p wwnfuwind GG wnwohl pwnnpih(, hul

6m/5-p L —4n/5-p tppnpnhG:

T 3n
0, * 5 | A 5 t2x;, ... whlyniliikpp ns dh pwnnpnh skl wwplpublinid:

Gpt o0 wllyjwl syuhiwl thwynpp nwnhw66 B, wyw Gpu puwnnpnp npn2tijnt hw-
dwp wihpwdbtpm £ o -hg vh pwlh wlquy hwiting jud gnuiwptnyg 27" unwGw) dh
phy O-h L 27 -h dhol: Gwfugwo wyl pwihg, pt

(+3) 54) (5} (52

dhowlwyptinhg npphG £ wquwwlnd wyn phyp, o -G Yqunbyh, hwiwywunwufuwlw-
pwp, I, II, III, IV pwnnpnpnud:

OphGwly 2: Mupqbbp, pt np pwnnpnhG £ qunulnd 12,257-6: Lwih np
12,251-6-21=0,257 L 0< 0,251 < 0,57, niptdG® 12,257-G [ pwnnpymu t:
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{wlgnilnptl, hwGbny Yuwyd gnmiwnpbny wipnne pyny 360°, qumbnmd tip o0 wd-

lwa pwnnpnp, tph swihiwl shuwynpl wunhdwG6 t: OphGwy’ 13907 -p snppnpn pw-

nnpnmd k, pwGh np 1390 —3-360 =310 L 270 <310<360:

Mupg t, np Gpt B(x, y) JtnG wnwohl pwnnpnnid b, wmyuw x>0, y >0, tpypnpn

Unuhlniuh Swlqtluh b ynnwd-
UhGmuh :
GpwaGtpp GpwGGLpp qhluh GywGGhpp
A A A
LY. 13

punnppnid’ x<0, y>0, tppnpny pwnnppnid” x <0,
B(x.)

y <0, snppnpn punnppid” x>0, y <0: <tnlawpwp’
YniGtGuip 13-pn Gyupnid yuwunybpdwo tonwGlyyniGu-
suthuu G pniGyghwbbph GpuGGEpp” pun pwnnpyGbph:

INWEDY

Qhgnip OA ulqpGuuG pwnwyhnG o walyynilGnyg
wununbhu hwjnGymd £ OB nhppntd, hul] — o wljnt-

(ny wuubihu' OC nphppmd (GY. 14): UYGhwjywu k, np 24 Clx-y)
B L C Ytwtph wpughuGbpp hwjwuwp GG, huly opnh- LY. 14
Guwwltpp hwywnhp: Lbnlwpwp’
- cos(—a) = cosa.
1
sin(—a)=-sino.  tg(—a)=-tgo ctg(—a)=—ctga )

cd Swuljuigli] Gp nwup

\ 4

1. hGywtu LG npnpynid YnnpphGuwnmwjhG hwppnipjwl pwnnpnGhpp:

2. "ULpbtip hwppnipjwG Yypw Yawmh YnnpphGuwwnmbhph GpuGGhpp’ pun punnpnlbph:
3. 0°npwnnpnh( b6 wwnywims 0.7/2, 7, 3m/2 wlymGGtpp:

4. hGswb®u GG npnynid O -h punnpnp:

5. ULptip bnwGyniGuwswthwlwl $niGyghwbGtph GpuGGipp’ puwn pwnnpnGhph:
6. hash® bl hwywuwp sin(— o) -G, cos(— o0)-G, tg(— o) -G, ctg(—a)-G:
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£

Unwounpuiipibip

N°p pwnnpymd £ o -G, Gpk (92-93)°

92.

93

94.

>95.

96.

97.

98.

99.

>100.

w) o0 =385", P =185, q) oo=-450",
n) a=790°, L) o =-18°, q) o.=298":
w) o =37/4, p) o.=5m/4, @) o=-m/10,
) o.=22m/9, b) o0=3,57, qQ) o=357/6:
0°p pwnnpymd £ /2 -p, Gpb’

w) T< o <27, p) -3n<o<-2m, q) 2n <o <37,
n) 360° < o < 540°, k) —360° < oo < —180°, q) 180" << 360°:
N°p pwnnpnmi £ o -G, Gpk’

w) cosa >0, tga >0, p) cosa <0, ctga >0,

q) sino.>0, tga <0, n) ctga<0, cosa <0,

t) sina <0, coso >0, q) cosa >0, tga<0:

b°Gs Gpw6 niGGG sin o -G, coso -G, tgO-G L ctg o -G, Liph’

w) o =158°, P o=13m, q) a=0,3m, n) o0 =355":
GGt wpnmwhwjmnipjw Gpwln .
w) sin89" - tg91°, ) cos%-sin%“, q) tg19° - cos119°,
it . 8n It 5m.
sin122° - cos390°, k) ctg—-sin—, cos—-tg—:
1) ) ctg 2 7 Q) s 87
G-t wpnmwhwjnnipjwl GQubp, Gpt hwjwmGh E, np O -G unip wGlyyniG k:
w) sin[gﬂxj, P cos(%n—oc), q) tg(mt—o),
T . (3m
n) tg 579 ) ctg(2r-a), q) sin S e
Gt wpmwhwjnnipjwl wpdbpp.
T
w) sin(—30°), 1)) cos[—g), q) tg[—zj,
5w . 27
n) tg(—?), ) ctg(—135 ) qQ) ctg[—?j:
GGt O whljwb uhGniup, YnuhGniup, mwGqblGup L YnnmwGqblup, ipt”
257 . .
3n i 1w
===, b)o=—o, o=—":
1) 1 ) 6 Q) 2
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2 yplimue i hunfwp

»101. Qi
w) +/(a+15)(6—a) wpnwhwjnnipjul wpdtpp, ipt va+15 +v6—a =35,
p) v25—a ++v9—a wpnwhwjnnipjul wpdbpp, tph v25—-a —-v9—a =2,

1
q) a*+a> wpuwhwjnnpjul wpdbpp, tpt a —— =4
a

§4. Rpdbwlumb bnwbljynibwyupuljub
Gy mpynGGhpp

Q-hgnip uyqpGwlub pwnwyhnG o whljnilny wunwntinig unwgyuwd Qwunwynh owj-
puybtunp YnnpnhGuwmbhpnl G6° x Ly Lwdwdw)i tnwGyynGuswhwlul $niGlyghwdbph
uwhiwGdw6’

. y X
sin0k=y, coso=x, tgo.=~—, ctgol =—:
X y
Ujuntinhg httmlmd &, np o -h pnyjjunntith wpdtipGhph nhiwypnid’
- .
sina. cosa.
< w) tge=""", p) ctgo=——, q) tgo-ctgo=1: (1)
coso. sina

UjGnthtiml, hw)yh wnGtiny, np B(x; y) Yhwnp qubynid & Shwynp ppowluqoh Ypu,
wjuhlpl x*+ y2 =1, juiwjwlwb o -h hwiwp Junwlwlp

| |
- sin’o + cos?a=1: (2)

M
\/

Uju GnyyGnipyjw G pnpnp wlnudGhpp pudwGhing cos” o -h (tiph cos o # 0 ), unwGnud
LiGp”

1+tg’a= (3)

7R

COSZ(I

N

bul (2) GniyyGnipjwl pninp wlnuwuiGhpp pwdwbtinyg sin? o -h (tph sino#0),
unwlnud GGp’

1
2 - 4)

1+ctg’o=
sin“a

7N\
N\




Uunwgquwo (1)-(4) pwlwdlbpp, npnlp wnlympjmGatp GG dhulnyG wpgnitlunh
(wlyyw6) tnwGyniGuwywhwlub $niGyghwbtph shol, Yngymu GG hpdlwlmb bnwb-
yniliwswrhwlyuwbi GnijlinipyniliGikp:

(1q) GniyGnipyniGp hGwpwynpnipjnil £ mwihu qubhn tgo -G, tpt hwjmGh L
ctg o -G L hwjwnwp:

OphlGuwly 1: GGpunptlp” ctgo =2

j— 1 .
ctg ol 2

Onpdtilp qulhy Gul sino-G L coso-G: Yhpwntny (3) L (4) GnyyGnpniGGtpp,

unwlnud GGp.

Oquytyny (1 q) GniyGnipyniGhg’ vnwbnid LGp" tgo =

! ! 0,2 cos’ oL = ! !

Sinza: 3 = = 3 = =
I+ctgo 1+4 ’ I+tg-o 1+0,25

,0 -«

Ujuntinphg sino -G L coso -G npnptint hwdwp, wihpwdtpwm £ piwlw) Gul Gpulg
GrwGGtpp: Fpw hwdwp pwduwuw b hdwlw) O wiljwl punnpnp: OphGwy tpt o -G
wnwohl punnpnmy b, wyw’ sing = \/@, cosoL = \/0_,8, hul tpti O -G Gppnpn pw-
nnppmy £, wyw' sino = —\/@ , coso=—/08:

. 3
OphGuly 2: 9hgnip sino = 3 LO<a <§ : Quntilip coso -G, tgo-G L ctgo-G:
Cun wuwjdwbh® O -G wnwohlG pwnnpnnid £: {tnmbwpwp® Gpw YnuhlGniup npuyjuG

E L
cosoe=+1-sin’a :1/1—i :§:

25
Uhpwntiny (1) GnyyGmpjniGGtpp’ junwwlp®

sinot 3 1
tgo = =—, ctgo=—-=
coso. 4 tgo

(SR

cd Swuljuighi| Bp pwup

1. Opn°Gp &G hpGulw6 tnwGyyniGuswhwlw GnyyGnipmGatpp:

2. Uwwgmgtp sin®o+cos’a =1 (inyyGnmpjmln:

3. Uwwgmgtp 1+ '[g2 o= 5 (inyyGnipjmn:

Cos™

4.  Uwwgnighp 1+C‘[g2 o= 5— GnuyGnipyniGp:

sin” o

£ Unwownpuiipiitip

102. Uyuwgnighip, np judwjwywl of wiljwb uhGniup L YnupGniup ShwdwiwGuy gpn h-
(it st6 Yupnn:
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Oquiytny hpiGwywl tnwGyniGuwywhwlwb GniynpmnGatphg” yunqtiglt] wpmwhwj-
wmnipjnilp (103-105).

1
103.w) 1—cos’ o, n ——1,
cos” o,
q) tgoctg o +ctg” o, n) tgBetgf+1g’ B
104.w) sinoc—sin‘locj ) sinzoc—sinssoc ’
CcosSOL—COoS™ O Ccos” 0L —Cos” O
tgorctg oL —cos” o 1—cos® o
- , n) — 5 —ttgoctgo:
sin o 1—sin” o
tgBctgf —sin’
105.w) gBetgP—sin B, P) cos2B(l+tg2B)—sin2B,
ctgP
tg o
q) ctg2 OL+(1+ tg2 Oc)cos2 o, n) cos’ O{tg—+1]+ th o
ctgo

Uwwgnighi, np pnyjjunpbih wpdbpGhph mppnypmd wpmwhwjjunnipjwl wpdbpp jufujuo
sE o0 -hg (106-107).

) 2 4 .4
- + cos o —sin” o
106.w) sin oc.czos o 1’ g e
sin” o sin” oL —cos” o
Q) (cosoc+sinoc)2 —2sin 0.cos oL, n) sin® ot +cos* o+ 2sin* ocos® o :
1 1 1 1 1
107. w) —+ —> P) - —-— :
I+tg”a l+ctg” o tgo. ctgol  sinolcosol

Uuyuwgnighy GniyGnipyniln (108-109).

2

cos 1 tg”x—1 .
108.w)+a+tga: , p)gz—+cos2x=sm2x:
1+sina cosal tg”x+1
sin”® x + cos® x >
»>109. w) ———————— —sin xcos x = (cos x —sin x)°,
COS X +sin x

cos® x—sin°> x

p) ———— —sinxcosx =1:
COSX —SIn x
110. Qulh] o wilywl SGugwo tnwdlynbGuswhwlu $niGyghwihph wpdtpltpp, tph
hwjnGhk, np’

w) coso=0,8, L 0 -G ynppnpn pwnnpnh whlyn k,
p) sino = %, L o -G tpypnpn pwenpnh wGlynG k,
q) tgo =0,75, L o -G tippnpn punnpnh wiyymG t,

) ctgo, = % , Lo -0 wnwohl pwnnpyh wGlniG :

* 111. Qulb] ¢ yuwpwitwupp, Gpb hwjwnGh £ np mpdwo hwjwuwpiw 6 wpdwwGbpp nplk
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wlyywl uhGniup L YnuplGniuG GG

w 25x* —5x+a=0, p) ax? -5x—12=0:
112. Qb

. 9 =w
w) coso -G, ipl SINOL=— L — <O <T,
41 2

p) tgo -G, tiph cosoczﬁh —g<oc<0:
> 113. Qwpyty’

w)

7
! sin o -G, tipk cosoc:—éh 37t<0c<—n,
V40 7 2
15 o9rn

—15tg o -G, tpt cosu=—— L 2= < o < 57T
P g P 17 uS e 5T
>114. Qwpyty’
u1)coscx—ﬁ,hphsinoc:@htgowo,

p) 9sin o -G, tipk ctgoc=—2w/§h cosa<0:

[E  yplyinue i hunfwp

115. Lnwotp hwjwuwpnudp.

w) 3x-5/=7, P l6x—=7=7x+1, q) [Bx—4|=[9x-5|:
116. Lnwotp wGhwwuwpnidp.
w) 2-7x|<5, p Sx-35/=2, Q) [7Tx+2/<[3-x:

§5 gliluimﬁ pmﬁm&hhpn

T 3
Uju wwpwgpubnid unwlnid tlp pwlwalbtp, npnlp Eioc, nto, Enia L

21+ o whlyniGGph tnwGniGusuhwlu $niGy- A

ghw(btpl wpnmwhwjnmd GG o wilyjwl towbyjnt- c

Gwswhwlyuwi $niGyghwitpny: Uyn pulGuwdlbpl wi- K

Julnd GG phpdwb publivsl bp: > %m B

GhpwnptiGp' OA ulgpGulwb punwyhnp o L

o +§ wyynGGtpny yunwnbihu hwdipGylGnd b, hw- o D[4

Jwywwnwufuwlwpwp, OB L OC wnwyhnGuphG
(ay. 15): Unntiwypmd OB L OC punwyhnGtpp thnfu-nin-
nwhwjwg tG: LY. 15
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QhwmwpytiGp BOD L COK niqnubyyniG tnwGyyniGatpp: Lpwlg GepplGuwdhqlbpp
hwjwuwn G OB =0C , huyl LCOK = ZBOD , npwtiu thnfuninnuhwjwg Ynnibtpny
wymGatp (OB LOC, OK 1. OD): Cun ninnuGlyn b tnwdlynGaaph hwjwuwpni-
pjwl hwymwbhyh' ABOD = ACOK : {twlwpwn' OK =0D L CK = BD:

<tpw L umnighi, np, wiwju wjl pwbhg, pt np pwnnpnmud £ B Yawnp, C Yhwn
wunyyuh gpujul ninnnipjuidp hwonpy pwnnpnmid £, L kpk B Yhwh YnnpnhGunmGhpG
66 B(x,y), wyu C Ytwuh ynnpnhGuunGhpp Yiphaea C(=y,x), L ynmGhGwip

sin0t =1y, CcosO =X, sin(§+oc): X, cos(§+oc): -y
Ltwmbwpup’
sin(g+oc):cosoc, cos(§+oc):—sinoc: (1)

{wonpnupuwp Yhpwntnyg (1) pwGuwdltpp” vnwlind Ghp

. . (T s T .
sin(m+a)=sin| —+| =+ 0o ||=cos| =+ a |=—sina,
2 2 2

T (n (T
cos(m+a)=cos| —+| =+ | |=—sin| =+ |=—cosa,
2 2 2

(2)

‘LnylG dlny’

. (3w 3n .
sin 7+0c =—Ccos0, COS 7+0c =sino: (3)
Upntl ghwmblp, np
sin2r+o)=sina, cos(2m+a)=cosa: (4)

Uunwgywo (1) — (4) pwlGwdlbpp GnyyGmpynmGGatp G6G: Uju pwlwdlbpnmd O -h thn-
fuwptl mtnunpting —o L Yhpwntng §3-h (1) pwlwdlbpp” Junwlwlp pipdwG
pwGwdlbtph hwonpn funidpp’

sin(g - (x)= sin(g +(- (x))= cos(— o) =cosa
cos(g—oc): cos(g+(— oc)):—sin(— o) = sino.,

sin(m— o) =—sin(—a)=sina, cos(mr—a)=—cos(—a)=—cosa

(5)

L wyG:
Swlqtilup L ynnwbqtGup ptipdwl pwGwdlbpp yupbih £ unw Gy upGniuh b Ynup-
Gniup pipdwl pwGwaltphg: OppGuly

T COS(% B oc} sin ot
ctg(——oc): = =tga: (6)
2 (T cos o,
sm(a - oc)
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{wlgmbnnkd,
tg(g—a]:ctgoc, tg(m—o)=—tgo, ctg(n—o)=—ctgar: (7)

hGswyb®u dnwwwht] wjupwl pwGwdlbipp: Mwpgynid k, np u pGnhwGnip oppGuw-
swthnipyniG, b ptiptw G pwGwdlbppn Yhpwntihu yhunp £ Yhpwnt hbnbjw yuGnGp:

w1 Grwlmbwswhwlwb pnilijghwib sh pnpojnid, kpl O -hb (Jwd
—O-hl) gnidwpfuo t © Jud 21 L hnfudnid E bpk gnidwpdwo E /2 Juwd
3nr/2: Llin npnid, upliniup fpnfugnid b Gnupliniup, §nupliniup wplniuf,
pwliqkliup Gnipwbliqhliuh, §nypwbqhliup pwbliqkliup:

2. Up dwunid knwlilpyniliwswhwlpub pnilifghwjhg wnwy ppnid b wyl Gyw-
lip, hlis Grwd Yniliklim 5w dwup, pk O -6 hlih unip wllynili: /

OphGuly 1: QnGLGp cos[% - Otj-ﬁ:
Lwlh np (-0 )-h6 gnuiwpqud k %Tc , nptdG” YnuhGniup Yhnfuyh uhGniup: Gpt o -6

3
unip whlynG £, wyw [E T— Otj-ﬁ quynid £ tppnpn pwnnpnnud, nputin YnuhGniup
pwgwuwlu k: {tnbwpwp’

cos g1t—oc =—sinot:
2]

OphGwmly 2: UnwGwlp pipdwl pwGwdl tg(m+ o) -h hwiwp:

bniGyghw sh thnfuynid, pwGh np gniiwpjuo £ ©: Gpbh A -G wnwohlG punnpnnid
L, wyw (7t+o)-G tppnpy pwnnpymy b, npubin nwlqbGup npujui t: <twnlwpwp’
tg(n+o)=tgo:

‘Lny G dlny Yupnn GGp hwingyby, np ctg(w+ o) = ctg o : Uju pwGwdlbpp gniyg ta
wnwihu, np mwlqblu L YnnwlqliGu pniGghwbtph wpdtpltipp L6 thnfuynwd, tph
wpgnuitiinhG gnidwpnid jud hwlnwd Glp ©© (htmbwpwp® Gub wdpnng pyny m -tip):

= tg(a + m)=tga ctg(o = m) = ctga >

Ptpdwl pwGwdlbpG niGEG yuplnp yhpwenipnil: Gudwjuul wilyjul tnwGy-
JniGwywthwlul $niGlyghwjh wpdtipp hwpytint hwiwp pujuwlw6 E hdwlw unip wiy-
Jwl tonwGlniGwywhwiul $nGyghwltph wpdbtpGtipn:

Opptiwly 3: QuGklp sin150° -p: Lwwblp, np 150° =180° —30°: Rupdwl pw-

Gwdl Yhpwnbiny' vnmwlnd GGp* sin150° = sin(l 80" —30° ): sin30° = % :
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A
LG dlny cos150° = cos(180° —30° )= —cos 30° = —73,

21 T T 1 5T T T V2
COS— =COS| T—— |=—COS—=—— COS— =COS| T+ — |=—COS—=———
3 3 3 2° 4 4 4 2

Uhpwntiny phipdwl pwiwaltipp, nddwp sk unwlw) htnlyw) wnyniuwyp:

120° 135° 150° 180° 270°
o 2n 3n Sn 3n
3 4 6 T 2
1
sin o V3 V2 3 0 -1
2 2
Lo 2 0
COoSO 2 2 2 — 1
J3
tgo -3 -1 ey 0 npnay. sk
J3
ctgo Y -1 -3 npnoy. sk 0

cd wulpugti| Gp puup

1 N°p pwlwdlbpG 66 whjwlnd pipdwl puwGwdlbp:

2 Quwytinwtp pipdwl pwlwalbtph yhpwniwb ulnlp:
3. b°Gy Yuplnp yhpwnnipym G niGEG pipdwG puwGudlbpp:
4 Onpdatip hGpGnipniyG (puglt] wnynuwyp:

A Unwownpuiipibip

117. Atpty of whljwl tnwGlyniGwswhuut pniGyghwjh.

. (T b i
w) sm(a—oc), P) tg(g—a), Q) cos(a—oc),
1) ctg(o—m), b) tg(o—7), Q) cos(%n—oc),
L) sin(a—%n), n) cos(m+av), p) ctg(m—a):

118. Oquytyny ptipdw G pwGwaltphg gl o wGyjwa uhGniup, YnuhGniup, nwiqbGup b
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YnunwbqbGup.

5 4
o=210°, o=-—T, o=—T,
w) ) 1 ) 3
. 9 .
n) o=300", h)OLZZTC, q) o =330":
Onfuwphlb] oo whljwb tnwblyn Guwywhwlwb $nGyghwyny (119-120).
119. w) ctg(90°" —av), p) cos(90° +at), a) sin(270° —at),
n) sin(270° + oc), k) tg((x -270° ), qQ) Ctg(oc—180° ):
120.w) cos(810° + ), p) sin(990° —at), a) tg(o—450°).
13w n
> 121. Quuihnjuli wpwnwhwjnnipjniGp.
.2 2 37[: 2
w) sin” (T + x), ) cos 5 ) Q) tg” (m+x),
1) cos*(m—x)., ) sin3[3?n—x], Q) ctg3[3?n+x):

122. Mupgtg Gt wpnwhwjunipniGp.
w) sin>(180° — o) +sin>(270° — at),

p) sin(90° — o)+ cos(180° + o)+ tg(270° + o)+ ctg(360° + o),
Q) sin(m+ oc)cos(g + oc]— cos(2m+ oc)sin[%t - oc),

T 3n
1n) tgo tg[a + oc)tg(n + a)tg[; + oc]:
»123. Qb

w) 27sin(2n— o) -G, tipk cosaz—@ L TE<OL<%7t:

V32

p) 27cos 3—“—0( -G,tpl cos=——— L — <O <T:
2 9 2

[, Ypljini i hwdwp
> 124. Q-tinp hnuwGpny Gujuyl wigwy 28 i L wlGthewwbiu Yhpunupdwy” wipnng ninln-
nnipjwl hwdwp owpuuting 7 d: Appw®a E Guduyh wpwgnipyniGn uGqGuo opnid, tipk

qtinp hnuwGph wpwgmpjmbp 3 Yu/d t:
> 125. Q-tinnp hnuwGpny GuyuyG wiguwy 80 4 L wGihowwbu Jupwnupdwy' wipnng ninln-
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nnipjwl hwidwp dwjuutinyg 9 d: Nppw®G £ ginnp hnuw Gph wpwgnipjniGp, tph Guyjw-
Yh wpwgmpjmGp yulqGwo opnid 18 yd/d t:

§6. Gpymt whllymGGEph gnuiwph b wmwppbpnypyub
lill.ulﬁl“nlﬁulzullllulllulﬁ {])nlﬁllgluuﬁlipll pulﬁul&lllipn

Uju wwpwgpubnud junmwlulp pwGwdltipn, npnlp tpyne whlyniGatph gnudwph b
nwpptpnipjwl tnwlypnGuwyuhwluwl $pnGlyghwitnt wpmwhw jmnd G6 wyn wiyniG-
Gtph tnwGyniGwywhwiuwl dniGlyghwbbpny:

<:': cos(o — B) = cosoicosP + sinasinf (1) >

Uju pwlwalp Ynyynmd £ bphnt wmbiljynililibph ppuwpplpnipjub jnupliniup pulivgl:
A

Uuugnignud: AGhgnip Shwynp ppowlwqdh C
OA uygqpGuwywi pwnwyhnp by o, B
o — B whlyyniGGbpny, hwiwwywwwuuwiwpwp, B
unwlnmd Gp OB, OC L OD wnwyhnGtpnp
(GY. 16): Uyn ntiwypned, punn uhGniuh L YnuhGniuh 0 A
vwhiwGiwG, A, B, C, D Ytwmbpp YniGhGwG

D

\/

htimlyw YnnpphGuunmGepp’
A(1;0), B(cosassina), C(cosP;sinp),
D(cos(o.—B); sin(o.—B)):
Muwpqt,np OC pwnwyhnp o —B wlynilng wwwnbiny junwiwip OB -G: {twnlw-
pwp’ BOC L DOA YtGunpnGulwl wayynGGtpp hwjwuwn GG: Qtunh hwjwuwn GG
Gwl Gpulg htGiwl BC W AD wntnGtpp b wyn wntinGtph dquo jwptpp” BC = AD:
Oquytny tpypwywthnipjniGhg hwymGh® Gpynt Yhnmbph htnwynpnipjul pwlwalhg

Ul 16

unwlnud GGp”

AD = \/(1 —cos(0.—PB))’ +(0—sin(o.—P))* » BC = \/(cos o—cosP)’ + (sino.—sinB) :
Lwlhnp AD = BC, niptuil’
(1-cos(o.—P))* +sin’ (ot —B) =
= (cosa.—cosP)’ + (sin o —sinP)’

Pughtiny thwljuqdtipp b oquuftny sin? x + cos? x = 1 GnijGmpniGhg’ unwbnid Llp
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(1) pwGuwadlp:
<:-: cos(o + B) = cosacosP — sinasinf (2) >

Uju pwGwdlp Yngynid & Eplnt wmblyniliGibph qnidwph Gnupliniup puwblingl:

Uujugnignid: Oquytiny (1) GnyyGnipyniGhg b hwpygh wnlbny, np cos(—B) = cosP,
sin(—=B)=-sinf, unmwlnud tlp’

cos(ot+B)=cos(a— (—p))=cosacos(—B)+ sinasin(— )=

=cosa.cosf—sinoasinP:

<:': sin(a + B) = sinaicosp + cosasinB (3) >

Uju pwGwdln Yngymu t &plnt wblyniliikph qnidwph uhlintup puwliusl:

Uujugnignud: Ghpwnbiny pipdwl puGuwélbp L (1) Gnyglnipynilp’ junwiwp

sin(oc+B)=cos(§—(oc+B)j=cos([g—oc)—ﬁj:

T . (m . . .
= COS(E— ocjcos|3+ sm(E - ocjsmﬁz sin o.cos 3 + cos o sin B:

<:.: sin(a. — B) = sinocosP — cosaisin (4) >

Uju pwGwdlin Yngynmd k kplnt wblynilikph pwppbpnipjwl upliniup pulingl:
Uwyugnignid: GUhpwntiny (3) pulwdlp o b —B wlyymGhitph hwiwp L hwyyh
wnGlny, np sin(-B)=—sinP,  cos(~P)=cosP, Yunwlwip’
sin(o — B)=sin(o + (—B)) = sin o .cos(— ) + cos asin(— ) =
=sinocosB —cosasinf:
Uwnwgywo (1)-(4) GnryGnipyniGatpp hGupuwynpnipjnil GG mwihu juiwjujwl o -h
L B-h npiypmd o =B whlynGhbph uhGniup L YnupGnuG wpmwhwjnby o6 -h L B-h
uhlniuny L YnuhGniuny:
OphGuly 1: Yppwnting (4) L (1) pwGudlbpp’ vnwlmd GGp’
sin15° =sin (45° —30° )=sin 45° cos 30° — cos 45° sin 30° =

V2 3 V21 2l3-1)
5 :

272 2 4
c0105° = cos(60° +45° )= cos 60° cos 45° — sin 60° sin 45° =

142 32 V2l-4B)
2 2 2 2 4 ’
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(1)-(4) GniyGnipyniGGphg unwgynd G0 pwGwdlbp oo £ B wiyjwl wwiqbluh L Yn-
wnwlqtlGuh hwdwnp: bpnp, tipk Cos(oc + ﬁ)i 0, wyuw

sin(o.+f) _ sinocos P+ cosasin
cos(a+B) cosocosP—sinasinf -

tg(o+p)= 5)

Gph cosocosP#0, wmuyuw (5) hwjwuwpnipjwl we twuh hwiwphyG nt hwjnwpuw-
np pwdwbny cosocosP-h" unwnid Llp*

C oo o)

‘LG dlny unwgynid GG htinbjw] pwGwdlbtpp, npnlp dhyw b6, tpl npnpJwo LG
npwlgnid wnyuw tonwGyyniGuyuthwlub $niGyghwGhpn:

== tgou—t
teo—p)= 22 1EP
1+tgatgp
tgactgf—1 tgoctgf +1 @
ctgoctgPp — ctgoe
ctg(a+B)="EXTBEZC  oqg(o - p)= “ETEEET S,
ctga+ ctgf ctgf —ctga
. 3 24w
OphGwl 2: Qwyytbp tg(o+P)-G, tph smoczg, cosBzz—S, 5<oc<n

3
b Eﬂ' <B<2m: pwlpnp o -G wuwwnlwind E spypnpng punnpgh, npbda’

. 4 i
coso, = —V1—sin’ o =-Liga= sina __ 3,

cos QL 4

{wgniGnptl unwGnd GGap®

SinBZ—\H—COSzB:—l th=s1n[3_ !

25° cosB__a:

37
_tgo+egB 4 24 _ 4
I-tgatgp 3.7 37

4 24

<hmlwpwp’ tg(oc + B)

MNuunwufuwb —4/3:

cd wulpugti| Gp puup
1. Qnbp tpynt whlyniGGph gnuiwph L mwpptipnipjw G YnuplGniuh pwGwélbpn:
Q-ptip tpynt whyyniGhatph gnidwnph b mwppbpnipjwl uhlnwuh pwwdbbpp:
Qntip tg(o+B)-h b tg(o—B)-h pwlwdalbpp:

Qnbp ctg(oe+B)-h b ctg(o—B)-h pwhwadlbpp:

Eal A
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4 Unwounpuiipibip
126. Quuhnub] wpmwhwjnnipyniGp.

cos E—0( cos E+0( sin E—0(
w) 4 ; ) 4 ; ) 4 ;
(T T T
sin| —+ 0 |, b) tg) —+ o |, tgl ——o |t
woliralwelfea} il
127.<wyty sin o, cosOL, tg Ol L ctg o dhonpynilGltpp, ipk’
w) =15, p) =75, q) a=105°, n) =165

> 128. Uyugnigh] pipdwl pwGwdlbpp’ oquytny tpynt wiyjniGGtph gnuiwph L wiwppbpnt-
pjwl uhGniup L Ynuplniuh pwlwaltiphg:

Munpqbglb] wpmwhwjmnipynibp (129-130).

129.w) ﬁsin[g+ ocj—sinoc, P) \/Ecos(g—oc)—cosoc,
q) 2sin[§+0(]—cosoc, ) 6c0sa—2c05[§+0€]:
\/Ecos[3—n+ocj+coscx sin(ﬁ+a)+lsinoc
130. w) 54 : n) 73 12 :
V2 cos —n—oc +sin o sin —n—oc +—coso
4 6 2

131. Qwpytij wpnwhwjnnipjul wpdbpp.
w) sin 27° cos 3° + cos 27 sin 37, p) cos87° cos27° +sin87° sin 27°:

Uwwgnigt] hwjwuwpnipyniGp (132-133).

>

2 2
132.w) sin£+cos£ + cos£+sin£ =3
15 15

10 10
T oY (.om . 2mY
p) | cos——cos— | +|sin—+sin— | =1:
9 9 9 9
Ctg—ﬂzcos£+sin£
>133. w) cos 23" —tg 22" sin 23 =«/§, ") 9 18 18:\/3:

in 8° ° ° % I A |
sin8° +tg 22" cos 8 cte X cos X —sin ~
> 134. Uuyuignigty GnyyGnipjniGp. 9 9 9

w) sin(o.+ B)sin(o. —B) =sin” o —sin* B,

p) sin(o + B)sin(o—B)=cos* B—cos? o :
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135. Qb

T . 3 3
w) tgl —+0o |-G, pti sindt=——= L << =T,
g(4 } J10 2

3
) ctg(f—a}-ﬁ,hph sinoc:—i L %n<oc<2n:

J34
136. Qwpyty’
. . 4 4 n
w) sin(o + B)-G, tipt s1n0c:§, COSBZ—g, 5<0c<11:, —<B<m,

24 4 T =
sin(ot —B) -G, tpti sinou=—, cosPp=——, O<oa<—, —<PB<m:
p) sin(o —B) -G, p > p s > 5 §

[ yplinue pui hunfwp
137. Mwpgbglt] wpumwhwjmnipjniGp.

w)(S(’"‘Z) m+2 )2m2+4m+8 )(n+2 2 n-l4 )_n+2 1

m’ -8 _m2+2m+4 m-=3 3n _n—2_3n2 —6n) 6n .n—5.

87. Llpllﬁulllll whiljyub linulﬁl“nlﬁmzunllulllluﬁ
-fl)nlﬁllglnulﬁlipln pulﬁul&lllipn

LVwhunpn yuwpuwgpupnid mbuwp, np judwjulwb o -h b B-h hwdwp
cos(o+B)=cosocosP —sin o sin B :

Uju Gnjnipjwl 09 wmbinunptiny = o, unwnu tlip’

<:': cos2o. = cos’a — sin’at : ) >

Ujuntinhg L sin® ot +cos” ot =1 GniyGnipyniGhg unwbnid tlp htnbyw) pwlGwdlb-
np.

<:': cos2a =1 - 2sin’a, cos20, = 2cos’o, — 1: (2) >

‘LUuwl duny tpynt wlyniGGtph gnidwph uhGniuh, mwlqbbGup L nnmwlqbGup pw-
Guwdltpnid YtipgGhny B=o, unwlnd tlp’

- sin2a = 2sinoicosa, 3)
2tgo. ctg’a -1
‘ tg2o = iz o= aga-’, (4)
1-tg*a 2ctgol
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(1)-(4) pwGwdltpG wiywimd b6 fphlimgh whljub nwblnbwswipwlub pnilil-
ghwlbph pwlinslibp:

Uotilip, np (4) pwlwdaltiphg wnweohln dhpwm L, tpt npnpywo LG tgo-G L
tg 200 -G, huy tpypnpnp' Gpb npnpJwo GG ctgol -G L ctg200-G

OphGuwly 1: QuGkGp sin20.-G, bpt cosa=0,6 L —/2<0<0:
Luwlhnp o -6 yuwywlnd E snppnpn punnpnhG, mptdG® sine <0, L

sinog =—v1—cos’ o =—0,8:

Ltnmlwpwn” sin2o=2sinocosa=-2-0,8-0,6=-0,96:
NuunuufuwG —0,96:
OphGuwly 2: GunGhlp cos 2o -G, tipk coso=1/3:

dwiwdwyl (2) puGwdlp cos2o=2cos’ o —1=2- é —1:—%:

MNuunuwufuwb —7/9:

GnwGyjniGwswthwljuwl wpnwhw jmnipniGGipp dlwhnfubihu hwdwh Yhpunynid

GG (2) wnlynpjniGGiphg wGdh9wuytiu unwgynn htnlyjwy pwGwdaltipp, npnGp wijwlnd
G0 wuphdwbh hobghwl pwlinglbp.

<:.: sin2a=$, cosza:%: (5) >

cd Cwuljuighi| Gp nuwup
1. Quuytpwbp YpyGwhh walywh inwGlyniGwswhwlwb $nlGyghwbtph pwiwaltpp:
2. Upunwotp YpylGwyh whlyywb tnwblyyntGwywthwluwb $niGyghwbbph pwlwdltpp
3. Upwnwotp wunmhdwlh hotgiwb pwGwalbtpp:

£ Unwownppuiipibip
138. Mwupqbglt] wpumwhwjjmnipjniGp.

sin 20t sin 20t sin 20

w) — , P — Q) — —coso,
Sin o 2¢c0s” O S1n o

1) cos 20— cos’ oL, ) sin? o, + cos 20, qQ) sin” ot —cos’ o ;

139. Qwlt] wpnwhwjmnipjuwl wpdbpp.

. T T
w) 2smﬁcosﬁ, p) cos?15° —sin’ 15°,
2
o T T i
8sin’ = cos’ = 2| sin® = —cos* = | -
Q) 3 3" 1) [ 3 3

140. Qwpytp wpnwhwjmnipjul wpdbpp.
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ctg’ 3n -1
2tg15° 243 1g75° —83

1-te?15°" P g5 YV gt
141. Oquytny wuwnphdwGh hobgiwl puwlGwdlbphg hwpyt) wpmwhwjnnipjul wpdbpn.

w)

w) sian+2sin2£, n coszi—sinzﬁ,
8 12 12 8

Q) 400525—60052%, n) 25in2£+800s25:

Munqtiglit] wpmwhwjnnipjnilp (142-143).

n— n—o

. . —+
142.w) sin : cos S P ZCOSZTH-—OC—ZSIHZ Tta :
. . 2
143.w) sin 2(x—2s1n(x’ p) sin20cctg o —1, Q) cos20 020s o ’
coso—1 I-cos” o
1) (tgo + ctg or)sin 200, b) (ctgo —tgo)sin 20 :
Uyuwgnigti GniylGnipyniln (144-145).
144.w) 1+ sin 20, = (sin o + cos 1), p) 1—sin20. = (sin o —cosar)’,
cos 20 cosoL —sina 1—cosa+cos2a
q : = —, n) — . =ctgo:
1+sin200  cosou+sin o sin 20 — sin o
t
»145. w) tg2o—tgo = go , p) ctgo—ctg 200 = — ,
cos 20 sin 20
Q) tgo+ctgo=— , n) ctgo —tgo=2ctg20:
sin 200

Muwpqbglit] wpnwhwjmmpniGp (146-147).

146.w) __1*sin2a p)l—2sin2%, q) 1—-8cos? osin? o

(sin o+ cos )’

o sin 2
147.w) 2cos’ o —cos 201, p)w,
2sin ot + sin 20

1—cos2a + sin 20 )c052 200 —4cos*a+3 .

1+ cos 20, + sin 20, cos’ 200+ 4cos’ o —1

»>148. Uyuwgnighy GnijGnipynilp.

sin 4x cos2x

w)

—ctg2x=tg2x, . =tgx:
sin4x 8 1+cos4x 1+cos2x &
149. Qwyyty’

. 3
w) 25sin 20 -G, tipt coso=—0,6 L T< O < — T,

i
p) 18cos 20 -G, tipt COSO(,:—%I
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[ yplimue i hunfwp

»150. 60 q 15% -wlng uyhpwh nonyphg YtipgptghG npny pwiwlynipjudp monyp b
wmbnp 1gptighG GniyG Yoyony 20% -wlng uyhpwh nioniyp, nphg htimn unwgytg
16% -wling uyhpuh nuonyyp: Lwlh® gpud nuonyp tha Ytpgnhy:

»151. 80 q 15% -wling uwyhpwnh nuonyphg YipgptghG npny pwlwynipjudp nuonyp L nk-
np 1gntghG GniyG Yonny pnpwd onip, nphg htinn unwgytg 12% -wlng uyhpwh ni-
oniyp: hspw”G uyhpuh nuonyp YtipgnhG:

§8. Uku whljyub EnwbljynGuyuhwljub
PInbljghmbbph pubwdlbpp

Lwjunpn wwpwgpwdh (5) GnyylGnipymGatpnud o -h thnfuwpbl JtpgGung o/2,
Junwlwlp htnlyw) pwlGwdlbpp, npnlg we Ynnuinid Gpwlp whwp £ plnnpbp wjlybu,
np w9 b dwfu dwubtipph GubGtpp hwdpGyGaa.

<:-: sm—=i,/1 cosa :iw/lﬂTosa: (1) >

OphGuwly 1: AYhgnip sin(x:—g L<a< 3?“: QunGhlp sin%-n L cos% n:

‘bwlu wlhpwdb)wm £ qubh) cosol-G: Lwlh np o -G tppnpy pwnnpgnid £ nipbdG’

coso<0 L
coso.=—V1—sin’ o0 =— [1_£=__

.o o o
sin 5 -nl cos E -n hwpytnt hwiwp wihpwdtym E hdwlwg 5 -h pwnnpnp: ulnph

3n 3n
wuwjiwlh hwdwdw)G TE<0L<7 npntinhg htwnlnid E, np §<%<7 MiptdG’

0,/2 -p tpypnpy pwnnpnnud £, npuntin uhGniup gpuu t, huy YnuhGniup’ puguuwlwG:
Uhpwntny (1) pwGwdlbpp’ vnwlnd GGp

RER
5
MNuuwufuw b i —£

5 5
Oquytyny (1) pwlwdlbtiphg™ upnn Glp vnwlw] pwliwdl hu wilyjuwi mwiqtluh

|91
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hwdwp, nputin updjw) GQwlp npnpynud £ pun o/2 -h pwnnprh.

o fl—cosa
tg—==+,|—: 2
< g2 1+ cosa ()>

Oph6wlY 2: <wystp tgg-u:

s
Lwlh np g -p wnwohl pwenpynud k, niptdG’ tg >0 b

‘/_,/ J_l
2442

MNuwwnwujuw G’ V2 -1:

(0
tg 5 -h hwdwp Yuptih £ unwlwy puGudbtp, npnGgnud GpwGh pGupnipjwl hwpg
. o
sh wnwowlnid: bpnp, tpt sin E #0, wmyuw

0 . o
sin — 2sin? =
2 2

1—cosa
tg—: = = .

o o . sin o
cos— 2cos—sin—
2 2

- (o & _ 1-coso ;
82" sina ®)

o
‘Luwl duny JunwGuwbp, np tph COSE #0, wuw

s (o @ _ Sino A
82 " 1+cosa’ )

(D)—(4) GnyyGmpynGGatpp Ynyymd GG fhu whljjwb pwblwsl p:

cd Swuljuigli] Gp nwup
1. Opn°Gp k6 Yhu wGyjwb trwiyniGusuhuyuwl $nayghwibph pulGudlbpp:
2. bhGsybt®u t npnpynid GpuGp Yhu wllyyjw6 (1) U (2) puGudbbpnid:

3. Upunwotp (4) pwGwdlin:

A Unwouppuiipibip
152.Qwpyty o whlyjwl upGniup, YnuhGniup b nwGqbGup, Gpb’

D 3 5
w) 00=22,5°, p)oc=§, q)a=£, ) o=165":

50



153. Mwpghg it wpunwhw junnipjniGp.

. (04 . o .2 .2
w) cosoc+s1n0ctg5, P) cosoc—smoccth, q) sin” ot—2sin Ecosoc,
. o0 o coso 1+ cosa
1) 2sin® = +cosa, h) cos’ — — , qQ) —————+cCcoso:
2 2 2 Ctgzg
> 154. Uuyuignighy GnyyGnipjniGp. 2
. T o . . T o
u1)1+s1noc=2cos2 ——— |, p)l—sm0L=2sm2 ——— |,
4 2 4 2

(04 .o
COs— —sin —
2 2

Q) —tga, 1) Ctg%—tg%:thga:

o . O coso
cOs — +sin—
2 2

> 155, Qwjwuwpwupni6 tnwlljwi ququph wilyjwi Ynuplnp 1/9 L Qb hhdph
wnplptp wilyywb ynuhlniup:
156. Qb

w) \/gsin%-n,hph cosoc:% LO<o<m,

1
p) SCOS%-n,hph cosoc=§ L-Tt<o<0:

»157. Unyyugmgty, np’

i o T T
tg—+ctg—=4, ctg——tg—=2,
w) g12 g12 P g8 gg
t T t T '[g7t cthc
ctg— —tg— 3 L cto =
12 12
12 12:(5’ 0 _5.

ctg T, tg T
8 8
> 158. Qwpyt

tE—ctE
gS g8

. 5
w) \/gsm%-n,hph ctgaz—gh5n<oc<3n,

) w/ﬁcos%-n,hph tgazg h0<0c<§:

[ yplinu i hunfwp

»>159. b°Gs YpnwjhG hwpwpbpmpjudp whwnp £ uwnlb; 25% -wing wnh nionypp Swpnip
wnh htim 40% -wling wnh (nuonyyp unw Gwnt hwdwn:

> 160. h°Gs YpnwjhG hwpwpbpnipjuwdp whwnp L fuwnGbp 15% -wing wnh nuonypp pnpud 9ph
htim 12% -wling wnh (ntonyyp unw Gwnt hwdwp:
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§9. I’J‘nwﬁlunlﬁulzuullulllulﬁ {l)nlﬁllg]lulﬁlipll
wpmunppyuh b gnudwph pubGwdbbpp

Uju yupuwgpudpnid junwGwlp pwlwdlbp inwGyyniGuywhwlub $niGyghwbtnh
wnpunwnpyuip gnidwnh b gnudwpp wpnwnpyuwih dbwthnfutine hwdwp: Gnidwpbnyg

cos(or+ B)=cos acos B —sin asin B (1)

cos(ot — )= cosocos B+ sin asin B 2)

(niyGnipyniGGtpp, L vnmwgywo hwjwuwnpnipjwl Gpynt Jwubpp pwdwlbiny
2 -h, unwnud tGp”

< - cosacosp = %(cos(a +B) +cos(a—B)): 3) >

buly tpt (2)-hg hwitbp (1)-p L unmwgywonp pwdwbtlp 2-h, junwlwlp’

.
< =" sinasinf = %(cos(a —B)—cos(a +B)): 4) >

‘Luwl duny

sin(ot + B)=sinacosP+cosasinB L sin(o—P)=sin occos —cos osin B

(inyyGnipyniGGtphg unmwbGwlp®

s 1
sinoicos B = 5 (sin(at+ B) + sin(ox — B)): (5)

Uunwgywo (3)-(5) puGwdlbtipp hGupwynpnipjniG GG mwihu towGlyniGuswhuub
duGyghwltiph wpypmnpjuyp shwpnjuky gnidwph:

Ophluwl 1: QunGkGp sin37,5° -sin 7,5 wpnmwhwjnnipjul wpdtpp: Whpwnbnyg
(4) pwlGwadélp” unwlnd tGp’

V3 V2) V3-2
sin37,5° -sin7,5° :l(cos30° —cos45°):l N3 A2 :L.
2 212 2 4

Nuunuwufuw (\/5 -2 )/ 4.

Xty X—-Yy .
Gpt (3) Gnyylmpjub vy mtinunphlp o = 5 Lp= > , JunwGuwGp

- _
< COSX + €cosy = 2c0s ad ;— J cosx—zy : (6)

{QwlqnilnptG (4) L (5) GniyGmpniGGphg, hwiwwywwmwufuwwpwp, vnwgymu G6°
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. x+y X—-)y

s cosx — cosy = —2sin sin 7
‘ Y > 5 (7)

+ —

sinx + siny = 2sin 5

dtpohl pwlwdlnid y -h thnfuwpbl mtnunpting — y, uvunnwlnd GGp*

- - +
< sinx —siny = 2sin¥ cos% : 9) >

(6)-(9) pwlwalbipp Ynyynmd G0 rwblyniimswpwmljub pnilijghwbbph qniduwph
pulimslbp: “Apwlp hGupwynpnipyniG GG mwihu inwGyyniGwywthwyw b $nlGlyghwit-
nh gnudwpp L mwpptipnipyniGp dLwthnfutip wpumwngpyuh:

Oph(iwl 2: Unniqllp, np sin 61° —sin59° =sin1”: bpnp,
61° —59° 61° +59°

- COoS

sin 61° —sin 59° =2sin =2sin1° -cos60° =sin1’:

‘Ullwwntilp, np gnidwpdwa (6)-(9) pwlwdlbtipnd gnidwnpynid ud hwGynd GG Gnig-
GwlniG pnGyghwbtin: Unyuw)G wyn pwlGuwdbbpp yhpwnynd G6 Gubl w)l ntiypnid, Gpp
$dnGyghwltphg dtyp uhGniuG t, dynwup’ Ynuplniup: OphGuy

. T T Xx-—y T x+y
sinx+cosy=cos| ——x |[+cosy=2cos| ———= |- cos| ———— |-

cd Cwuljugli] Bp pwup
1. bGsp® t hwjwuwp tpynt wGlyynGGtph YnuhGniuGiph wpmwnpyuyp:
2. hGsh” L hwjwuwnp bpynt wGyyniGGaph uhGniuGiph wpnwnpyup:

3. QUuwihnjulip gnidwph Sin XCOS ¥ wpumwnpjwp:

4. Quuhnfutip wpmnwnpyuih coso + cosP wpmwhwjnnipyniGp:

5. Quuihnfutip wpwnwnpyuih sin o £ sin B wpnwhwjnngpniGp:

A Unwownpuiipibip
Qb wpnwhwjmnipjul wpdtpp (161-163).

161.w) sin37,5° -sin7,5°, p) cos37,5° -cos7,5°,
q) sin37,5° -cos7,5°, n) sin75° -sin15°:
162.w) sin75° -cos15°, p) cos67,5° -sin22,5°,

q) cos67,5° -cos22,5°, 1) c0s97,5° -cos37,5°:
163.w) coss—n-cosE, P coss—n~sinz,
12 4 12 4
) sin T cos1t ) sini-sinz'
Yy 4’ WA Y
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UpunmwhwjnnipjniGp Gepujug it wpmwnpjuh mtupny (164-166).

164.w) sina + sin 5, p) sin8x —sin 2x,
Q) cos3y—cosy, 1) cos2x+cosdx:
C e o 11 3
165.w) sin12° +sin 24°, ) COSETE+COSZTC,
)cosn cos77c )sin%+sinz~
4 12 PSS
166.w) sin x + cos3x, p) sin2x—cos2y,
q) cosy +sin3y, n) cosdx—sin2y:
*167. a L b totipny mnnuGyyniG tnwGyjwb h whlynilp 15° £: Qi) GhippGwdhgh tphw-
nipjniGp, tpb’ lll)a+b=\/§, P) a—-b=4/50:
168. 8nijg wmwy, np
sin47° +sin13° _\/E, o sin41" —sin19° _Ji5.

cos34° —cos56° -

s . s
sin(oc+ 30° )—cos(oc+60° ) _f cos(OL ) Z)_ Sm(a B Zj -2

w - 5
sin(ot+ 60" )—cos(a+30°) P Cos(a_z)_sin(a_ﬁ)
170. Uwwgnighi, np 3 6

w =
c0s62° 4+ cos 28°
»169. Uyuwgnigh) GnijGnipjnilp.

. (ol —
cos o.cos 3 cos a.cos
171. Quuihnfutiy wpwmwhwjmmp nip, oquytny Gwhunpny JupdnipjniGhg.
T T 47 3n
w) tgx—tg3x, p)tgy+gdx, q Crl P 1) Chril
‘Utinujwg it wpmunpjuh mtupny (172-173).
172.w) 1/2+cosx, ) \/5/2+sin20c, Q) I —sin x,
n) 1/2+sin4x, h)\/§—2sin2oc, Q) ~2 +2cosx:
»173. w) sin x + sin 2x + sin 3x +sin4.x, p) cosx —cos3x+cosS5x—cos7x,
q) I —cos4x+cos5x—cos9x, n) 1+ cos2x+sin8x +sin6x :

[ Yplyinepywi hunfwp

»174. Qninhg Jujwpwl htnwynpnipnilp 60 Yo k: Unnnghyujupp gyninhg nnipu Guy
htidwlynpnhg 1,25 dwd nip, b jujwpwl hwuwy wjl dwiwluy, tpp htowGynpyp
Juwjwpwlhg htinnt tp 21 Yo : GGl hbdwGynpnh wpwgnipyniGp, Gpt wjG 18 Yu/d-ny
thnpn £ dnnnghjjwywph wpwagnipjnilhg:

»175. Qninhg nbwh pwnwp, npnlGg htnwynpnipjniGp 120 Yo &, dbGhg Swppuumwp wywnn-
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UbiptiiwG: 30 wlg punuwphg qnin dkllhg pinGwwnwpp b dwpnunwphl hwnh-
wtig pwnuwphg 45 Yu htinwynpnipjuwdp: Gult) pinGuunmwph wpwagnipynilp, tpb wjl
dwpnuuwn SiptlGwjh wpwqnipyniGhg tmpp £ 5 Yu/d-ny:

§10 I’inulﬁl“nlﬁulzlullnullulﬁ lll[llnlllhul!lllnll’c}!nlﬁﬁlillll
oy bwljpub &huullnlunlplnlﬁﬁlip

‘LnijGwui b6 hwdwpynid w6 dLbwthnfunipyniGGapp, npnlp s6G thnthnfunid wip-
nwhwjnnipjul pnyjjuwnnpbih wpdtpliph puqunipyniGp, L dlwthnfunipjniGhg htinn
unwgyuwo wpmwhwjnnipjwl wpdbpp jnipuwpwlynip pnyjwnmpbih wpdbph nhiypnd
huwiplyGnd £ uyqplwljul wpnwhwjnnipjwl wpdtphG:

Guuwptbng GnyjGwulul dbwthnfunipyniGlitp L Yhpwebing dtq wpnbl hwjnGp
tinwGyniGwywthwlwl GniyGnepyniGatpn” uptih £ unwlw) Gop GoiyGnepyniGGn:

Ophluwl 1: Unwlwlp pwGwdl sin 3o -h hwdwp: Ghpwnbnyg qnuiwph uhGniuh b
UnybGuyh wayywl puwtwdltpp’ vnwlnd Gap
sin 30, = sin (o + 20.) = sin 0L cos 20, + cos oL sin 200 =

=sin oc(cos2 o —sin’ oc)+ 2sinoicos” o =

=sin oc(l— 2sin? oc)+ 28in oc(l— sin’ oc)= 3sino—4sin’ o
Ujuwhuny sin 30 =3sin o — 4sin> o
Ophiwly 2: MwpqtgGtlp

sin ot — 2 sin 200 + sin 30
cosOt —2cos 20+ cos 30

wpunwhwjnnipjnilp: Lwdwphgnd n hwjnmwpwpnd wnwohl L tppnpn wlnudGhph
gnuiwnp nupd Gtny wpnunpywy” junwiwlp

2sin 20.cos oo — 2sin 200 sin 20u(cos o0 — 1)

= =tg2a:
2cos20.cos o —2cos 20 cos 20u(cos o — 1)

OphGuwl 3: Cywgnighlp, np V3 cos15° +5sin15° =2sin 75 :
bpnp, oqunytny tpynt wGyynGatph gnudwpp uhGniup pwGwalhg” junmwliwbp
V3 1
V3cos15° +sinl5° = 2[700515" + EsinlS" =
= 2(sin 60° cos15° +cos60° sin15° )=2sin 75° :

cd wulpugti] p puup
1. 0°pdbwihnfunipymGa t Ynggmd GnyGuljuG:

2. Upwnwotp pwlwdl, npp cos 30 -G wpnmwhwjnnd L cos o -ny:
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A Unwouppuiipibip

Uwwgnighi GniyGnipyniGp (176-179).

176.w) cos® o —sin” o= cos 20, p) (tgo.+ctgo)sin 200 =2,
2
Cos™ O . ctgo—tg o
q —+sino=1, CERT Y _cos20i:
l1+sino ctgo+tg o

177.w) cos” (T + u)+cosz(g+ oc)zl,

T 1 3n
sin| —+ o |-sin(w—o)=—cos| — + 2o |:
D (2 ) (n-o)=7 (2 )

178.w) (1+ctg® o)1 —sin® a)=ctg’ o,  p) (1+tg® or)(l—cos’ o)=tg’ a:

1 1 1 1
—+ —=1, ) — = S—=cos2o.:
I+tg”o l+ctg”a I+tg"a I+ctg” o

179.w)
> 180. 400 wiljwa uhGniul m YnuhGnul wpnmwhwyjnbp o wiljwl uhtnuny L YnuhGnuny:

181. Mwpgbglty wpmwhwjmnipjniGp.

sin(45° + oc)+ sin(45° - oc) cos(oc +60° )— cos(oc —-60° ) .
") Sin(@5" + o) —sin(d5" — o)’ P Cos(o+ 60 )+ cos(o—607)

Uwwgnigh] hwywuwpnipjniGp (182-183).
61 1

* 182.w) cosﬁ+cos4—n+cos—:——,
7 7 7 2

I!)COSE‘*'COS3—R—l q)sin3—n—sin£—l~
5 5 27 10 10 2°

183.w) 8cos10° cos20° cos40° =ctg10°,
w) 16c0s20° cos40° cos 60° cos80° =1:

e
»>184. Uywgnighp, npiph 0<x < > wwyw’

w) /1+sinx ++/1—sinx = 2005%, p) V1+sinx —+/1-sinx = 2sin% :
Uwwgnighi GniyGmipyniGp (185-186).

=sin2o:

>185.w) BO@+B)-tga—wB_ 4 - (45" +0)-tg(45° — o)
tgotg(o+P) ’ 245" +a)+ 125 —a)

ino+ o
>186.w) X TR 4 oo+ tg? o+ te’ o
CcCOoS™ O

p) (tg20—2tga)(ctgo—tgo)=2tg” o :
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Uwuwgnigh] hwywuwnpnipjniGp (187-188).

>187 sin42+cos4ﬁ—é sin4£+cos4 —z-
Sw) St 4’ RS 12 8

q) sin® 10° +sin® 50° +sin’> 70" =1,5,
1) cos’ 50° +cos”70° —cos® 80° =0,5:
2¢0s50° +cos70"

=1

>188. ,
w) V3 5in 70° P)

25in 70° — /3 cos10° _
sin10°

1:

[Z yplimne i hunfwp

189. Qult wpmwhwjnnipjwl pnyyjwwptih wpdbpGbph puqinip niGp.

1 X 5 Nx—=2
X+ , - -, Vx® =7x+10, :
w) x> —4 B x? —5x+6 YV * w Vx*+x-6
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3

dnriljghw

§1. r()‘llullllﬁ Pnlljghw

Qnip wpnbl owlnp tp pmbGyghwjh qunuthwphl’ npybu juiwjuwb puqini-
pyniGGtph mupptinh hwiwwywunmwufuwlnipjub: Wyu giunmd YniumdGuwuhptilp dhw)G
pYywjhG $mGyghwbhp, wjuhlpl’ wjGuyhuh $nbGyghwbtip, npnlp npnpywo GG pYwjhG
puqumpniinid L pGnnilGmd 66 pwyhl wpdtpltp: <pptigGhtp, np puwyhG t Yngynid wyl
pwqunipnilp, nph mwpptipp pytip Ga:

= Uunud kh, np X pujhli puqinipynilinid npnyjuo b f pjuyhli pnililj-
ghw, bph wjl X pwqinipjub wdkl dp x pyh hwdwwwipwupulbglinid b
npil y phf y=f(x):

bmayghwih' y = f(x) gqphjuwdlmd x-p L y-p hnthnfuwyuGGbp GG, huy £ nwnp
funphpnwuGymd £ wjG YubnGp, npny x thnthnfuwwuwGh jnipwpwbsjnip wpdbphG
(X pwqinipjniGhg) hwiwwwwmwuuwimi £y thnthnfuwljwGh npnpwh wpdbp: Giwl
nhwypnmi wuni GG, np y -p x-hg pnGyghw t, yud™ y -pn pnilghnlivg jujujwonipjuli
dko I x-hg: x hmhnfuwjuGl wigwlmd b6 whluwfu shnhnpuwljub, huy y -p° jujujuy
thnpnuwlub;: x thnhnfuwuGl wijulmd GG Gub pniblghuwh wpgnidblip:

X pwqinpymGG wGuwlmd GG [ Pprilifghwh npnpdwbi yphpnigp L GpuGuynd
D(f):

UGywfu thnhnfuwwlp unynpupwp Guwynd GG x wwnny, ulujwp' y, huy
pywjhG pmbGyghwbtpp’ f, g, F, ¢ L wj mwuntpny:

f pmGyghwyh npnpdwl mhpnypp G2t hwdwp pnniGuwo t Gub qpoipjul
htnljwy dlp’ f: X — Y : Uw Guubuwynus t,np D(f)=X L f -G plymGmd & wpdbp-
Gtp Y pwqinipjnilhg:

Gpt f dmlyghwl ge X pyhl hwiwywuwufuwbtglind £ b phyp, wyuw wuntd
GG, np a Ytwnnd [ Pnibghwgh wmpdbpp b-G &t Yws' f prilifghwb a Ykypnid pl-
pruilintd F b wpdbppl qnnud GLG° f (a) = b : Uju niypnid wunwd GG Gwl, np b phyp f
$niGyghwjh wpdtp £, huy wynuhuh pnnp b -tph puqinigp GG wijuGmi 66 f prilil-
ghwjh wpdliplikph puqdnipynili Wyl wpdbplibph phpniyp L GQuGuynmds E ( f ): Uju
GpwlwynwiGtnny yupnn G6p qpbp” f : D(f) - E(f):
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«Spywo £t f pniGyghwl» wubny hwuuwlnd GGp, np mpjwo GG Gpu npnydwl
X = D(f) whpnypn b wjl Yulnbp, npnd X puqimpjul wdkl dh x pyhl hmdwwu-
nwufuwlmd E npukt f (x) phy: <wdwju wyn Julnlp mpynd t hGs-np wpnwhwjjunt-
pjudp, npp gnyg £ uwihu, pb hGs gnponnnipyniGGhp wbnp £ unwnty x pyny” £ (x)-p
unwluwnt hwdwn:

Qhgnip [ Pnlyghwyh npnpdwl mhpnypl X puqinmipniG6 kL wyn puqinipjul
wutl dh pyphl $nilGlyghwl hwiwwywmwufuwltglnid £ Gpw pwnwlyniupG: Uyu dnGy-
ghwG nwynt hwiwnp Yoquugnpotilip gpnipjwl htimlyw) hwdwpdbp dutipp

w) y= x, xe X,
p) f(x)=x*, xe X,
q) x?, xe X:

Ophliwl 1: f(x)=b, xe X, $mbyghwb hp npnpdwl whpniyyph Judwyjwlwb
Ytmmd plnnilmu £ dhtlnyG® & wpdbtpn: Uyuyhuh $nGyghw Yngymd & hwmupwpnili
dnilighu

Opplwly 2: x+1, xe X, pmGyghwG X pwqinmpjul judwjuwi x pyhl hw-
Juywunwuuwlbgmi bt x +1 phyp:

Gpt dniGyghwl mpjwo £ wpmwhwjmnipyjudp b Gpgwo sk npnpiwl wmhpnypp,
wuw pniGlyghwyh npnpiwl mhpnyyp hwdwpynd L wyn wpunwhwjunnipjul pnyjuunnb-
1h wpdtpGtph pwquinipjniln:

OnphGiwy 3: £(x)=x+1 pmbGyghwyh npnpdwh whpniypp (— 003 00 )0 E: WYyGhwjn
toap E(f)= (- eo5e0):

QGwjywo tpypnpny L Gppnpn ophGwyGhpnid $niGyghwbtpp npnpynid GG GnyyG
wpunwhwjnnmpjuip, wyn pniGyghwbtpp GniyG6 GG Jhwyl wyG ntiypnid, tpp

X = (— 00} 00 ) : Uliwgwo nhiyptinnid wyn pniGyghwGtnh npnpdw b mhpniyyplGtpp vwp-
ptip GG, hbinbwpwn, mwppbp GG Gub pnGyghwGhpn:

OphGwl 4: Q-hnbtp, np puwnwnum Swibtptiup hwjwuwnp t Gpu Ynndh Gpupne-
pjwl punwyniuntlG: dwuwmnpbl, Gpt x -ny GQuwlwytlp pwnwyniunt Ynnih Gpluwnpne-
pjnilp, huly y-n dwlbipbup, wyw y = X% Lunwlyniunt dwytiptiuph pnGlyghnlug
JuwhijwonipyniGp Gpw Ynndh tipupnipniGhg mpynud k. y = x? pwlwdlny:

Uju oppluynmd pwyuGt y = x : $niGyghwyh npnpiwl mhpniypp hwdwpby (0; oo )
vhowjuypn®, pwlh np pwnwlniunt Ynnuh tpupnipniGl wpmnwhwyjmymu k gpujul
pUny: dnilyghwjh wpdtipGtiph puqinipynilp GnyyGutiu (O; oo ) dhowluypl k, pwlh np
Jmpuwpwlsmp y npulub phy x = \/; ynnuny punwyniunt wytiptul k:

* Wyunthtanl, dpgwluyp Juljulblp Gul (- oo; 00 ), (—woya), (a30) whuph puqgin-
pymililikpp, nmntn a€ R
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OphGwl 5: Gpt y-m] Gubwytlp x Ywltptum] punwilniun Ynnidh Gpyupnipyn.-
Gp, wyw Yunwbwlp y= \/; , X € (O; oo ) PniGlyghwb Yuu punwyniunt Ynnuh bpluw-
nnipjwl pnGyghnluwy juhujuwonipmilp punwniunt dwltipbuhg:

OphGwl 6: GwGklp f(x)=+4+x* PmbGyghwyh wpdtipltiph puqinipymGp:

Gnp x-phmphnfudnid £ (= oo; + e0) thowljuypmu, x? wnpunwhwjnnipyniG6 plnnilnud
L [0; +e) dhowluwjph pninp wpdbtpllpp, ntunh (4 + x?) wponwhwjnnipjul
wpdtplhph puqinipymGp hGh [4; + o) Shewluypp, huly V4 + x* wpnwhwjnnpjul
wpdtipGbph pwqinipniGn’ [2, +o0) dhowluwypp: {Gwmlwpwp’ E(f) = [2, + oo):

cd wulpugti| Gp puup
1. 0°ppwqinpmGi 6 wiqulnd pwjhG:

b°Gs 1 pywyhG $niGyghw:

N°nG t wGyuwhe hmhnfuwuip Ln®pp’ Yubugw:

bh°Gs Gap hwuyuwlmy, wubmny’ «npjuo bt £ pmGyghwb:

N°p puqinpyniGQ 56 wijwlnmyd £ $niGyghwih wpdtpGbph puquinipniG:
N0°p pniGyghw 6 whulnd hwunwmnnm G $niGyghw:

N kWD

N°pG t niGyghwyh npnydw G mhpnypp, tpt i Gyghwb mpjwo L wpnwhwjmnpjwudp,
L G2dwo st Gpw npnpdwl wmhpnpn:

8. P°Gs pwGwdlny t nipymd punwniunt dwtptup $mGyghnGuy yuhugwonipjmbnp Gpu
Ynndh tiplupnipnilhg:

A Unwouppuiipibip
190. Qi £ $mGyghwjh wpdbplbipp npjwo x Yhnbpnud.
w) f(x)=x+1/x, x=-2, x=3, x=1/3,

P f(x)=Viax—x* +1, x=0, x=2, x=4,
.2 T T
x)=sin“2x, x=——, x=0, x=—,

@ f(x) B 3

1) f(x):x3+§/;, x=-1, x=0, x=8:

3x-5
191. 9%hgnip f(x) = )ZC :
X

w) Qully £ PmGyghwyh npnpdwl whpnypp;
p) Qull f PpniGyghwyh wpdbpltpp x =-2, x=0,5, x =3 Ythwnbpnui:
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»>192.

193.

194.

»>195.

>196.

197.

198.

»q) Mwunwin™d GG wpyynp —7; 0; 2,5 pytpp f $mGyghwh wpdbpltph puqdni-
pjulp:
Q.G wyG Yhwp, npuntn f(x) =

5 $niGyghw pnniGnd &
4x° -3
w) 5 wpdbpp, p) 2,5 wpdtipp, q) —5 wpdtpp:

Npn) tipypGtpmy (ophGuy, LUL-nd) dwpdhGGtph oipdwumhdw GG pGnmGywo b sty
ny pti Stjuhniup vwlinnuyny, npp Yhpwnmd tlp dtlp, wj; dwpkbhtjph vwlnnquyny:
duwntlhtyph uwlnmmuyny 7 wumhdwbh $nGyghnbwy juiuguwonpn Gl pun Skjuhniuh
t wunhdwlhg wpynd £ 7 =187 +32 pwlwdlny: Gwnlh obpiwunpdw(l pun
dbuwntlhtjph, tpt pun Stjuhniuh w6 hwjwuwn &’

w) 07, p) —15°, q) —40°, n) 10°:

Oquytny Gwhunpn fuGnpmu pipdwo pwGwdlhg, gptip pun Stjuhniuh ¢ wumhdwGh
PnGyghnGuy Jupuguwonipjuwl puiwdélp pun dwptGhtijph 7 wumhdwlhg L quntip
otiptwumhdw G puwn Stpuhniup, tipt pun bwptlhtph wyG hwjuwuwn t°

w) 237, p 0, q) —407, n) 84°:
Q- Gt $niGlyghwyh npnpiwl mppniypn.
1 3x+3
ul) y = > p) = >
x*—10x* +9 Y x> —6x+8
po 2 V2u? +5x-18
= =V2x x—18:
Q) Ssr12° )y
Gt pnGlyghwyh npnpdwl L wpdtplGtiph mhpnypGtpp.
w) y=3x+5, x€ [—1;1], P) y=2—-x xe€ [—2;1],
q) y=x"—3, xe [—1; 2], n) y=x"+2x, xe [—2; oo),
4 2+
b y=2+—2. g y= +f, £) y=va>+9 0 y=v50—2x>:
- X

Gt pniGyghwyh npnpdwl mhpniypn.

w) f(x)=vx* —16 +2x, P f(x)=v36—x> +3x3,
sy v=S6x sy VX —4x—12
>q) Y x —1’ ny e

QuGty 15 3AnY hwuwmwwmnm b wpugqnipjwdp Qwpdynn Yewh wiguwd dwlwuyuphh
$mGyghnGwy juugwonipjniip pupdiwl uyqphg wlguwo dwiwlwyhg, bpt’

w) Swlwywphp suthynd L dtnptpny, puy dwdwGuyp’ Juypyjuiabpny,

p) Gwlwwuwphp swhynd kL yhindtnptpny, huy dwdwGwyp® dwdtpny:
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199.

200.

»>201.

»>202.

GGt unpuGupnh Swywih $nbGlyghnGuy yuuuonipjmbp Gpu

w) Yynnih tpjupnipnitipg, p) Inhy dwytiplnygph dwytiptiuhg:

hGyyb®u & wpnwhwjumynmd JuinGuynp tnwGjuGl wponwqowd ppewluqdh punwynh
$n1GyghnGuy Yuhuquonipyniln” w) towGljwl vhelGwqoh tpywpnipniGhg, p) tinwG-
waG Ynnuh tpupmpnibhg:

Qan(tiy ppowlwqohl Ghpgowd pwunwlniunm dwytiptuh $niGlhghnGw) yuuguompmniln
2ngwiiqoh zunwiynhg:

R wnwynny ppowluwqohl Ghipgowd ninnuiblyjub Ynnikphg dkyh tpyupnipjniGG x
E: GGt mynublyul dwytptuh $niGyghnGuw) yuuuompmGl x-hg: GwmGh] wyn
$nGyghwjh npnpdwG mhpnypnp:

[E,

»203.

»>204.

Ypljim i hunfwp
Gpti tinwGhy pypG dwjuhg Ygwgptlp 7 pwlywbp L unwgyuo pyhg hwiklp 6857,
JuunwGwlp tinwGh) pyh Ypylwyumhyp: Gwunlt) tnwGh) phyn:

Gpti tinlyGhy pyhG dwuhg L wohg YgwqptiGp 2 pywbpwbp, funwbwip tplGhy pyhg
32 wlquu ko phy: Q-wnlly tipyGhy phyp:

§2. Hmbiyghuyh qpuwdplp

BJuyht $nilGyghwltipnC nruntiGuupnpbihu hwdwhu oquynid GG Gpw qpudbhyhg:

T [ Ppmbijghuwgh qpudphly wljwiblinid bl §nnpphlivapuwghli hwppnipjul
wyli (x;y) qlipbph pwqdnipynilip, npnlig hwdwp y =f(x):

Uwhiwlnuihg htimlmd £, np pniGlyghwyh gqpudhyp Ynnpnhlwmwhb hwppnipyjwb

Ghpwpwquinipjnil E: Uwluwyl ynnpnhGuwumwihG hwppnipjul witl dh Gipwpwqini-
pymd ok, np hGg-np pniGyghwih qpuudbhy k:

Gpb ynnpnhGuwwmwghl hwppmpjub I' Gipwpwqdnipynilp nput $pniGyghwyh qpu-

$ny £, wmyw opnhGuwwnbtph wnwlgphl qniquhtin Judwjwwl ninhn, npp hwwnnd
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wpughulitiph wnwlgpp npuk x, Yhnnd, jwd I'-h htin jmGh pGnhwGnip Yoo (Gph
X, & D(f)), Juwd niGh vy pGnhwnip Yen (xo; Yo ), npntn y, = f(xo) (GY. 17, w):

Ltnmlwpwn, tpt T' puquimpnilp opnhGuwmbtph wnwlgphl qniquhtn npluk ninnh
htiin hwwnynud E dkhg wybih Yambtpnud, wyG nput pniGyghwyh gpuphy hGbg sh upnn
(Gy. 17, p):

X thowluwypmd mpywo y = f (x) PnGyghwjyh qpudbhyp innwynp wuwnmybiptne
hwiwp qupbh © X dhowluwyphg pGunnpt; wijwju thnthnjuwwGh sh pwGh wpdbtp’
Xp,e 05 X, , hwpytip wyn Yanbpmd $niGyghwgh y,,..., y, wpdtplbpp, hwppnipjul ypw
oty M, (x1 Y ), M, (xn; v, ) Ytwntipp b, tpt hwjmGh t, np $nlGyghwih gpubhy hGs-
np hiwuwnny nnnply ghd £, wyw uvnwgyude M, ,---, M, Yantpp nnnpy Ynpny dhwglb:

OphGwl 1: GunmghGp f(x)=x>+x, xe[-2;2],

x y

Pnilyghwjh gpuiphyp: ) 2
{wpytiny dnilGyghwjh wpdtplpp —2;-15-1-0.5; -15 | 0,75

0; 0,5, 1; 1,5, 2 ybhwbpmy® uvwnwlnmd LGp' f(—2)=2, -1 0
f=15)=075, f(-1)=0, f(-05)=-0,25, f(0)=0, -0,5 | 025

£0,5)=0,75, f()=2, 7(1,5)=3,75, f(2)=6 L puglns 0 0
wryniuwlp: UnnpphGwwnwjhG hwppnipjul Ypw Gohmny 0,5 0,75

(-2:2), (-15:075), (-1;0), (-05;-0:25), (0;0), 1 2
(0,5:0:75), (1:2), (15:3,75), (2;6) Ytwntpp, (GY. 18w) L 1,5 3,75

nnnnpYy Ynpny hwonpnuwpwp shugGtny JunwbGwbp $nmGyghuyh 2 6

(dnuuninp) gpuphyp (GY. 18, p):

Npnp hwpgbipmy GniyyGhul wju dnunwynp qpuibhyp Juplnp mtntynipmGatp £ vwihu
$mGYyghwyh dwuhG: OphGwy’ tpt SniGyghwyh gpubhy b wnwehl L pypnpn pwnnpn G-
pnud £, wyqw pnilGlghwl plinniGnud £ dhw)6 npujub wpdtipltin: Gpb $niGlghwjh gpu-

VA YA
6 6
3,75 3,75
2 2
0,75 7 0,75
2 a%01 2 x 2 -1 o1 2 «x

w) Ul 18 )
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$hyG wnweohl L snppnpn pwnnpnbtipnd £, wyyu nGlyghw G pugwuwlub x -tph hwdwp
npnpJud sk

bnilGyghwjh qpudhyh L wpughuGliph wnwlgph hwwndw b Yhwnbipp gniyg GG vmwhu,
pb np Yhnbpmd £ $niGyghw pGyniGnid O wpdtipp, huy opnhGuwwnGhph wnwgph htin
hwndwG (Whwly) Yump npnpynid £ dmbGyghwjp’ gpn Yhwmmd pnmGuo wpdbpny (bph

YA VA

f(0) R
n Jy
R y=f(x)

y :f(x) / E(f)§

A - 3 x ‘

0] xl\/x2 > o D (f) >

f(xl) = f(xz) =0
w) LY. 19 )

qnn Yhnmd $nlyghwb npnpywo k, GY. 19, w):

Gpb wpughultiph wnwlgph x Ytwmny whglnn L wjn wnwlgphl ninnuwhwjwg ninh-
nn hwnymd £ f pniGyghwyh gpuphyh htm, mptdG xe D(f) : Gpt opnhGuwnGhph
wnw(gph y Ytwnn] wlglnn Lwyn wnwlgphlG mynuwhwjuwgl thwunymd £ SmiGyghwgh
qpuiphlh htiw, mptdG™ ye E(f): <bnlwpwp’ pmbyghwjh gpuphyh wpnjtiyghwi
x-tiph wowlgph Ypw Yhwipylh $nilyghwih npnpdwG whpnyphl, huly y-Geph
wnwgph Ypw wypngtiyghw@ YihGh niGyghwyh wpdtpltinh pwqunipjniln (GY. 19, p):

OphGwl 2. Yhwnwpybp y =l x| $mGyghwa: hGswytiu VA
ghwntlp, wjl ng puguwuwul x -tph nhypmy hwdpGyGmyd ™ y=Ix|

E y = x pmblghwjhl, hull puguuwlulb x -tph nhwypnud’
y=-—x pmblyghwyhl: Ghwntilp Gwlb,np y=x b y=—x

=Y

ImGyghwbtph qpudbhyibpp, hwiwywumwuuwGwpwnp y= x y =-x
Inu I U IT nu IV pwnnpnGhph YhunpnGhpG G6: {bnluw- g h
pup’ y =l x| $mGyghwyh qpuphyp YniGtGu 20-pn Gljw- LY. 20

nnd yuwnytpgwo mbtiupn:

21-pn Gyupnmyd ywnbtpgwo GG dtq owlnp Lu tptip $niGyghwbtph gpuwdphyGbp.

1
y=x* (upupnp), y=— (hhwbppn) by =x:
X
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cd Cwuljuighi| Gp nuwup
1.
2.

A Unwouwnpuipiitip

YA JA A

Ul 21 !

N°p Ytmtiph puqinipyniG6 GG wGJuwlnd $mGyghwyh gpuphy:

Upryn”°p YnnpnhGuwwunwyhG hwppnipjub ypuw qubynn wdkl dh gho hGs-np pniGlyghwjh
qnudbhy E:

Yuinn®n £ wipnynp $niGyghwjh gqpuiphlyp hwnb opnhGunmGbph wnwlgpp bpym Yhmnid:
hulj wpughuGiph wnw°Ggpp:

bGsut®u yunmgty npyuwo $mGyghwh dnunwynp gpubhyn:

h°Gs Yupbih £ wub) $niGyghwgh dwuhG, tph Gpu qpuphyl wnwehl L tpypnpn pw-
nnpnltpnud L

b°G;s 6 gniyg nmwyhu $mGyghwgh gqpuphyh L wpughuGtiph wnwigph hwndw Yhntpp:
hGyn®y £ npnpymd $niGyghwyh gpuphyh L opnhGuwwnGph wnwlgph hwwndwE Yhwnp:

205. LY. 22-mud wwwybtpqwo qotiphg npn®Gp GG $niGyghwyh gpudphy:

YA YA VA Yy
0] X @] x @] x X

w) P) Q) )
YA YA VA VA
/\ N AN ol
/o ¥ [ o]\ x 0 \ X 0 x
Ul. 22

&)

)

9]

n

206. Mwwnlbipt nilyghwyh gpuphiyp.

w) x2 +1, xe [-3;3]. p x* -1, xe[-2;2].
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Q) 216 , xe [0:4], n) Jx +1, xe [0;9]:
x +4

207. MunnljuGn™d Ewpnynp hwppnipyu upguo Yhnp y = +/2x — 5 pmblghwjh qpubhlh.

w) (0,V5), P G 1), Q) 417), ) (5;V5):

208. Qulty f Pmllghwjh gqnubhlh b ynnpnhliwnwjhl wnwlgpltiph hwndw Ytntph
UnnpnhGuwnGtipp, tipt’

w) y=5x-9, p) y=15-3x,
q) y=3x*-2x-8, n) y=x>—121:
209. GGty f L & pmyghwbbph gpuiphyitph hwndwt Ywnh (Yentph) ynnpghGunbbpn,
tipl’
w) f(x)=2x-1, g(x)=9-3x, P f(xX)=5-x, g(x)=7+x,
@) f(x)=2-3x, g(x)=4-5x", n) f(x)=x>, g(x)=x+2:

210. Mwuybpt nput $nGyghwjh gpudbhly, nph hwdwnp
w) D(f)=[-1:5], E(f)=[0:4],

p) D(f)=[-2:0]J[L5]. E(f)=1[-3;3]:
211. LY. 23-nud quubhynptG mpgwd £ pmGlghwgh hwdwp quaGly.
D D(f)n. 2) E(f)n. 3) f(0)-6,
4) w6 Ywnbtpp, npnGgnud $mGyghw6 pnniimi t 0 wpdtpp, —1 wpdtipp,
5) w6 puquinpnlp, npuntin $nGyghwb npuyudt,
6) wjG puqinipjnilp, npubn $pnilGlyghwl puguuwuGk,
N f (x) = —0,5 hwjwuwpiwlp puwjwpwpnn x -tph pwGuyp:

YA VA
3
2
A A - _1 3 A -
-1 O I\ 2 3 4 x 302 o1 2 X
-1 I
w) Ul 23 )
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=, Ypljimi i hundwip
»212. Lunw(h) pyh wnweohl pJwlywbp 7 L: Gpb wyn pJwlywlp mtnuihnfutlp YytipohG
wbinp, phyn YthnppwGw 864 -ny: Gwnlby uyqplwlywb phyn:
»213. LGquih pyh wnweohl pwGywan 1 k: Gpb wyn pulywlp mtnuihniutiGp ytipghG wtinp,
phup yutowGw 2187 -ny: Gult uyqpGuwlwub phyn:

§3 (}np&nqnlla!nlﬁﬁlip q)nlﬁllgllulﬁlillll hkwum

Qhgmp mpuo bl £ L & pnlyghwbtpp: FYhnwpytlp dh Gnp” F $nilGyghw, npp
wndbtpl x Yhnnd hwywuwnp £ wyg yund £ L g SnilGlyghwltph wpdtpltph
qnuiwphG’

F(x)=f(x)+g(x) :

Piwywlwpwn, F $nGyghwl npnpgwd L wyl x Yhmbpnd, npubn npnwd b6 W
[, g dnulGyghwatppn’ D(F)=D(f)N D(g): UyuYtipy vwhiwljwd F $niGlghwb
wijwind 66 f L & Ppnilifghwmbibph gnidwp F = f + g :

UyGhwymt,npbpt f -pb g -Gnpnpymd GG hGs-np wpunwhw jumnipym GGapny, wiyw
F pmGyghwG ynpnyyh wyn wpumwhwjmnipjnGGiph gnidwnpny:

OphGiwl 1: 9pgmp f(x)=x"+1, xe[-1510] L g(x)=x’—x*+2,
xe [-5;18]: Wy ntwpmd F(x)=x*+3 U D(F)=[-15;10]N[-5;18]=[-5;10]:

Lwlgnilnpbl vwhdwlymy GG f L & Pnilijghwbibph pwppkpnipynilip L
wpypwnpyugp: OpphGwy’ f L g $mGyghwltph wpmwunpyul wyG F $nilyghwd t,
nph wpdbtpG x Yhnnd hwjwuwn b wyn fenmd f L g $mGyghwltph wpdtpltph
wnpunwnnywihG

F(x)=f(x) g(x):

Mwng b, np wyuwmbn GnyGutu D(F)=D(f)N D(g):

Onpp-hGs wy £ yuwwnmytpp, tpp vwhdwimd tlp f L & Pmulifghwmbikph pwbinpyp,
wjl F pniGyghw, npp wpdbpG x Yhummd hwjwuwp £t wyn Yhond f L &
PnuGyghwlbtph wpdtipGiph hwpwptipnipjuGp’

F(x)= RACY .
g(x)”

Uyu niygpnmd £ pnlGyghwb x Yhunnwd npnpgwo b, tpt wyn Yhunnwd npnpdwo GG W

[, W & pmGyghwbhpp, pGn npmd, g(x)=0:
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Uydd nhnwnpytilp F pniGyghw, nph wpdbipl x Yhunnd npnpynd | htnbguy Yhpy.
Gwhu hwpymitlp & $mGyghwyh wpdtpp x Yhnmd, wymhtnl’ £ $mllyghwyh wpdtipp
g(x) Yhwmmy, wjuhGpG

F(x) = f(g(x):

Uju ytpy uvwhdwlwo F dnGyghwlwiulind bl [ U & Ppnilifjghwblph hwdw-
ppuyp L gpnnd” F = f o g ‘Liwl nhiypmd wumd GG Gul, np F -p puwpn pnilifghwt:

Lwujwlwih t, np f L & P$mbGyghwltph hwdwnpniyyph npnpdwl wmhpnijpp
punugwo L wyl x Ytwmbtphg, npnlp ywwlwlnd G0 & dnillhghwih npnpdwl
wmhpnyphG, LnpnGg hwdwp g(x) -pyuwwfulnd b f pnilGyghwjh npnpiwl mhpnyyphG:

1
OphGiwly 2: Ghgmp f(x)= 1 L og(x)=x"+3:
Luwih np judwjwluw6 x-h hwdwp x* +3#1, mpsa® D(fog)=R, L

1 1 1

(f o)) = g(x)—1= x4+3—1=x4+2:

Ujdd qultilip g o f -p:-Rwlhnp & -G npnpgwo t pnnp x-tph hwdwnp, g o f $niGlghwG
npnwd YihGh, bpb npnpqwa b f -p: Upuhlp® D(g o f)=D(f) = (=e; DU(L; + ), L

1y 1
(gOf)(X)—(E) 3= L,

Uyuyhuny® tpt GnyyGhuy npnpgwo GG fog L go f PnilGyghwlbpp, wuw,
panhwlpwutiu wuwod, fog # go f !

el Swuljughi] Gip puup
1 hGywt®u £ uwhiwGynid ipym $niGyghwlbph’ w) gnidwnp, p) wpmwnpyup:
2 N°nG t tpyne $niGyghwGhph puwlnpnh npnpdwl whpnypn:

3. Uwhdwtp tpym $nGyghwltinh hwiwnpnypp:

4 N°pG6 E tipym pniGyghwGtph hwdwnpnyph npnpdw G whpnypn:

5 Uh*w ELdhpymwprynp f o g = g o f hwjwuwpmpjnilp:

Z Unwownpuipiikip

214. dhgnmip f(x)=vx—1 b g(x)=+3—x:Qutip F $mlyghwjhnpnydwl whpniypp b
w6 wpumwhw jnnipjnip, npny npynd £ $mGyghw, tpt

w) F=f+g, p F=f-g, 9 F=f-g, n F=f/g:
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1
215. Uhgmip f(x)=1+x> b g(x)= E: Qutp F $nilyghwh npnpiwl mhpniypp b
wj G wpumwhwjmnipjniGp, npny mpymu £ wyn $nlGyghw, tipt”

wF=f-g, PF=f-g q)F:? n)F:%
W) F=fog, QF=gof, bDF=gog, nE=fof:

»216. Yhgmp f $mGyghwl npnpgwd [— I; O] hwnywonmy: GGl F $mbGYyghwjh npny-
dwl mhpnypp, pt”

w) F(x)=f(x=1),  p F(x)= f(2x), Q) F(x)=f-x2):
»217. “+hgnip f(x): x> L g(x): \/; :Qubp F pnilGlyghwjh npnpdwG wmhpnypp b wyl
wpunwhw jnmpmiGp, npny npynid £ wyng nGlyghwd, bpt

w) F=fog, pF=gof, qQ F=gog, ny F=fof:

[Z ypljimne i hunfwp
218. Lwnwyniuwjhl inwlnwihg wiowwmty \nhy pwnwiyniuh.

w) x* —8x+21, p) 4x—2x" -2, @) 3x* —6x—10:
219. Uywgmgt] wGhwjwuwnpnipyniln.

x*+1 <2 X2 42x+2

1 _x 1.
B o x4l Yo o3 2

w) ————
2 +x+1

<4
3

§4. bnblghuyh qpuppljh dhunpnjunpnbGihp

Wu wwpwgpupmd YunynptGp y = f(x) pniGyghuwh gpuiphlh shengny Yunm-

gt
y=f(x)+a, y=f(x+a) y=flax), y=af(x), y=|f(x)
PnGyghwbtinh qpupbhyGlipp, npntin a -G qpnjhg mwppbp hwunmwwmniG k:

Ly=f(x)ta (phnuywmpd opphlimplikph wrwbgph nigynipjudp):

Gpt y=f(x) $nilGyghwjh wpdtpl x, Yommd y, b, wyw y=f(x)+a
$nGyghwyh wpdtipG x, Yt YyhGh y, +a: Gywhwymd E bpb M (xy; y,) Ytwp
wuwwnywbnd by = f(x) niGyghwih gpuphyhb, wwyw M'(x; vy +a) Ytwp
Quwwywbh y = f(x)+a $mbyghuyh qpubhyhG (GY. 24): Lnlapwp’
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y :_Ji (x)

7
/

%
Yo—¢" y=fx)*a

~ol.” xo/'\ N
0 X
y0+\a X
a>0 a<0
w) Ul. 24 1)

= y=f(x)+a Pnilifghwyh qpuphlip Junnighint hwdwp whhpwdbyp b
‘ y=f(x) pniblhghwsh qpuphl opphliwpblpf wnwbgph nigyqnipjuip
a -ny phnuywpdhky:

Cn npnud, bpbk « -6 npuhwé b, wyw y=f(x) $niGhyhwyh gpuwdhyd
a -ny pupspwlnud £ gbip (GY. 24, w), hul bpb @ -G puywuwywi b, wwyw || -ng heGnud

E Jup (GY. 24, p):

2.y = f(x+a) (phnuywpd wpughulibph wnwbligph nigynipjudp) :

Gpti y = f(x) mbyghwjhwpdtipl x, Yanmd y, Lwwu y = £(x + a) dmbGyghwa
wjn Gnij6° y, wpdbpl plnnilnid £ x; —a Jhunud f((xo—a)+ a)z f(xo)z Vo -
Lowlwlymi ' tpt M (x,; y, ) Ytwmp yuunulmd b y = £(x) mGyghwyh qpuiphlhd,
wup M (x, - a; y, ) Yaup GupunuGh y = £(x+a) pmyghuwgh gpuabhlht (Gy. 25):
LEnlwpwn

A y=flxta) y=f(x) VA y=fx) y=f(x+a)
. /// M ///
M' e % o' M Yob— o\
x-a |0 x, X 0 X, Xga X
a>0 a<0

= y=f(x+a) Pnilifghuwjh qpudphhp Juwrnighini hwdwp whhpuwdbyp b
y=f(x) pribihghugh qpuuphll wpughulbph wowbgph nupynipyudp phpu-
wpdhk] —a-ny :
Clnnpmd, tpt ¢ -G ppulul L, wyw y = f (x) $nGlyghwyh qpubhll @ -nyg mtinu-
owndynd £ dwhu (GY. 25, w), hul tpb a -6 pugwuwlwi b, wuw |a| -nyJ wmbnuywnd-
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ynud L wg (GY. 25, p):
3.y = f(—X) (hwdwswipnipjnili opnphlivuplibph wnwligph Ghuwmpdudp):

Gph y = f(x) $mbGyghwyh wpdtpl x, Yanmy VA
Yo bwyu y=f(=x) $nilyghwl wyny Gny6 y=f(-x) y=fx)
yo wpdtpp  YpGnpniGh  —x, Yhwnud ) /,"_\~
FE(=x0)= f(x)= vy 1 Lpwlwlnd £ bph MM
M(x,; y,) Ytwmp wgwulwind L y=f(x) ‘/<
$Gyghwh gpuiphyhl, wugw M' (= x43 y,) Ytwp x5, 0 x, >
quuwwnywlh y = f(=x) pmbyghwih qpubhyhd
(GY. 26): Lwlh np wyn Ynbtpp hwdwywh GG op- L. 26

nhGwwGtph wnwlgph Giuniwdp, htmbwpwp’

 y=f(-x) & y=f(x) pubhghmblph gpuppylilipp huwbwsuph kb opnh-
liwmplikph wpwiligph Ghwpdwdp:

4.y = — f(x) (hwdwswpnipynili wpughulibph wnwligph Ghwpdwdp):

Gpt y = f(x) $nulGyghwyh wpdbpl x, Yhwmnud 4
Yo b www y=—f(x) pmGyghuyh wpdtpG x, Pl
Ytnnd hGh — v, : LpwGwlymd B tpt M (x5 y,) Hof— ;V,[
ytnp wwnulmd by = £(x) pmayghwgh gpuiph- j5

=y

UYhG, wqu M'(xg; = yo ) Yawnp Yuqunyuth y =—f(x)
Ppmlyghwjh qpuphyh (G4. 27): Lwbh np wyn Yb-
wbtinp hwdwswth GG wpughultinh wnwGgph Gyww-
dudp, htmbwpwn®

Y. 27

o= y=—f(x) b y= f(x) Ppnilijghwbibph quuphliliipp hwdwswp kb wpu-
ghuliph wnwiligph Gwpdwdp:

Ophliwml 1: GunmghGp y= —x? —6x — 7 wwpwpnp: LwGh np
—x?—6x—T=—(x+3)> +2,
niunp npnGhijh ywpwpnp junwgyh, tpt’
w) y= x? wupwpnp mtnwwpdtlp 3 Shwynpny dwhu (Gunwgyh y = (x+ 3)2
wwpwpnip, GY4. 28, w),
p) unwgywo ywwnitpp hwdwswth wpnwywunytintiip wpughuGtnh wnwgph
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Gyundwdp (Qunwgdh y=—(x+3)> wwpwpnp, G4. 28, w),
q) unwgyuwd wuwpwpnp pupdpugitGp 2 dhuynpny (GY. 28, p):

5.y = f(ax) (ubkndnid b sqnid wpughulibph wnwbigph kplwylpny):
VA VA

"\‘y:(x+3)2 '." y =i’ y= —(x +3)2+2

i /
=y

i e N
/73 0 / =30 \ 0
/ \ / \
/ \ / \

\
\
\

\
fy=-(+3)" Ill y=—(x+3)*
/ \

w) L. 28 P)

Gpli y = f(x) pnlyghwjh wpdtipl X, Yannd y, L, www y = f(ax) dmblyghwyh
wndtipl x,/a Yunnud GoyyGuytu YhGh y, 0 Lrwlwlymd £ tph (xo; yo) Yytunp wuwn-
yulnd £y = f(x) pmbyghwh qpuphyht, www (x,/a; y,) Yswp yuyuwnywih
v = f(ax) $ublghwyh gnuiphyh:

OphGuwly 2: 29-pn Gupmy Yhnwgdtpny ywwn-

Ybpjwot y = £ (x) pmlilghuh gpuiphlyp: Skubtap. e

pbt hGswbu whwp b wjl dLbwihnful]p y= f(2x) y /2 ’)i:f(x)
bnilGyghwjh qpubhyp vnwlwint hwiwp: Gph M A ’ ]X[ - ]\V[

y = f(x) pmGlyghuwyh wpdpl x, Yhnmd y, £, T J0 x v *x
wuww y = f(2x) $mbGyghwyh wpdbpl x,/2 Yunnud \\\ /] 2

(injGugbiu YhGh y, , puGh np o LY. 29

(2% ) 0=

Lowlwymi B tph M (x,; vy ) -0 wunulmdt y = f(x) nyghwh gpubhyhd,
www M (x,/2; y,) Ytnp YuunluwGh y = f(2x) $nuiyghwh gpuiphyhl: <bnbw-
pwp’

- y=f(2x) bnilifghwip qpuphlip Junnighini hwidwp wlhpwdbyp k
y=f (x) Pnilijghwyh qpupplip 2 wliquit «ubkndly» wpughuliph wnwligph
kpljuwylipny” nkwyh opphlimypliliph wnwbigpp (GY. 29):
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‘LUwl nuunnnnipjnGGtpny Yupnn Gap hudingyty, np

y=f(x) pnlijghwjp qnuphlp 2 whqud «3qk;» wpughulbph wnwbgph

1
‘ - y=f(5 x) Pnilijghwjh qpudphlili vipwmbmini hwidwp wlhpwdbyp b

pljwylipnf” hlinwgliliinyg opnhliwpliiph wnwiligphg (Y. 30):

6.y = af (x) (ubkndnid L sqnid opphlimpliiph wnwligph kplwjlipny):

YA |
y=f@) _y=r{z1)
4 !
wl ‘M M
/, \
N 710 X, 2x, x
\ /
\ /
7
b uY. 30

Ophiwl 3: VY. 31, w-nud Yhnmwqotpny wwwnybtpuwot y = f (x) $niGyghwyh gpu-
dhyp: Stulhlp, pt hGyutiu whinp £ wjl dlwhnfuty y =3 f (x) $nGyghwyh qpuphyp

unw Gwnt hwdwnp:
VA VA
MY =3f(x) M _y=f(x)
3y(, 74 :l—f(x) N 7 A
y=/) Y Y=y N IZA VAN
24 RN TN
~ ~ o - /N, O x() ; \ / O 'x() ;
\\ /l
\ /
\ /
N e
w) LY. 31 P)

Gpl y = f(x) Pniliyghwjh wpdtipl x, Yhnmd y, L, wygu y = 3f(x) $nllghwjh
wpdbtpG X, Ynnud YihGh 3y, : LowlGwynud £ tpt M (x5 y,) Ymp gumluGmy k
y = f(x) pmayghwyh qpuphyhl, wuu M'(x,;3y,) Ytwnp Guunwh y=3£(x)

$mGyghwyh gpubhyhl: QEnlwpwp’

- y=3f(x) Pnilijghwjph qpuphhp Juwnnighint hwdwp whhpwdbyp b
y=f(x) pmbhghusp qpupplp 3 whqut «5qky>» opghliupllpf wnwbgph

kplwylipny” hEnwgliing wpughulibph wn

wligphg (GY. 31w):

‘Liwl nunnnmp niGGtpny Jupnn Glp hwdingyby, np
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1
- y=§f(x) dniliyghwyp qpudphlil vipwbmint hwdwp whhpwdbyp b

y=f (x) Pnlifighwgh qpupplip 3 wliqud «ulindky» opnhlimplibph wnwligph
kpljuwylipnd nlwyh wpughulibph wnwbgpp (GY. 31p):

T.y=f )

Gpli y = f(x) pnuliyghwh wpdbpl x, Y y, b, wwu y=|7(x)] pniyghuyh
wpdtipl X, Yhwnnwd YhGh |y,|: LywGwymd £ tph M (x,; y,) Ynp wunniwln k
y = f(x) pmyghwyh qpuphlh (Gy. 32, w), wugw M (x,:]y,|) Ytwnp Guunlywéh
y =|f(x) $mbyghwh qpudhyht (Gy. 32, p): Gpt y, =0, wyw M L M' Ytntpp
hwip(lymu GG, hul y, <0 nhupnui hwiwswth GG wpughuGtiph wnwigph Gumdunip:

VA VA
Y=/ ' y=lfl
\ . A
Xy 0 \/ X ‘\\xo ,'/ 0 \\ _7 ’ X
M % \M/ %
w) L. 32 r)

LEnlwpwn

“2 y=|f () prubhghush qpudhip junnighin hwdup wlhipp E flpgliky
y = f(x) pnabihghush gpuephih vyl duup, npl wpughubbph wnwbgph dpw b
hwd Gpwbhg Jlp, hul] wpughuliiph wnwligphg guwo dwup hwdwswh wpypw-
wwmyplpky wmpughuliph wnwligph Ghupdwdp:

Ophfiwl 4: Gunmghp f(x)=|]x—2|-1| $niGyghwh gpudhyp:
y=|x Pmbyghwjh qpudhyp 2 Shwynpny wbnwrwpdbng we Gumwbwtp’

VA VA
| y=kl y=ix-2
N 7
\\ // 1 y:HX'z"l‘
<4 N\ 7
AN 7/
AN 4
N 7 / A - A -
0 2 X o 2|/ x
- -1
y=h=2l-1 y=l-2/-1
w) LY. 33 r)
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y=|x = 2| pmbyghuwh qnuiphlyn (Y. 33, w): UG 1 Shunnpny hobigGting gwd™ Yuunw-
GuGp y= |x - 2| —1 $niGyghwjh gpudhyp: UlGnd £ unwgguwoh wyG dwup, npl wpu-
ghuGtiph wnwlgphg gwo L, hwiwswth wpnwywmytint wjn wnwlgph Giuniwdp
(ay. 33, p):

cd Swuljugli| Gp puup

. GGy y = f(x) pmGyghwih gpuphyhg. hswbu Yunmgty w) y = f(x)+a,
p) y = f(x+a) pmayghwitph qpuphytinp:

2. 0" wnwGgph Gundwdp b6 hudwauh’ w) y=£(x) b y=f(-x).p) y=Fx) L
y = —f(x) pnutiyghwitph gpuaphltipp:

3. N YbwbpG b6 wwnhwmd y = £(2x) by =2 £ (x) $mbyghwlbnh qnuphyGphd,
tphi (xy3 ¥y) Ybnp wwnubmd by = f (x) $nuiyghwh gpuphlyhG:

4. blywbu yunmgty y =|f(x) mbyghuh qpudhlp, tpb wpqwo t y = f(x) pmty-
ghwjh gpudhyp:

£ Unwownpuipiitp

Ul 34-md wuwnybtpguwo k [—5; 5] hwwnwond npnpyud f pniGyghwyh qpuphyp:

YA VA
4 4

2 2
0 AN/IR
50030 -1 2 34\ |5 2

.V4 5 x
) -2

LY. 34

=V

1))
NMuwunybnby £ pnGyghwgh gpupbhyp b (26 Gpu npnpdw L wpdbpGph whpnypltpp,
tiphi (220-222).

w)

220. w) F(x)= f(x)+2, p) F(x)= f(x)-3,
Q) Flx)=f(x—4), n F(x)=f(x+2),
) F(x)=f(=x), @ Fx)=—f(x):

21, w) F(x)=2f(x),p) F(x)=f(2x), @ F(x)=05f(x), n) F(x)=f(0.5x):
222, w) F(x)=|f (). p) F(x)=2=f(x)].q) F@)=|f(-x)]+2.m) Flx)=]f(x)+1:
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223. Quuithnfubiny y = |x| $mblyghwjh qpudhyp’ Yunmgbi mpgud HniGlyghwh gpuphyp.

B

. Q) y=|-x

w) y=|x+2, p) y=—x

q)y=|x—4|+1, h)y:|1—|1—x , q)y=1—|x|:

224. Quuhnhubiny y = x? wuwnpwpnp' junnigb] mpguo punwyniuwjhl tnwlnudh gpu-
$hyn (nt'u ophGuwy 1).
w) x? —2x-1, p) 2x* —8x+7., q) —x’ +6x—4:

225. Oquytiny htimlywy GniyGnipjnilhg

5 b Y 4dac-b>
ax” +bx+c=al x+— | +——,
2a da

YA YA YA

a>0 a>0 a>0

D>0 D=0 D<0
N ¥ x 4

w) P) a)

VA YA YA

//\ » > >
X X
/ \ a<0 a<0
D>0 D<0
)

n) LY.35 W
w) wuwnqti, pt hGywbu dlwthnfuty y = x? wwpwpnpp y= ax* +bx+ ¢ tnwlnuih
gnudhyl unwuynt hwdwnp,

X
a<0
D=0

) wwugnighy. np tpwtnush D = b? —4ac wwppbphshb a qnpowygh’ 35-pm GYupnus
GJwo ywiwbGtph nhypnid tnwlnwih qpubhy G nGh ywnytpguwo wmbupp,

q) qu(t) tnwlnuwih gpubhh ququph ynnpnhGuwwnGhpp:
226. Uywgnighy, np X -h judiwjwluwl wpdtph hwdwnp

w) 3x°—8x+7>0, P -5x°+9x-5<0,

Q) —x’+6x-9<0, n) 4x* —12x+9>0:
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*227. Npmpty a, b, ¢ qnpowlhgltph GywGGtpp, tpt hwjwnGh k, np y:axz +bx+c¢ Wupuw-
pn1G mGh 36-pn Gyupnd piipgwo wmbupn:
y VA y

\ / N .\
%% \ OV

w) ) L. 36
228. Gunmgt) dniGyghwjh qpudbhynp.

=y
\

wy y=[-4x+3,  py=3’-2+2, @) y=|? +2a+1:
229. Pulwdlny nwy $nilGyghw, nph gpubhyG unwgynid .
w) y= x? wwpwpnip 3 dhwynp dwiu b 2 shwynp Ghppl nbnuywpdtiny,

p)y= x? wwpwpnp S shwynp we L 4 Shwynp Ybple mbnupwpdtny:

[Z ypljime i hunfwp
*230. Qult] wpmwhwjnnipjub wpdtipp G2ywo thowlwjpnid”®

w) \/x+2\/x—l +\/x—2\/x—l, Xe [l; 2],
D) Vx5 tdrtl +x+5—dlxsl, xe[-1;3]:

§5. Unwnpuljuqdwihb $pmblghwm

N
N

Ynipnpuwljmqowgpli b nsynid
_ax+b
cx+d
Pnilijghwbi, nppkn a -6, b-6, c-6 U d -6 ppwljubi pybp bG:

GhwdwntiGp, np ¢ #0 b ad # be, pwlh np ¢ =0 nhypmd mGaGmd GGp qowyhG
$mbyghw, huy ad = be nhiypmyd pniGlghwG hwumwmniG t hp npnydw G whpnpoud’
x#—d/c:

Muwpqugnt)G ynnnpulugdwghl $niGyghw vbq dwlnp y =1/x $mGyghwb t, nph
qpwdhyp, hGswbtu ghunblp, hhwbppny £ (GY. 37): Loklp wju PniGyghwh hwwnlyn-
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pGGEN: YA
w) dnGyghwjh npnpdwl mhpmypl £ !|

D(3) = (=,0) U (0.+29): k
p) dmbyghwjh wpdbpltph puqinipymGa6 £
E(y) = (=20,0)U (0,+c0):
q) dmGyghwb npuywd t, tpp x >0 L pugwuwywb X
L, tpp x<0: Ul 37
n) dnillyghwb Gyugnn L (=e0,0) L (0,+ ) dhow-
Juyptipnud:
t) Gpp x -6 wlytng vhowlmu £ jud wGyting thnppwlnd (nbyh — oo ), $niGlyghwjh
wndtpGtipp dqum GG qpnjh:
Ujdd nhnwpytiGp pGyhwlnip nhiwypp’

_ax+b
Ccx+d :
GQuuuwptiny puqiwlinuiGtph pudwind” wju $nbGyghwb Yunpnn Glp Gepluyug Gty
B
xX+y
wbtupny, npntin o -G, B-G L Y-G hpwlw6 pytip GG, pGn npoud, B # 0 : buly wju $mGy-

y=0o+

ghuyh qpuphyp Yupnn Glp unwbwy’ dlunhnfuting y =1/x hhwbppnp wnuywnpdtny
wjl Y-ny wpughultph wnwlgph tpyuwjtpny, utnitny (Gud dqtyny) B wlqud
opnhGuwnGtph wnwlgph Gplw)ipny, L unwgyuwon mtinupwnpdtiny o -ny opnhGwwmbGtph
wnwlgph tpuwGpny:

Ltunlwpwn’ Jupnn GGp wuby, np, tpti ¢ #0L ad # be, wmuyu

<:': hnipnpuwlpugowghli pnilbljghwyh gpuphlp hpyhppny L: >l

2x-3
OppGwl 1: Ywnmgtlp y = ﬁ PnGyghwyh qpudphyn:

2x-3 1

Quuihnfubny N wpumwhwjnnipnilp’ unwlnud kGp® Yy =2 - purk
X — X —

Ltnlwpuwp” vipJuo $niGyghwh gpuphyn jurmgtine hwdiwp wihpudtyun t

1
D) y=— $mayghwh gnubhin 1 dhwdnpny wtnuw)wndti we (uwnwgdh y = ﬁ

Pnilyghuygh qpurphlyp, GY. 38, w),
2) uvnwgywo ywwmltpp hwiwsuh wpnwwwnmtpt] wpughulGtph wnwlgph
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1
(yuwndwdp (Yunwgyh ¥ = B $mGyghwyh qpudbhiyp, Gy. 38, p),

VA VA

Ul 38

w) r)
3) unwgqwo wwuytpp 2 dhwynpny wtnuwndty YA ' |
(b (Y. 39): i
2x-3 /n |
Ujdd ndqun sk Gty y =—— Pnilyghwjh npnp 3/ 1 = 2x-3
x-l ——— : x—1
hwwnynipyniGGtin: R I it
w) dnilyghwjyh npnpdwlG mhpnypl £ _-1 ’ : /——
- | »
D(y)=(=eo,hHU (1, + ) o 115 --==- X
p) dnlyghwjh wpdtpltiph puqinpmGa L : I/ |
y=-—
E(y)=(=0,2) U (2,+0): :',’ x—1
|
¢) dniGyghwjh gpwphyp hwwnid b Ynnp- AL

nhGwwnwjhG wewGgpltpp (0;3) L (1,5; 0) Yawmbpnud:

n) dnmGyghwl npuwlwa b, tpp xe (—=, ) U (15,4 ) L puwguwuwluw k, tpp
xe (1,1,5):

t) dniGyghwl winn k. (—eo,1) L (1,4 o0) showlwptpnud:

q) Gpp x -0 wGytipg vkowlnud L juwy whytpg thnppwlnid (ntiugh — o ), pniGlghwjh
wndbipGlipp dqunmd GG 2 -h: dniGyghwh wpdtpllipnG whybpg dhowlnud LG, tpp x n
UnuntiGnid t 1-hG dwfuhg, L wGytpe thnppuwlmd GG (nhyh — e ), tipp x-p dnnblGmd k
1-hG wohg:

cd Cwuljugli] Bp pwup

1. 0°n $nGyghw@ GG wiJuwlimd YnumnpuljuqowjhG:
2. N0°n6t wuwpquagniyG ynnnpujuqowhG $niGyghw, L h°Gs mtup niGh Gpu qpudbhyp:
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3. Lt y= l/x $nlGyghwjh hwnynipyniGGtpn:
4. b°Gs E ynunnpuuqowhl $mbayghwgh quubhyn:

Z Unwounppuiipitip
231. Ununnpuluwqowjhl niGyghwh Ghpluywuglty y=o+ i wnbtiupny.
x+y
_2x-3 X _3x-4
232. Quuhnfutiny] y = 1/ x hhybppnip” Junmgl) yninnpujuqowjhG pnilGyghwjh gpubhyp
L G2t hwumympnGGtpp.
1 1 ) 1
= — + e —
w) Y= Py Pt W Y=
y_3x+6 . y_—2x+4 _ =5x-1
* 233, QUuihnfubny y =1/x hhubippnip, Yupnigh) upgwd $niGyghwgh gpuphyp.
x+3 x+2 x—-3
= , = , = -2:
w) Y= B VI Q) y x—Z‘
[ yplyinue i hunfwp
234. Tvwlmpmi jun 1,75 muGanp L 1,1 mwmwGé: Opwlul Jqudwnmjnui tp 125 g fuGanp
Yhngpuip 250 ppuuing L 110 g mwGd’ Yhngpudp 300 npuadng:
w) Jwdwnph wnwehl opp nppwi®G kp fuwGmiph hwunyypp :
p) CanuwitGp nppw®G hwunyp YihGh fuGadnph Judwnphg:
q)LwGh” opnid JuywnybG W fuGanpp, W mwGap:
n) Lwlp® opmd fuGdnph Jwdwnphg unwgyuwd hwuniypp Yghpwqulgh mwGdh
Jwdwnphg unwgywd hwunypn:
235. MiGtGp 80 q 25 %-wling wnh jmonip:

80

w) Gl wnh qubqyuoG wyn nuontjpniy:

p) Lwlh® mnynu wn k juw wyn nuonyyph 40 gpuadnud:

q) Nppw”G Ywpnip wn whwp L wtpug ity monyph, npytugh 9ph b winh puwGuyGhpp
hwjwuwpytl:

) Nppw”G 9nip whwp t qninpphwg Gt nuonyphg, npytiugh wnp wwpniGuynipjniGp
nunbw 80 %:



§6 . Uwhdw ﬁullllulllnll’c}!nlﬁ, Whow qnuyh
b hnppugnyl wmpdbphkp

Y4 f Pprulijghwb wliwbnid kG fkpl g wwhdwbwpul, pk qnynipynil
nibip wylwhuh M phi, np f(x)<M, bpp xe D(f) :

[ pnilifghwb wlhjwlinid kb Ghpplhg vwhdwliwphwly, tpk qnjnipjnili
nilif wyliyfup m ph, np f(x)>m, pp xe D(f) :

OnhGwl’ f(x)=|x|+2 $mbyghwl vwhiwGwithwy t Ghpplhg 2-ny. f(x)=1-|x]
PnmGyghwl vwhiwlwihwy t ytplhg 1-ny, huly f(x) =sin x $mGhghwl vwhiwlw-
thwl £ tplihg 1-m], Ghpplhg” (—1) -ny:

Y4 f Pmlijghwb whjuwbnid kb wvwhdwbGwipwl, bpk wyl wvwhdwGufual b
U okplpg, U Gkpplhg:

Munqt,np f PniGyghwl uwhdwGuihwy b, Gpt qnynipyniG niGh wyGuyhuh M phy,
nn |f(x)| <M ,tpp xe D(f):

"2 bpk Ppnilijghwyh wpdbplikiph puwqinipynilinid jw dkowqnijl (thnp-
puwgnijl) phy, www wyn phyl whjwlinid bl pnilijghwjh dhowmqniyl
(thnppwgnijl) wpdhp:

Munq , np tpb dnilGyghwl niGh dhowgniyG wpdtp, wyw wjl vwhdwGuthwy L
ytinlhg, huy thnppwqgniyG wpdbp niGhgnn $niGyghwG vwhiwGwthwy t Ghpplhg:

OphGwy 1: f (x)= sin x $niGyghwjh wpdtpltiph puquinipnilp [— 1; 1] hwunywo
t: Uyn hwwndwoh dtowqniyG phyp 1-G £, huly thnppugniyGp —1-p: <tnlaupunp® $niGy-
ghwjh dtowqniyG wpdtipp 1 t, huy thnppugnyylp” —1:

‘Lptilip, np $nilyghwyh dkowgnyG Jud thnppugni G wpdtipGtpp quGtine hwdwn
wuwpuwnhp sk qubt) Gpw wpdbpbtnh pwuqunpynilp:

Lwingytnt hwdiwp, np £ pniGyghwjh vtowqgniyG wpdtippn M phyG t, puduwG t
wuwgnighiy, np’

w)tipl xe D(f), wujw f(x)S M, ( f -h wpdbtpltipp s66 gbpuqubgnd M -p),

p) qnynipymiG mGh wjGuwhuh x, € D(f),np f(xy)=M (M phyGhGpn f -h wndtp
L):

Qwlgmbnpkl, f $nilGyghwyh thnppwgniyG wpdtipp Y1hGh m p, Gpt

w) tpt xe D(f), wyuw £ (x)=m,

p) qnyupjnil niGh wylGwhup x, € D(f), nn f()c0 ): m:
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hGswbtiu YuntuGhlp ophGwyGtpnid, $niGyghw@ Jupnn E dhowgniyG fud thnppw-
gni)G wnpdtip yniGtluy, GnyGhuy Gpt wylG vwhdwGuthwy k:

OphGul 2: “hgmp f(x)=x>, xe R:

Lwbhnp f(x)=x>20 Ut £(0)=0,npti" $niGyghwa Gipplihg uwhiwGwhwy t,
L Gpw thnppwgntyG wpdbpn qpnG k: SniGlyghw Ytiplhg vwhdiw Guthwy sk, htmblwpup’
utiowqni)G wpdtip sniGh:

OphGwl 3: Vhgmp f(x)=x2, xe [1;3]:

Muwpqt,np 1= f(l) < f(x) < f(3) =9 : bmbwpwn' $niGYghwl vwhiwlwihwy t,
nGn npnud, wjyG nGh thnppwgneyyG L dhowqgniyG wpdbtpGtin, npnlp, hwdwwywwmwuluw-
Gupwn, hwjwuwp GG 1-h (Gpp x=1)L 9-h (Gpp x=3):

OphGiwl 4: Ahgmp f(x)=x?, xe (0;3):

Munq k£, np E(f) = (O; 9) , bW pniGyghwl vwhiwlwihwy E: Uwlw)l wyG snilGh
utowqn)G L thnppwgniyG wpdbtpGbp, pwGh np (0; 9) dhowluypnid sjul dhowqnyyG L
thnppuqn)G pytip:
cd Swuljughi] Gip puup
N0°p pniGyghwb GG wGJwlmd Ytplhg (Gipplhg) vwhiwGuwtwy:

N0°p pniGyghw @ GG wGJwlnd vwhiwGuthwy:

h°Gs £ pniGyghwyh dhowgnyG (GhnppugniyG) wpdtpp:

Npn°Gp GG sinx L cosx $mGyghwGlph vhowqni)G L thnppuqni)G wpdbplbpp:
UwhdwGuwthwy $niGyghwb nGh® wpnynp dEdwqgni)G b thnppugniyG wpdtpGhp:

AN

Z Unwownpuipiikip

Ltwnlyuwy $mGyghwGtphg npn®Gp GG ytplhg vwhiw Guwihwl, npn®Gp GG Ghpplihg vwhiwGw-
thw( Lnpn®Gp’ uwhdwGuthwy (236-237).

236. w) y=x’+7x+8, p) y=6x—x’-5,
Q) y=x>+4x-1, xe [-6;10], n y=(x+1)7 -5, xe [3;9]:
_ 1 1
237. w)y—;, P)y=m,xe (—l;oo),
Q) y=— D y=——"—73":
YT axid 6x—7—4x>

238. Q] $mbGyghwjh vkowgniyG L thnppugniyyG wpdtpltipp L Gp6) Yhumbpp, npnbin
$nlyghwl plnnilnid E wyn wpdtipGhpp.

w) y=2x>+6x-4, p) y=2x-x>—1, q) y=15co0s3x,
n) y=2sinx-7, W) y=,9-|4, @ y=v7x-10-x":
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239. Qanlty gpuubhynptb npgwo pmGyghwltiph dhowqnyyG Lthnppugny G wpdtipGtpn (GY. 40):

240.

»>241.

»>242.

v A YA VA

N A AV

w) Ul. 40 p) Q)

=y

bhqhwjh nuuplpwghg hwjnmbh t, np plnulnphg V,, d/ny wpwugnipjudp Lhnphgnth

(uuniwdp o wilyjwip wpdwgwo wpyp qimhl £ pGyGnd Ypuwytine Juynphg

|/

— .sin 20 dbup htinwynpnipjudp: <nphgnbh Guumdwdp h°6 whlyyming Ypuybn
8

ntiwypnid wjn htinwynpmpnibp YhGh wnwytjwagniyGn:

hGswhuh®G whwp E (hGEG 20 ud yupuwgho nGbgnn ninqubyyu swhtpp, npytugh

(ipw dwybiptiup 1hGh vhowagnyyGn:

Gnw w6 tpym Yynnitph gnudwpp 10 ud E, huly GpuGgng uqiquo walymGp 45°:

bGswhup®G wtinp EhGEG wyn Ynnitipp, npybugh tewGyyuwl dwytptup (hGh dkowgn-

Gp:

243.

244.

Yplhimip i hwdwip

Gpt tpyGhy phyp pwdwGtlp hp pywlwbitph gnudwphl, wwyw pwlnpynid Junw-
(Gwlp 6, hul vGwgnpnmu® 5 : Gph ()G pywlrwbitpny juqijwo, puyg hwjjunuy
Jupgny qpnywo phyp puwdwlbbp hp puwbuGitph gniwnhG, wuyw pwlnpnid juunw-
Gulp 4, huy dGugnpynid” 3 : Qb ulqpGuljuG tpyGhy phyp:

GpttipyGh2 phyp pwdwltbp hp pywlywGitph gnidwphl, wyw pwGnpynd junw Gulp
4, hul WGwgnpmmy® 3 : Gph Gnyy6 pywlywiibpng Juqugwo, puyg hwljuwnwl jupgng
qnyuwo phyp pwdwGhbp hp pywlywblbph gmiwphl, wyw pwlnpnmud funwlwip 6,
huy dGugnpnnut” 8 : Gnlity uyqpbGuyu GpyGhy phyp:

§7 El)nlﬁllgllullll ulmpplipulllmﬁnlplnlﬁn

R

r= 2pnjhg puppkp T phyl whjwbnid kb f prnililghwih wywpphpnipynib,
kipk xe D(f) wwjdwbpg hiplbnid F x +T e D(f) L

fGe+T)=f(x) :

Uju nhypnid f pnilijghwb whjwlbinid kb wuwpphpwlpul pnilijghw:
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Gpt 7 -G f pmillyghwyh wwppbpnpym bt L xe D(f), wyw f(x—T)= f(x):
bpnp, tipki xe D(f), wyuw x—T € D(f) L
f)=f((x=T)+T)=f(x~T):
{bwn b unmgby, np bpb 7 -G f pnilGlyghwjh wwppbipnipym t, wwyw 7 -hG ww-
whly jnipupwilgynip phy GneGytiu wwppbpniepmG t: UwuGuygnpuwgbu®
fx+2T)= f(x+T+T)= f(x+T)= f(x):

N Gphk wwppbpuwlwl pnilijghwb nilip hnppwqniyjli npuljmb wwppkpni-
pynil, wyli wlhjwlinid Ll hhdlimljmbl wwpphpnipjnili:

Gph T -6 f prnilijghuyh hpdbwluml wwppbpnipynilil £, wunid kG, np | pnilily-
ghw T -wwppbkpwlwb k:

OphGuwl 1: “hgnp f(x)=sinx, xe R:

Qhwntlp, np sin(x + 27) =sin x : MiptiG’ 27 -G uhGniuh hwiwp wwppbpnipyniG k,
L, httmbwpwp, yupptpnipymG t judwjwwl 27k wmbuph phy, npumtn & -G qpnjhg
wmwppbp wipnng phy t: Lwingytilp, np uhlnub wy yupptpnipymG sniGh: bpnp, tph
T -G wupptpmpniG &, wyw

sin(E + T)z sinE =1:
2 2

Lupiwl pwGwdl Yhpunting vnwlmy Gip' cosT =1, npnbnhg 7 =21k , ke Z:
Lwbh np 2k wmbtiuph pytiph Wtie thnppwgnyyG npujub phyp 27 -6 £, mpbda’

f(x): sinx pnilifjghwb 27 -wwpphpwlpub k.

‘Luwl duny Yupnn GGp huinqyby, np’

f (x)= cosx pnilijghwbi 27 -wympphpuwlub k:

f(x)=tgx Ppnlijghwmb ®-wwpphpwmlmb k:

f(x)=ctgx pmilijghwb m-wuwppkpuwlub k:

“hgnip f pnlyghwl 7 -wuwppbpwlywi b L (xo; yo) Jtunp wuwwnwlmd E Gpuw
qnubhyha (GY. 41), wyuhlpC’ y, = f(xo ): Lwlhnp T -6 wupptipmpym t, nptda Yu-
dwjwlwl k& € Z wipnng pyh hwiwp y, = f(x0 + Tk):

UjuhlpG’ (xo +Tk; yo), keZ ,ytwmtipp GnyGuybu yuyuunyuita [ $mbGyghwjh qpu-
$higha:

(< T -wwpphpwlwb prnalighwgh qpuphlip junnighni hwdwp pudulud b wgl
ljwpnigly T bpljwpnipyudp nplE hwopwoh hwidwp, wylnihbipl wypugfuwo wuop-
likpli wpughulibph wnwligph nignnipyjudp phyupupdlby Tk -n, ke 7. (GY. 41):
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cd Swuljugli| Gp puup

1.

A

VA
N N A\ AN
\ \ \
I\ I\ A \ R
‘\ ‘\ ‘\ ‘\
v g v
| \ I \ I \ ] \
1 ‘\ ! ‘\ / ‘\ ! \\
-2T] \‘ -T! \‘ 0] T/ \‘ 2T} \‘ 3ir
I »
x 2T v [x:T N [« x#T \ [/ x+2T \ X
0 \ // 0 \ // 0 0 \ ,I 0 \ //
- S A A
Ul. 41

N0°np pniGyghw GG wlGfulnd yuwppbpuw:

h°Gs £ hhpdGuwl wupptipnipyniGp:

b°Gs £ GpuwGwynud, np £ -p 7 -wuwppbpuul $niGlghw t:

Npn°Gp GG tpwGyymGuswhuyul $mayghwGtph hpdGulwl yupptipnpniGGapn:
blswt™u juemgty 7' -wwppbipulwl $niGyghwih qpudphlp:

4 Unwiouinppuiipibip

245.

246.

*247.

248.

249.

Qhgmp T -G f $mGyghwjh wuppbpnpiniG k: Uyyugnighy, np jnipupwlsynip a # 0
puhntiwpnud 7 -G Guwl £ $niGlghwjh wuppbipmpm k, tph’

w) F(x)=f(x+a), pFX)=f(x)+a, q) F(x)=af (x):
Uyuwgnghy, np 7' -6 mpdwd $mGYyghwyh wupptipnipyniG k.

w) f(x)=sin2x, T=m, P f(X)zcosg, T=6m,
qQ f(x)=4-tgx, T=m, 1) f(x)chtg%, T=2m,
b) f(x)=sinx+ctgx, T=2m, Q) f(x)=sin’*x, T=m:

Qphgnip [ -p T -wuppbipwuG $niGyghw t: Tyugnighy, np juiwyjuua £ >0 pyh
nhwypnud F(x) = f (kx) $mbyghwjh hhiGuwlwl wwpptpupymtp 7/k -G E:

Oqutiny Gwjunpn wnwownpubphg™ qulby $nilGyghwh hhiGuwlyw G wuwppbpnipnp.

w) y=sin2x, p) y=3sinmtx, q) y=tgmx,

X TX
I})y:tggx’ h)y=2COS§—4, q)y=COS?;
Uwwgnighy, np pniGyghwl yupptipuwyw t.
w) y =sin2x+cos” x, p) y=tgx+sin2x, q) y=sinx+cosx,
1) ctgx+sin2x, t) sin 2x +cos3x, qQ) ctg%+tg§:
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2 yplimue i hunfwp
250. QunGt) hwjwuwpdw( pnyjwwnnptih wpdtipGhph W nonwiGiph pwqunipniGGtipp.

lll) v5x2—4x =1, p) \/3x2—1 :—8, q) |x2—5|=—4x,

X 1 V3x 3 2
) ————+—-—=0, b)) —==, Q) —+7=0:
Vx?—15x 2 V3x?-2 5 ‘X2—9‘

251. Qult) wGhwywuwpdwb pnyjuwmpbih wpdtipGhpp b nuonmdGiph puqinipniGGtpp.

w) /3x2 —48 > 0> P Vx?+6x<0> @) Vx> +8<0-

1
n) |4x5—6|+320, ) |x3—27|SO, Q m>o

§8. Quiq b YhGm Pnublghubbp

'R f Pnilighwb whjwbnid kG qnijq, kpk
f(—x)= f(x), kpp xe D(f).'
[ Ppnilighwb wljwbinid Ll §hlip, kpk
f(—x)=—f(x), kpp xe D(f):
Plwlwlwpwn, qnyyq jud faGn dnGyghwltph hwiwp
X€E D(f) wwjdwlihg hkiplnid k, np — x € D(f),

wjuhGpG” wyn $niGyghwGlph npnptwl mhpnypGtpp hwdwswit GG qpn Yanh Gundwdp:
OphGuwl 1: Utq hwywnGh

sin(—x)=—sinx, tg(-x)=—tgx, ctg(-—x)=—ctgx, cos(-x)=cosx
GnijGnipyniGGtphg hbtmlmd &, np
uplintup, pwliqhliup i nipwlbiqkliup Yhlip pnilifghwbibp kG, pul] Gnupliniup
qnijq pnilifghw L
OphGwl 2: f(x)=|x| Pnilyghwh qnijq k, puwlh np |— x| = |x
Opptwl 3: (- x)" = (=1)" x" GmyGnipjmGhg htanlind £, np x” -p qniyq dniGyghw t,
tipt n-np qnuyq phy k, L YtlGum nllyghw k, tpt 7 -p Yl t:

OphGwl 4: Mupqtp f(x)

, xeR:

=x+2_x—2
-2 x+2

Dmliyghwl npnpud b, tpp x # +2 , Lbph x€ D(f), wuyw

Pnilyghuwgh qniygnipymGp:
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flex)== - —§+§ - §+§_it§ =-/():
MNuuwufuwG f SnlGyghw YhGun k:
‘Ltilp, np wukb dh $nilyghw sk, np qnijq E jud YhGum: OphGuly f(x) =x+1 pmGy-
ghw(n’s qnyq t,n’s YtlGum, pwlh np f(— x)= 1—x $mGyghwb sh hwdpGyGnud f(x)z x+1
L — f(x)z —x—1 $mGyghwltiphg ny vtYHG:
GlpunpbiGp M (x,: y,) Yhwp wwnulms b £ qniyg pniGyghwih gpudhyh, wy-
uhlpG’ y, = f(x0 ): Luwlh np

f(—x0)=f(x0)= Yo >
niptiiG M ’(— X035 Yo ) Jtwnp GnyGuybu wuwmluind E wyn gpubhyhd (GY. 42, w): Lwih
nn GpJwo Yhmbtpn hwiwywih Gl opnhGuwwmbtph wnwlgph Guwundwdp, htmbwpwp

== qnijq prilijghuwgh gpupphp hwdwswp F opphlimpliliph wnwbigph Ghup-
dwdp (G. 42, w):

Gpt M (x,; y,) Ytnp wunnyubnid £ YhGun HniGyghwih gpudbhyht, wuyw

f (_ X0 ) (xo ) Yo
wjuhlpG M' (— X035 = Yo ) Ytunp Gny Gyt yunmuwlmd Ewyn qpuibhyha (GY. 42, p): LwbGh
nn Goywo Yhntipp hwdwswh GG YnnpphGuwmGbph uyqpGuytinmp Gumduwdp, hbmbwpunp
VA YA
M), M M

/\ Xo
' »
X, \/0 \j X, X ,,0 X X

w) LY. 42 )

= Yhlip pnilihghugh gpudhlp huntusup E ynnpyhbupbbph vhqpGuybph
lijuwpdwdp (GY. 42, p):

cd Swulpugti| Gp pwup
1. 0% $nmGyghwG t Yngymd gnijq Lnpp” YhGun pmbGyghw:

2. N°pYtwnh Guundwdp Ehwudwswi gniyq Jud YhaGun pniGyghwgh npnpdw G mhpnygpp:
3. GonwlymGusuhwyub $niGyghwltphg npn®Gp GG YaGun Lnpnlp’ qniyq:
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4. Rhpbp pnmGyghwjih ophGuwly, nppn’s qniyq k, n’s YhGwn:

5. bGsh” Giuwndwdp Ehwdwswh’ w) qnyq dniGlghwgh qpudphlp, p) Yubm dmblghwgh
qpuibhyp:

A Unwownpuiipibip

252. Uwywgnighy, np $niliyghwb qnuyq k.

w) f(x)=x*+1, p) f(x)=cos2x, 9) f(X)=xsing,

) f(x)=|x+x*, ) f(x)_)sfm—;i Q f(x)=x"tg2x,

B f(x)=(* —x)ctgx, 0 f(x)=sinx-tgx. p) f(x)="SnX.
253. Uwugnighy, np $niGyghwd YhGum t.

w) f(x)=x—x, p) f(x)=xcosx, q) f(x)=x"sin2x,

D f(x)=x‘ctgx, b f(x)=ii?—3+§, Q) f(x)=084

D f(x)=tg’ x+3x, 0 f(x)=xsinx’, P) f(x)=xctg x:

254. Uywgmghy, np uiwywlwd f pmlGyghwyh hwiwp

w) F(x)= w PmGyghw qniyq t (bp D(F)# D),

p) F(x)= w Pnlyghwl Y t (bpt D(F) =D ):

Munqby, pt htnlyuy $niGyghwltiphg npn®Gp GG qniyq, npnbp’ YhGwm, Lnpn®Gp GG n's qnijg, n's
YytGw (255-256).

255. w) y=sinx+2x, p) y=cosx—ux, Q) y=tgx—x",
1) y:sin(x2)+x]2, t) y:tgzx—x4+1, Q) y=sin(2x+1),
L) y=sin(x2—1), n) y=cos(ctg x)+ x, p) y=xsinx:
+4 -4
256. w) y=(x+17 +(x=1), p) y=x"-2x"+1, Q) y== =,
x—4 x+4
3 by = 5x _4x-13
r})y_z—x, )Y x=7 VY 5x+27°

257. w) ul. 43, w-nd ywntpJuo t y = f(x) dnGlghwjp gpuwdphyn ny puguuwub
x -tiph hwdwp: Lpwug Gy wn nilyghwjh qpuphyp, tpk hwynGh Enp w6 w) qnuyg t,
p) ytGw E:
p) L. 43, p-nud wwunpdwo £y = f (x) $myghwgh qpuphlyp ng npuijul x-tph
hwidwp: Muwwnlbpty wyn pniGyghwh gpuphlyp, tpk hwywbh b, np wy@ w) qnyq t,
p) ytlwn t:
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YA VA

LY. 43

w) P)

[ yplyinuepui hunfwp
»258. Uywugmgb, npbph g > b > 2, wyu

1 1 1 |
2 > 2 ’ P) 2 < 2 ’
b’ —4b+5 a’-4a+5 a’-3a+2 b*-3b+2

w)

§9 H)nlﬁllg]uusll Unnumnbnpyub li]ngmllullplipn L
EpumpbinuiGhpp

Y2 f Pmbijghwb §nsynid b X puqdnipynilingd wang, kpk juwdwywlb

x,,X, € X pihph hwdwp x, < x, whhwjwuwpnipjnilihg hlaplinid b, np
fe)< 1 (xs):

f Pnilijghwb Gnsynid I X pwqdnipjnilinid Gjwuqny, bphk Judwjmlwb
x,,X, € X pihph hwdwp x, < x, whhwjwuwpnipjnilihg hlaplinid b, np
f)> £ (x,):

bnilihghwibi nsynid | wany (Gwqny), kphk wjl wany | (hwdwuwwpwupuw-
lwpwp Gfugny ) hp npnpdwb phpniypnid:

Udnn L GJugnn niGyghwbtinG niGhG pnhwlnip wijwlny dnlinpnb pnilijghu-
likp:

Utiq wnwybjuytiu yhtimwpppph wyG niwgpp, tpp X pwqunipynilp, npuntin $niGy-
ghw( UnGnunG t, Showluwyp k:

A howluwpG wiyuini GG f $niGyghwjh dnlinpnblnipjub dhowlup, tpt [
$Inyghw b wyn dhowluwyph Yypw dnGnunG b, wyuhlpl’ Jud wdénn k, jud Gjugnn:

Oppliwl 1: f(x)=x? PmGyghwjh snGnnnGnipjul showlw)ptint b6 (— oo;O] L
[0; oo) 2 Lpwlghg wnwehlnd $nilyghwb GYwqgnn k, huly Gpypnpynmd” wénn:

Dbnilyghwjh wann (GJuqnn) (hGhp gpu gpuibhynid wpnwhw junynd | GpuGnyg, np
tipp Ytwp gpuwbhyh ypuwyny pwpdynid £ we, wyl pwpbpwlnud k ytp (helnud L Jup):
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Ul. 44-md yunytpqwo gnubhyltiphg” w)-G wénn, huy p)-G Gyugnn pnibGlyghwGhph
VA VA

/ 0 Xy Xy ; X 0 Xy \ ;

LY. 44

gqnudhyltp tG: huy GY. 45-md uwwnytpuwo k ny VA

unGnunG $niGyghwjh qpudbhy: Uyn nllghwb w-

ann Lt [a;b] dhowluwjpnu, GJwuqnny’ [b; c]—nui,
cf

uwluwjG hp npnpiwl whpnypmd” [a@,e] -nd n's a b \V ol d e

GJwqnn £ L nyg £ wénn: V

=V

bniGyghwbtiph UnlGnunnGmpjuG shewlwyptiph Ll 45
hwiwp pnniGwo b6 htnbyw) GQuGuyndGhpp.

w) f Tla,b] - f Pmlyghwl wénn t [a; b] Showlwypm,
p) fdla,b] - f Ppmbyghwt Gwqnn t [a; b] Showluypnus:

OphGwl 2: QunGtGp $niGyghwjh dnGnnnbnmpjul Showlwjptpn.

1
F)=———
( ) X+ xP+5
Ghpunptlp 0<x, < x, : Uyn nhiypnud’ x14 +x12 +5<x§ +x§ + 5, htimnlaupwp’
1 1

xp+xf+5 x5 +x; 450

wyuhlpG® f(x;)> f(x,): ptdG f -p [0; + o0) thowluwypnud GYwqnn k: LiwG dlny
Yuunwgyh, np f -p (= oo; 0] dhowiljujpnid wénn k:
Nuunwufuwb. f T (=e0; 0], £ 1 [0;+00):

Y4 x, Ylapp hngnid oy = f(x) pribihghmgh dwpupinidp Gl kpk gnyni-
pjnili nilip x -6 wwpniliwlng wyliypup (a; b) dhowlpwyp, nphli wuwplpubing
Jwdwjwlwb x -p hwdwp f(x,)2 f(x) (GY. 46w):

Ujunbypmd gqnnui 66 x,, = X, : dnililghwh wpdtpp vwpuhinuth jannid wijw-
(nd GG Ppnilifghuwyh dwpupdnid U GQuGuwymy y
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- x, flopp Insnid | y=f (x) Pnilihghwyh dhlipdnidh fhp, Gpk qnjnipyni
‘ nilip x,-6 wwpnilwlynyg wyliyhup (a;b) dhowljuyp, nphli wuwpljmling
Juwidwjwlwb x -p hwidwp f(x,)< f(x) (GY. 46p):

VA VA
Vinax ~
/| . i s
/ola x, b X ol a xy b ¥
Xmax= X, X min= X,
w) UY. 46 1))

Uyunbypnui gpnud 6G° x, ;= x,, - dniliyghwjh wpdtipp dhGinuih Yinnud wlgwinnd
Gl prbijghwgp dplipdnid L GQuGwlmy y .

DbnilGyghwjh dwpuhdnidh L thGhunuih YhntpG nGhG pGphwlnip wGjwGmy” Epuyp-
plidnidh Jhypkp: bul $niGyghwih dwpuhindGtpp L sShGhdindGhpp Yngymd GG pribil-

ghwjh Epuipplidnidlibp:
Q-dJup st mtulby, np tpt f -G wdnn k nplk; (a; xo] vhowlywjpnid L Gywqnn nplk
[xo; b) dhowwjpnud, wujw x,, -G wpuhinuih Ytan k(G 46, w): bulj tpt f -p Gwqnn
Enplk (a; xo] dhowlwjpnid L wdnn nplk [xo; b) dhowlwjpmy, wujw x, -G thGhinuih
ytw k. (GY. 46, p):
2-pn ophGwynid mtiuwlp, np
1
f@)= xt+x* 45
InGyghwl wénn L (— oo} 0] -mu L Guqnn’ [O;oo)—nui: Ltwnlwpwnp® x, =0 Yhwnp f
$nilyghwyh vwpupimih Ytn £ x, . = 0: kddwnp sk mbulh Gul, np $nlGlyghwl wyn
Yt plnniGnd £ hp dkowqnyyG wpdtpp” f (0) =0,2:
Uwluwy b ybwnp sk upoti, np dwpupinwih Y-
wnid pniGlyghw G dhpwn plnynilnid £ hp dkowgnyG

VA

wndtipn:

47-nn Gupmd unybpguo [A; B] npnpuwG
whpnyypny pnilGyghwjh dwpuhdnudh Yaumbpl «a -G r b A\ d _
L ¢ -G t6: UwluwyG hp dtowgniyG wpdtpp $niGy- 4 |10 4 ¢ B

ghwG pGnnilGnd £ ny pb wyn Yanbpnid, wyp hwwn-
Jwoh B owjpwltnnud: dnilyghwjh dhGhinwih
ytwnbtpl GG* h-G L 4 -G, pln npnud, pH -nud pniGy-

LY. 47
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ghw( pGnniGnud £ hp thnppwqgniyG wpdtipp, hul ¢ -nud’ ny:

= <wypjuonid npnpjwo pnilifjghwbi hp dkowqniyli (hnppuwqnijl) wpdh-
pn jwpny b plinnilibk] dwpupdnidh (dplpdnidp) Ghypnid uwd hwpuwoh owy-
pwlkpnid:

cd wulpugti| Gp puup

G"np 66 wumy, np pniGyghwl X puqinipyniGnid wénn t (GJugnn L):

N°p $mGyghwGhnG LG Yngynid dnGnund:

N°p YtwnG GG wijwlnd Swpupindh (GhGhimdh) Yhwn:

h*Gs6 66 wGJwlmd $mGyghwyh Swpuhinid (GhGhdinud):

Npn°Gp &G $mGYyghwjh Epumpbdimdh Yhwmbpp L npnGp” tpunptidnudGhpn:
Epunptidnudh yhunmd $niGyghwl pnmbnd L wpnynp dhowqniyl ud thnppugniyG

NS kW

wndtip:

Z Unwownpuipiikip
259. Qull f $mGyghwjh inGnunnGnipjul shewlwptipp, Epumpbidinuih Yawtpp L Epuwn-

ptidnudGlpp.
w) f(x)=2x-5, p) f(x)=4-"Tx, q) flx)=2x" -1,
D f()=3-5 W flx)=|x—2|. >q) f(x):%h':

Qult f pmbGhyghwyh inGnunnlmpjul showluwptnp, Lpunptinuih Yhnbpp, dkowqniG L
thnppwgny)G wpdtipGtpp (260-261).

260. w) f(x)=-x>+6x—38, P) f(x):ﬁ,
@ fx)=(x+2)" +1, n) f(x)=—(x+3):
___ 1 L
261. w) f(x)= —73 P f(x)= -2y +1,
>q) f(x)=4x]- x>, ) f(x)=x" -2y

262. Qult gqnudbhynptl mpyuwo $niGlyghwyh inGnnnlmpjul showlwptipnp, Epunpbiinuth
Yytwntpp, dhowqnyG L thnppuwqgnyyG wpdtpGtpp (GY. 48).

VA VA

5

3

=VY

-201346Wo; 3 o N\ Bfse 9

P)
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»>263.

264.

265.

266.

Qhgmp f L g PmbyghwltpnG wénn tG: Qupugmgly, np bpk nhnwnlynn $nily-
ghwGtpp npn2dwl mhpnypGbpp puumupy s6G, wuyu®

w) f(x)+ a $niiyghwl wénn k (a -G npuk hwumwnmG ),

P f +g dmlyghwl wénnk,

@) btpl k>0, wyuw k- f pmbyghwl wénnt,

1) — f pmllyghwl Gjwuqgnn t,

b)tph k < 0, wyw &kf PniGlyghwb Gyuqnn t,

@ tipt f -hl & -h wpdtiptipp ny pugwuwlwd &6, wyw f - ¢ dnillhghwl wénnk,
E)tpt f -h popnp wipdbipGlpp npuijut b6, waw 1/ £ $mGyghwa Gugnn t:
Uwwgnigli, np y = kx + b qowjhl pnilyghwb’

w)wénn k,tpp k£ >0,  p)GugnnE, bpp £ <0:

Uwjugmghi, np’

w) f(x)=x* +3x pnulyghut [0;00) showluypnus wénnt,

p) f(x)=-x" —2x pmbyghwa Gwqnnt,

q) f(x)=x°-0,5 pmayghw (- oo;0] showyuwpmd Gugnn ,

1) f(x) = x° +1,5x pmblyghwa wénn k:

Mwulbtpty wybwhuh pnbyghwh gpudphly. npp’

w) wénn b [~ 7;1] showyuypnid, Gywgnn’ [1;5]-nu,

p) GJugnn k& [— 3;0] L [2;4] dhowuwptpmd, wdnn [0; 2]-nui:

267.

268.

Ypljincywi huwdwp

Ut nivnwy dywtynt hwidwnp wnweohb pwGynpp dwhuumd E tpypnpnhg 7 nphy dwiw-
Guy : Lwlh® nhnwy Jupnn t dpult) Gpwlghg  jnipupwlsnipp 6 dwimd, btph
hwjwnGh &, np wyn pGpugpnd wnwohl pwlynpp Gyuwymy t 42 nhnw] wybih, pwa
tplpnpnp:

Gpynt pphquinltinhg jnupupwGsynipp ytipwlnpngtig 10 Yu dwlwuwwph, ptl Gpypnpn
pnhqunp wnwohGhg dhy op wwlwu wuwwmtg: LwGh® Yu Ytpwlnpngtg pphqunGh-
nhg jnipuwpwGsynipp dhy opnid, tpk Gpwilp dhwuhG uky opnid yipulnpngmi GG 4,5 Yu:
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§10 ﬂ)nlﬁllg]lulﬂl hbmugnundwl mpjuqghop b
qpuwphyp Yunnignuip

‘Lwhunpn Wwpwgpupltipnid mbuwbp, pb gpubhynid hGyytu GG npulinpynid pmGY-
ghwjh wjGwhuh pGnipwgnh; Gtpp, hGywhuhp GG qnygmpyniGp, wwppbpwlwinigpniGp,
uvwhiwliwthwlmpnilp, dhowagni)G L thnppwagn G wpdbpGhipp, dnGnunnlnipjul dhow-
Yuwjptpn L tpunpbdnudGtnp: Qwplnp £ Gl wqupgty $niGlyghwyh qunbhpp b Gpulw-
wwhywiiwl showlwpbpn:

f dmblihghwip qpnbikp Ynsgnid GG f (x) =0 hwjwuwpdwl monmibtpp: Gph
Xps Xy, X, pUtRG f Pmblyghwyh qunllipG GG, wuyw (xl; 0),---,(xn ; 0) ytwmbtinp pnly-
ghwjh gqnudbhyh L wpughultiph wnwlgph hwwndwb Yanbp GG:

"2 X dppwluypl wlijubinud k6 prilijghugh Gwlimwywhywbidub dhowluyp,
kplk wyn dhowljwypnid pnilifghwib plinnilinid b lnyyl Gwilih wpdbplikp:

Gpt i GyghwG nplt, Showwypnid npujui £ (puguwuww b), wuyw Gpu gpuibhly
wyn dhowjuwjpmud wpughultiph wnwgphg ytipl (Gippl) :

bnilyghwjh htmwgnuiwb nipughop, nputiu ulnG punuguwd £ htnbjwy pwj-
1tinhg.

o 1) quuliky pnilifghwgh npnydwbi phpnigpp b wpdbplbkph puqinipjnibip,

2) wupqby® pnilifjghwb wuppkpulw G L, pk ny,

3) wwpqky prilijghwyh qnijqnipjnilip,

4) npnpky prubliighuwyh gpuephlih b Ynnpphliwpughli wnwbgplbliph hwypilud
hlypkipp,

5) qupliky pnilijghuyp Grwliwmwwhwywlidwl dhowluwjphpp,

6) quuliky Ppnilijghwyh dnlinypnlinipjwbi dhowljwjphpp,

7) qupliky pnilijghwjh Epuppbdnidh Jhypkpp L Epuppbdnidlbpp,

8) Lpk pnilifghwyh npnydwli ppppnijpp punlugwo b dkl jud dh pubh dhow-

hwjpliphg, wwpqky pribghwh Jupplb wyn dhpwluwypkph owjpullipk-

phi dnplliwgpu:

OphGiwl 2: <tumwgnutlp f(x)z x? - 4|x| +3 $pmGyghw:
UyGhwjwm t, np D(f) =R : bnGyghw qniyq t, pwlh np

fl=x)= (—x)2 —4|—x|+3= x’ —4|x|+3 = f(x):
‘Lwhu nuuntiGuuhptiGp $niGlyghwbng pugwuwlub x -tiph giypnwd: Uyn x -tiph hw-
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Swp wyl hwdpGyand t x* —4x+3 punwynuwjhl townudhl, nph wpwwnGbpt b6
x, =1k x, =3:Lwlhnn y =x" —4x+3 wwnpuwpnih §ninbnG mynyuo GG ytip L ququi-
ph wpughul t° x, =2, htmbwpwp® x_ , =2 L
Voin = f(2) =—1: dbmbyghwG Gugnn k [0; 2] dhow-
Jujpni L wény [2;00) dhowuwypnid: <wpyh wnlb-
1ny, np pmGlghwi gqniyg k£ L f(0)= 3, unwlnu tlp
49-pn GHupnud ywunybpgwo qpubhlyp:
Ujuyhuny
D D(f)=R, E(f)=[-1:+).
2) pnlyghwl wwppbpuww sk,
3) mlyghwb qnujq k,
4) pniGlyghwyh gpubhyp YnnpnhGuwnwghl wnwlgpltph htinn hwnymud (— 3; 0) ,
(-1;0), (0;3), (1;0) u (3; 0) Ytuntipmy,
5) pmbyghwl gpuiul k. (—eo; —3), (=1;1) b (3; e ) dhowluwpbpmy, pugw-
uwul (— 3; —1) b (1; 3) dhowluyptipniy,
6) dnillyghwl wann L [— 2; 0] L [Z;oo) dhowlw)ptinnud, GJuqgnn’ (— o) — 2] b
[0; 2] showywypbipmu,
7) Epunptinidh YhntipG GG

X min =-2, X min =2 L Y min =-1; X max =0L Y max =3,
&) pniiyghw b Ytipbhg uwhtiwGuwthwy sk, huly thnppuwqniyG wpdtipp —1 E:

cd Swuljugli| Gp puup
.  0°nYtwnbpt GG wGJwlmd $mGYyghwh qpnGhp:

N°np dhowyuyptinG GG wGubinid $nGyghwyh Gpubuwuwhuyw il showwphp:
h°Gs pwyitinhg L punuguwo $niGyghwyh hbmwgnniw G npjughonp:

Qpubhynid hGswb°u £ npulinpynid niGyghwyh wuppbpuww GnipymGn:

Qpuwdhynid hGswtu £ npulinpynid mGYghwyh qniygnipymGn:

AQpuwdbhymd hGswybu Ga ngpulnpgmyd $niGyghwjh Grwlwwywhywiiwl howlwptipn:

S

A Unwouwnpuipiitip
Lbunwgnunt pniGyghwb L unnigh] Gpu gpubhyp (269-272).

269. w) f(x)=5-3x, p) f(x)=2x-7, @ f(x)=x+8, 1) flx)=—4x-1:
270. w) f(x)=3-x"—2x, p) f(x)=x>-3x+2,
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Q) flx)=2x>+x+2, n f(x)=x—x>-1:

_x-1 _2x-1,
)_x+l’ ) f(x)— x

272. w) f(x)=vx=3, p) f(x)=Vx+1, @ f(x)=3-3-x, n) f(x)="x—4-2:

273. {tunwqnuby 50-pn Gyupnid gpuphynptG mpgud pnilGyghwbhpn.

(o

271. w) f(x)=$, P f(x):%+2, a) f(

3 3

2 ' ,

:1 \

2 10| 1 3 x 100 1 2 x 210 x
) -2 2
3
w) r) Q)
L. 50

[Z  yplinue pui hunfwp

274. Uwlywwwnwuntigh 25 tptluwltphG pwdwlbghG 60 fuwnwihp, pnGn npod, jnupuwpuwly-
Jop wneljw niftigh dhy fuwnwihp wybih, pwl jnipupwlsynn wnwgh, huy ponp wn-
ohyGtnG unwguwl wjlpwl juwnuihp, nppw pnpnp nquGtpp: LwGh”® wnehy L pwlh®

wnnu Jup dwiuuyupubgnid:

275. MuwhyG hp 33 pnnGtphG L onnGiphl pwdwlbg 180 fuwnwihp wjlwbu, np jnipw-
puwiligynip onn unwguy kY fuwnuihp wytih, pwl jnipupwlsnip pnn: LwGh® pnn L
pwilh® onn mGh wwwhYp, tpt hwynGh b, np pnpnp dnnGipG uvnwgwl w)Gpwl fuwnu-
1hp, nppwG pninp pnnGpp:

§11. Rwljunpupd pnublighwb b ppu gpuplyp

Qhunwnpytilp D pwqinpjnilnid npnyuo y = f (x) $InGyghw G, nph wpdtipGtiph
whpnypp E -0 E: Gpwlwymd b’ E puqimpjulp wuwniwinn judwjwlwb y, Ytnh
hwdwn gnympjnil mGh wjGuyhuh x, o D puqidmpjnGhg, np

Fxg)=yy: (1

Gpt f PniGyghwG D pwqunipjul mwppbp Yembpnd plnnilnd E wmwppbp wp-
dtipltip, wyw (1) hwjwuwpdwlp pudupupnn x, Ytnp YihGh dhwlp: Uju nhypnod
Yuwutlp, np [ pnibijghwb tpnfushupdbp F D pwqidnipynilinid:
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51-nnp Gyupnd pipwo 66 [a,b] hwungwoh Ypw npnpdwd tpynt $niGyghwlhph
qpudhyltip, npnlighg wnwghlp thnfudhwpdtp k, huly ipypnpnp’ ng, pwth np tplpopn
InlGyghwl x;, L x, wwpptp Jhmbpmd plnniGnud E dhllnyl wpdbpp
f(x1) = f(xz) =Y

YA YA

),

- ,=x)=/(x,)
=

=

Y

=V

A -
»
X

0 a x=¢() x, b 10} a X, x b

) LY. 51 P

Gpti f -p thnfudhwpdtip £, wyw E puqimpjul jnipupwgynip y, Ytwnh (1) pw-
(wdlm] jhwiwwwmwufuwGh bh npnpwih x, phy D -hg, L dklp §mGhGwlp £ pwgq-
dnipjwl ypw npnpgud @ pniGyghw, npp yuljwltGp f -h hwjwnwps pnilifghu:

Jwliuwnunpd $mGyghwyh wpdtpp £ puqinipjul y Yhwmmd hwjwuwp t wyG x
puhG D-hg. nph hwdwp f(x)=y, wyuhlpl (ubu GY. 51, w) @(y)=(f(x)=x:

Gpt pnilGlghwl nGh hwunupd, wjG wGjuwlind GG hwjunupship:

<tpw £ mbiuGhy, np wyu nhypnid @ SniGyghwyh wpdtpGtiph puqinipniGp D-GL L
f PmGyghwG, hp htipphG, @ HniGyghwyh hwlywnupdG b, wyuhGpG f(e(y))=y Ju-
dwjwlwl y Ytmh hwdwp £ puwquinipynilhg: Nump wju ghiypnid wund GG Gul, np
f L ¢ pniGyghwGtpp shnuhwlmnups Ga:

Onjuhwljmnups pnilifghwmblibphg dEjh npnydwli pppnijpp djniuh wpdbplibph
puqinipynilili k:

OphGwl 1: y=x?, xe (0;2) pniGyghw wénn k: Lpw wpdtpltiph puqinpmbn
(0,4) dhowluwypl k: <bnlwpwp, wyG niGh hwjunupd npnyuo (0,4) dhowlupnid:
Jwluwnund $niGyghwjh wpdtipp (0,4) dhowlwjph nput y Yhmnd hwjwuwnp £ wyl x
pyha (0,2) thowljwjphg, npp puwjwpupmi bt x? = y hujuuwpdwln: Uyn pjp \/; -G
t, htmlwpwp® x = \/; : Uyuyhuny (0,4) thowlwjpmd wpjwd y = x> dnlGlghwjh
hwjwnwpén x = \/;, ye (0;4) $nGyghw t:

‘Ulwwntilp, np hwwnupd $pmGyghwgh' x = \/; pwlwdlnid wiywiu hnthnfuwju-
Gp y-GE, hul yuwhuywp x-p:Lwlhnp nplt $niGlghwih wiywiu thnthnfuwlwln unyn-
pwpwn Guluwyymit x, hul jwjujw) hnpnfuwyuip’ y, pigniGguo Ewub, np y = x?
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$niyghwjh hwljunupép y = \/; $nlyghw k:
Udthnthtyny, upnn Glp wuby’

N f hnjudhupdbp pnililjghwyh hwljunups pnilifghwdi quplikint hwdwp wib-
hpwdbyp k.

w) y=f(x) hwjuwuwpnidhg x -6 wpypwhwypky y-niy,

p) wpugyuo publiwzlinid thnjuky x-h Ly -h iphnkpp:

OppGwl 2: Yhnwnpytlp f(x)=x>. x€ (- 2,2) $nGyghw:

dnilGyghwjh wpdtpltiph puqinipymGnp [0,4) Gh- VA
owlwypl k, L (O,4)-hﬁ wwwwlnn jmpuwpwlsnin 4
y-h hwiwp y = x? hwjwuwpmi mGh (-2,2) dh-
owlwjphl ywwwmjwlnng tpynt wpdwwm x, = \/; L
X, = —\/; : dnilyghwl hwjununpdth st: 2

1-hG ophGuynid wbuwlp, np y = x?, xe (0;2)L | v =T
y= Vx, xe(0;4) $mbyghwbpp hwlunupd ba:
52-pn Gyupnd yuwnbpgwo 66 wyn $niGyghwbtpp
qpudbhyGtpp: Fdqwp sk mbully, np wjn gpudhybpp
hwdwswth GG Yy =X niqnp Guumdwdp: Mupqynd k,
np plinhwGpwytiu

== thnjuhwlwnups prililghwblph gpuphllbpp hudwswh b6 y = x nin-
nh Ghwpdwdp:

y=x? T

cd Swuljughi] Gip puup
. 0°n $mGYghwa k Yngynd thnfushwnpdtp:
2. bh°Gs £ hwunupd $mbGyghwb, L n’p $mGyghwlhpnl niGEG hwunupd:
3. Om°Gp &G f $mGyghwjh hwwnunpd pmGyghwih npnpiwG whpniypp L wpdbplbph
pwqunipynln:
. byt u bl qubnmy £ PniGyghwih hwunupd $nilGlyghwa:
5. Pl Guy Yu mbyghwih b hp hwlwnwpdh gpuiphlyGtiph dhel:

Z Unwownpuipiikip
Qan(ty pniGyghwyh hwyunwpén (276-277).

276. w) y=2x+5, p)y=x, @ y=3x, n y=+5x-2:
277. w)yzx_;o, xe(O;l), p)y=%, xE(O;OO),
X
q) y=x", xe(O;oo), n y=x"*, xe(—oo;O):
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278.

279.

»>280.

281.

282.

* 283.

Yhgmp @ pmllghw (a,b) Showluwypmd wipgwo f prubyghuwh hwlwnupad t:
Qunlby @(t,) -0, tipk’

w) f(x)=x>-5x+6, (a,b)=(3:5), 1,=2,

p) f(x)=x"=2x+3, (a.b)=(-o0;1), 1,=3,

@ f@=2x+3, (a.b)=(0;10), 1,=7:

x -h n°p wpdtipGtiph hwdwp & 6hpum hwjwuwpmpjmGn.
w) ({x) = m Y =1, @ () =x.
) (%)4:)“ h)‘\‘/x_“:x, Q)W=—xi

Uwywgnigh, np’

w) £ qniyq Pmbyghw hwhwnupdbih sk, ipt D(f)# {0}

p) hwwnwpdtih YaGum $mGyghwjh hwwnupép YeGn pmbyghw t:
ax+b

cx+d
hwwnundp GnyGuybu ynnnpuugdwhG $niayghw t (¢ #0, ad # be):

Yunnighy dniyghwjh L hp hwwnwpdh gpuebhytipp.
w) y=x>, xe(0;3), »y=x>, xe(-3;0), @ y=x, xe(-22);

Uwwgmghy, np y = Ununnpuyuwqowjhl pniGlyghwl hwluwnwpdtih & L Gpw

hGswhup®G £ wyG $niGyghwyh gnudhyp, npp hwdpGylGmd E hp hwuwnupdh: Rtptg
onhGuyGtp:

=,

»>284.

»285.

Yplime i hunfwip
Bntip pytip, npnlg gnidwpp 12 £, juquinud 66 pyupwluul ypngptiuhw: Gpb Gppnpn
phyp thnfuwphGhlp 8§ -ny. wyw Yumwgyh tpypwswthwlul ypngptupw:
G-ty wyn pybipn:
Qb x-h wyl wpdbpp, nphntiypmy x, 3x+1, 12x+ 0,5 pytipp juquinid &G bpypw-
swihwlwl ypngptivhw:
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I

(3 uhtt wpgmiabkmp Gnwaljyne-
twguwthwljut pnaljghwbp b
Enwilpnuinuywhwljuwis

hwy wuwpnudip

§1 U]nﬁnlu |1 nupbnuu q)nlﬁllgllluﬁlillll
huwmlmpymGahpa v qpudplihpp

y = sin x pnilghwb: Yhmwpytlp y =sinx dniGyghwa, nph wpdtipl x Yhnnd
x nunpwl yundwl wiljuwb uhGnul k: UpnkG ghwnblp, np’
1) uplintup npnpdwli phpniyypl wdpnyo pywjhl wnwligpl b, hul] wpdbplikph
puwqunipjnilip’ [—1;1] hwpjwop D(sin)=R L E(sin)= [—1; 1],
2) uplintup Yhliyp L 27 -wwppbpuwljub pnilifghw L,
3)sinx=0, hpp x=nk, ke Z:
Luwbh np uhGnup gpuwt £ T G I punnppGipmd U puguuwyua M L IV
pwnnpntpnid, httmlwpwp’
4) sinx >0, kpp xe (2nk; ©+2nk), ke Z,
sinx <0, kpp xe (v + 2nk; 2n+2nk), ke Z,
5) uplintup dkiowmqnijl mpdbpp 1 L plin npnid,
sinx=1, kpp x=§+2nk, keZ,
6) uplintup thnppwqnijl wpdhpp —1 k, plin npnid,
sinx =—1, kpp x=—§+ 2k, ke Z:
Ujdud wuwnqtilip uhGniup inGnunnbnipjul dhowlwyptinG nt tpunptdndGtipp: Gph
o, L o, pybipp wwwlwlnd b6 [-7/2;7/2] Showwjphl L o) <0,, wwyw
sino, <sino, (Gl. 53):
Ltwmbwpwp® [-7/2; 1/2] Showlwjpnid uhGniub wénn b <wpyh welkng, np uhlniup
2 -yupptipwiud $niGhghw t, vnwlnid Lap

T T
7) upliniuli wdny b [— E+ 2mtk; E+ Zﬂk], ke Z, dhpwljuyphpnid:
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VA VA yl\

sino, Sino,

. (X2
sin o, o
o\ 2
O ; 0 a] X
sina
‘Ldwb duny Junwlwbp®

3
8) upliniup lijugny b [§+ 27k 71t+ an], ke Z, dhowljujphpnid:

UhGniup 5-pn L 6-pnp hwwnynipyniGGtphg hbmlmd b, np x = g + 1k, ke Z Ytwnbtpp

Epumptiinidp Yhwnbip GG: buy 7-pn U 8-pn hwnynipyniGGhphg htmbnud t, np uhGniuG
nipp) Epumpbtdnidh Yhwnbip yniGh:
Ujdd unmgtGp y=sinx $niGyghwjh qpuphyp: Lwlh np sin(xmw) =sin0=0,

. T . T
sin—=1, sin| —— |=—1, muwnp’
2 2
. L
(_nao)a 2’ s (0,0)7 2’ s (TC’O)

Ytwbnp wuwwuuwlnd GG uhlniuh gqpubhlyhb: Uyn yanbpl wiplinhwnmnptb thwglbny b
hwpyh wnGtiny 4-pn - 8-prp hwwnynipjniGhatipp, junwGwlp uhGniuh dnnwynp qpuphlyn

[- ; ©] minuiwumy (6. 54):

ylk
y=sinx
1 an
2 2 / _
7on 3 -m 0 m n\Vzn X
2 g2
Ll 54

<wyh wnkny, np uhGniup 27 -wwppbpuwlwi $niGyghw t, [- w+ 27k; T+ 27nk],
ke Z, mtnuiwubpnid Gpw gpudbhyp unwlwine hwiwp wlhpwdtyw b [- ;] nb-
nuiwund unwguwd wwwybpp 27k -nd mbnuwnpdtp wpughuGtph wnwgph iplu)G-
pny (GY. 54):

y = cosx pnmlijghwli: ‘Gdwl duny Yupbih & yuenigl] Ynuplniuh gpubhyp: Uw-
QuyjG wjyl Gupbip t juomgl) Gub’ bGeny y =sinx $niGyghwjh qpubhyhg: {wiw-
dwyl pipdw6 pwlwdlp’ cos x =sin(m/2 + x): <kwmlwpwp’ y = cos x Pnillyghwh qpuw-
$hup Yunwgyh  y=sinx pmlyghwjh qpuphyp 7t/2 Shunfnpny dwfu nbnwywp-
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dtny (GY. 55):

VA
1 y=sinx
PN y:COV PN 3_75/\
e N d N
7 N e N 2 4
om amN\_-mf~_ /. o & nf S2m T x
-2_ \\ 2 // 2 \\ //
-1

Ul 55

OJunpytlp YnuplGniuh hwnynipjniGGtpp.
1) fnupliniup npnydwl phpniypli wdpnne pyjwjhli wpwligpl b, hul] wpdbp-
Ghph pwqdnipynilip [—1; 1] hwpjuop
D(cos)=R, E(cos)=[-1;1],
2) fnupliniup qnijq b 27 -wuwpphpwlub pnibilghw b,
3) cosx =0, kpp x=g+nk, keZ,

4) cosx>0, kpp xe (—n/2+ 2nk; ®/2+ 2nk), ke Z,

cosx <0, hpp xe (7/2+ 2mk; 3n/2 + 27k), ke Z,
5) fnupliniup dhowgnijli wpdhpp 1 L, plin npnid,

cosx=1, kpp x=21k, ke Z,
6) fnuplintup thnppwqnijl wpdbpp —1 L plin npnid ,
cosx=-1, tpp x=m+2nk, ke Z,

7) Yynupliniubi wany b [-n®+ 2nk; 2nk], ke Z, dshowlujpbpnid,
8) fnuplintup Gjwgny b [2nk; ® + 2nk], ke Z, dhpmlmyplpnid:

LhpnuGuly wwmuinudGhp: RGnpjwl dbe L wbuGhyuymd puqiwphy tplnyp-
Gtp niGbG wuwppbpuyuwl pGnyp, wjuhlpl’ npnpwyh dwiwlwjuhwnwohg htin
Upyhynid £ wpnbib junwpquop: OphGwly” tpypwglnh’ hp wewGgph znipgp wuntjnh
httmlwlpny hpwp GG hwonpymud qhptinl n gbptyp, huly wpkquyh 2nip9p wwnijnp
htinmlw Gpny wikG mwnph thnfuynid GG mwpyuw tnu Gl Gepp:bbpphl wypdwb pwpdhgh
Utungltipp, wppbpwpwn pwpdytny, Jupddwl dbe GG nlnud dtptlwjh wihyGhpn,
nnnlp ty, hptlg htipphG, juwnwnptny wuppbpwlwb pupdnid hptilig wnwlgpltph pnip-
on, Utiptilwl wowy b6 Unnid: Mwppbpwiwb pwpdnid L junmwpnid Guwb SndwGuyp:

Mupptpwyw tplnyplph GQupugpiw b ntuntdGuwuhpiw G hwdwnp pwguehy Gyw-
Gwynipjnil niGtG uplGniu L YnuphlGniu pniGlyghwblbpn: Atpklp dGY ophlGwy:
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Qhgnip Gynipwuwl fhnlG @ hwunmwwnnil VA
wyyniGuwjhl wpwgnmpjudp pwpdynd kb A jw-

M, E
nuinny 2pgwiwgdh Ypwjny, wjuhGpl” dhunp dw- / W)
Jwlwlnid Jhunp gomud £ @ nwnhw6 wntn: Glipun- D 0
nhlp” wyn ppowGwqoh YubGwmpnlp YnnpnhGuwwmwjhG E 1 B

hwppnipjul uyqplGuytmnid, L dwdwlwyh =0
wwhh( YnG M, nhppnud t (GY. 56): FwiwGwlh
¢t wquwhhG powGwqoh Yypw Gnipwyub Ytwh nhp-
pp Gpwlwyblp M, -ny, hulj M,-h wpughup L op-
nhGwunnp, hwiwwywwnwufuwliwpun, x(t) b y(t):
Quntbp x(t)-h b y(t)—h thnthnfutwG optlpp: Lwlh np Yhwnp pwpdynd £ @ wi-
niGwyhlG wpwgnipjudp, niptdG ¢ dwiwlwljwhwnjwontd wyl juyumwyh Of nw-

=
[~
p——
/s
o
=Yy

LY. 56

nhw(iny: Glipwnptlip® ZM ;OB = ¢: U niypnud OB wnuwhnp ©f + @ nwnhwling
wwnwntijhu fhwjnbyh OM, nhppnud: <twmbwpwp’ OM, wnuwynp b dhwynp 2powGw-
qoh hwwndwl D Ytwh wpughul nt opnphlGwwmp, hwiwwwwnwuppwlwpwn, YhGka
cos(w? + @) L sin(w? + @) : Oquytiny ODF L OM ,E tnwGlmGGph GiwGnipyniGhg’
unwinud tGp

w) x(t)=Acos(wr+@), p) y(t)=Asin(wr+@): (1)

Gnp Ytwmp wunnynud £ powlwqony, Gpuw wpnytighwl wpughultinh wnwlgph ypw
nwwnw lynud £ wyn wnwlgph [— A; A] hwwnywonwd: CG6n npnud, wyn ypnyghwjh pwp-
dnuip mpynud £ (1, w) pwlwadlny:

{wlgnilnpkl, powGwqony pwndynn Yaumh wypnjtlighwb opnhGwwmbbph wnwlgph
Ypw Juunwpnd £ nwnwlndlGep pupdybing pun (1, p) pwGwdébh: Liwl nwnw-
(nuiGtpp Yngynid GG Gepnu) Gwl mwnw intdGhn:

Y4 Lhppupliml pupwbnidlkp b6 Gnsgnod (1, w) Qi (1, p) opkliplikpnyg
Quapwpynny pwpdnidlibpp:

A ppylG wlywlmd &6 GhppuGuwl nwnwliwl wdyppnig (gniyg L mwihu
wpughultinh wnwgph Yypw Yenh wpnjtyghwjh wnwbjugny b ptnnudp dhohG nhpphg):

-6 Ynyymu b whlilynilimjhli hwdwpwlwblinipynifi. wjG gniyg & mwihu, pt pwGh
by mwwnwlnyd £ junwpnd Yiwh wypnjiyghwd 27 Shwynp dwdwlwlynid: bpnp,
pwlh np Jhwynp dwiwluwynid Yhwnp qond ' © nwnhwl wntn, wyw 27 Shuynp
dudwlwynid wjyl Yqoh 27w ® nwnhwl wnbn, wjuhlpl Yhwp Yywumwnph O phy
wunnijwn, hull Yhnh ypnjtiyghwG juwmwph o mwwnwlnid:
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¢ phyp npnpnud £ Ytwh uyqpluyul nhppp (£ =0 wuwhh) L yngdmd & ufqplwlub
thnij:
Ujdu hwidnqytilp, np (1, w)-G n (1, p)-G, pun tnipjwd, GnyyG ubnGG GG: bpnp

x(t)=Acos(wr + @)= A sin(mt + ((p + gD :

UyuplGpG™ (1, w)-G (1, p)-hg mwpptipynud £ dhw) uyqplwlyw thnyny:
‘Lhpnup Gwy mwunwiiwl qpudhyl wiqulnd G0 wpbniwnpy: Uwuluynpuybu
uhGniunhn GG uhlniu L YnuplGniu pnGlyghwlbph gpudbhyGlpn:

cd Swuljughi] Gip puup

1. ©OJwnpytp uhGniuh hwwnynipynGltpp b junngtip gpudbhyyn:

2 OJunpytp Ynuhlniuh hwnynipyniGGtpp L unnigtip qpudbhyyp:
3. 0°pGt Gepnw Guly mwnw w6 optbpn:
4

Npn°Gp GG Ghpnup Gul mwnw w6 wdy hunmgp, wiyniGuihi hwdwhuwwlnipniln
L uyqpGuywh thnyp:

A Unwownpuiipibip
Qb pniGyghwyh npndwl mhpniypn (286-287).

286. w) f(x):sinx’ p) f(x)= _Smx, Q) f(X)=COZSXa
1) f(x)— i 1 ) f(x )_sm i1’ O f(x)== osx+1
287. w) f(x)="5vsinx, P f(x)=v—cosx+3, q) f(x)=\/1_,
COS X

2
1) f(x)zm, »t) f(x)=+sinxcosx ., »q) f(x)=+vcos’x—sin’x:

288. “Fwuwynpt] wmaviwd Jupgny.

w) sinl5°, sin(—15°), sin75°, p) cos22°, cos75°, cosl45’,
T T i .St . 4m . owm
q) cos| —— | cos| —— | cos—, n) sin—, sin—, Sin—:
13 9 5 3 3 5
289. Qb $nilGyghwjh Epumptidiniih Yantipp L EpumpbidnidGhpn.
. T
w) y:sm(x—g} p) f(x)=cos2x,
q) f(x)=1-sinx, 1) y=sin’x:
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290.

291.

GGty nilyghwjh vtowgniyl L thnppwagni) G wpdtipGpn.
w) y=sinx—1, p) y=cosx+1,

Q) y=2-3cosx, ) y=4+5sinx:
Quuihnfutiiny y=sinx Juwd y=cosx dniGyghwjh qpubhlp, Yunnighy mpjuo

dnilyghwjh gpuphyp b G2t hwnynipymGatpp.

x
w) y=sin3x, p)y=-—cosx, q) y=3sinx, 1) y=20085:

»292. QuGh Ghpnu)Gwl nwnwiiwl wiyhunnmp, wilyniGwjhlG hwdwuwwlnipynilp L

uyqpGuluG thnyp.
n =—sin| Z—x
T . [T X
9) y=-3cos| 2x+— | 1) y=35sin| ——= |
4 3 2
[ yplyinue i hunfwp
293. Udnn pyupwlwlul ypngpbuhw Juqinn tpkp pytph qnidwpn 42 t: Gpb wyn pytiphG
huwiwyuwunwupwliwpwup wybuglttp 1; 1 L 21, unwgywo pytpp Yhuqika
tpypwywthuywl wpngptiuhw: Fwh] wyn tpypuyuhuyul wpngptuhwh Gppnpn
wlinuuin:
294. Gptip pytip, npnGg gnuiwpp 30 b, juqinmd GG ngpujuwl mwpptpmpjudp pupwiulwi

wnngptuhw: Gpb wnwehl pyhg hwtlp S, hul tpypnpnhg™ 4, wuw unwgywo pytpp
Yyuwqutl tpypuwswhwiuwl ypngptivhw: Gt mpjwo pytpp:

§2 Suwliqgkfu b nmuwbqkbu $mblghubkph
hmmllnlpsnlﬁﬁlipﬁ nu (}qu)llllﬁlipn

= tg x pnlijghwb: {Gmwgnunbtlp y=tgx $niGyghwd L yurngtlp Gpw qpu-

dhyp: Ghwntilp, np mwbghGup T -yuppbpwwi b YaGn pnbGlyghw k: Ghnblp Gul, np

T
tg x -p npnpywd Lk, tpp x¢5+1tk, ke Z:

UnnpphGwuwhG hwppnipjwG ypw YyupgGhlp dhwynp ppowlwghop b x =1 niqhnp

(GY. 71): *hgnip ye (—g,g] L OA uljqplwlwi pwnwyhnp y wilnilny yuwnbihu
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qpuynid & OB nhppp: Rwih np ACBO ~ AADO L AO =1, ntunh
p=AD _BC_

AO CO
Uyuwhuny® tpti OB dwnwqujpl OA -h htim juqinud £ Y whlynl, wyw OB -G
hwwnnmd & x=1 ninhnp (1; tgy) Yhwmnd: Uju yuwwndwony x =1 ninpnl wijwlnd b6

tgy:

pwliqkliulikph ninhy: VA
Ujdu, tipti ytingGtip yuiwjwwb ¢ phy b x =1 nin- gy D
nh M(I; a) Yhwnp Shwgltlp O YtwhG (GY. 57), wuyw B
unwgywd B yunndwl wiljul nwbqbbup YihGh a L x=1
LAY . VY .
Be(—a,a). Vywlwymd £ juiwjwwl a pyh hw- 0 J\Bj Vi
T T AN
u GniG G - = tgf=a:
wp gnjnipjnil nGh wyluhup Be 55 gh=a a oy
Pwgh wyn, hGsytu htipm £ mbull) qowqphg (ntu GY.
58), tipti —g<0¢<[3<g, wyuw tgo<tgP: Wyuyhuny' Ll 57
T T
wnwlqbbup (—E,E) vhowlwjpnid wdénn £ b wyn dshowluwypnid plnniGnid E jnipw-
pwfyjnip hpwlwl wpdtp E(tg) =R: VA
Lwih np tg0=0, tgﬂzﬁ, th=1, th:\@, tgp
6 3 4 3 x=1
mpbdl htnlywy janmbpp quwnwlnd 66 mwlqtluh qpu- tgol
BhURG: .

=y

0]
(0;0). E;ﬁ 1S [543
6 3 4 3 )
Lwwbtbp Gwl, np pp x-p Snnblnud b /2 -hG, Gpu-
Ghg thnpp BGwny, tg x -p punlnid b §6o Guwfuopnp mpywd Ll 58

T
Judwjwlwb pyhg: Qwpyh wnltmny Gul, np mwbqbiup [O; 5) dhowlwjpnid wénn k,
wyn mbnuiwunid mwGqblGuh qpuphyh hwdwp vnwlnd GGp GY. 59, w-nd wwwnykip-
Jwo qhop: Lwlh np mwlqhGup YhlGn b w-wyupptpwlwb $niGyghw t, Gpuw gpubhlp
YihGh GY. 59, p-nid wwwmytpjwon: Uyuyhuny
1) yuuliqghliuh npnpdwli ppppniypp (— g + 7k; g +7nk |, ke Z, dppwljuyplph dhur-

ynpnudti E, pulp wpdbplikph puqimpynbp E(tg)=R,
2) ypulbiqkliup Yhliyp b 7 -wwppbpuwlwb pnilijghw k;
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&I

[
a
S
QS
- \_
=V

1 -
J3/3
(O 1119 X
6432 ! 1
y=tgx y=tgx
w) Ll 59 P)

3) pubiqhliuh quuphlli wpughubbiph wrwbgpp hwypnid b (1k;0), ke Z, jb-
iplipnid,

4) tgx >0, kpp xe (nk;®/2+ k), ke Z,
tgx <0, kpp xe (- /2 +mk; k), ke Z,

U T

5) pwlbiqhliuli wann (—E"'T‘k;E‘Fﬂk), keZ, dpowluypbphg jnipwpwb-
gnipnid (GuwnbGp, np sh Jupbih wub], pb mwlqblul wénn $nilGlyghw k),

6) ypuliqhliuli Lpuppbdnidp flpkp snilip,

7) kpp x -p dnypklinid | g+ Tk, ke Z fhphl swpupg, tgx-h wpdbplikpl wi-
Ylipg dkowlinid ki, pulj wphg dnipklimjhu tg x -p, plinnilikiny puguwuwlud
wpdbplikp, wlykpg lGjuqnid F' sqipkiny — oo -h:

y = ctg x pnlihghwl: Lwlhnp ctgx=— tg[g + x], nwunh y =ctgx pnilyghwjh

qnudhyp unwgymd &y = tgx pmbyghwh gpubhlyn mt/2 dhuwnpny dwfu wbnwpwp-
dtiny L wpughulbinh wnwgph Gumdwip hwiwswih wpnwwywwnybtptng (GY. 60):
UnunwlqtGub niGh htnbyw) hwnynipniGGepp.
D) hnpubiqlliup npnyimb yphpniypp (ks ”+7k), ke Z, dhowluplph dhuw-
ynpnutl E, pul E(ctg)=R,
2) §nypwlbiqkliup Jhliyp L 7 -wwppbpuwlwmb pnilijghw L
3) jnypuliqhlivh gqpuuepplip wpughuliliph wnwligpp huspnud b (g + Ttk 0} keZ,

hlayplpnu,
4) ctgx >0, bipp xe (nk;”/2+7k), ke Z,
ctgx <0, bpp xe (n/2+mk; T+ 7k), ke Z;
5) §nypmbiqhliup Gjmqny b (vk; m+ 7k ), ke Z, dhowluwyplphg jnipmpwbisyni-
paid (uwwjG sh upbh wub], np ynnwbqbtiGup Gyuqnn $nilGlyghw k),
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6) fnypwlbiqkliul tpuppkdnidh Yhypkp snilip, VA
7) kpp x -p dnypkblinid bk, ke 7, fhphl
whg, ctg x -h wpdbplikpli wliyhpy dhow-
lnud ki, hul] swpupg dnpklimghu ctgx -p,

N ———

plinnilikyny puguwuwlpul wpdbplikp, lijw- A ? 4 NG >
quut £ 5quubqni] — oo - X 2 '
[
y=tex |
-

vy 60 VTCEY
cd Swuljuigli] Bp nwup

1. Muwuybptp mwlqbtlGuh qpudhyp b pyunytip hwnynipjniGGtpn:
2. By mwGqtbuh qpubhyhg yuwmybptip Yynnwlqbluh qpubhyp:
3. OJupytp YynnwlqbbGuh hwnmynpmGatpp:

A Unwownpuiipibp
295. Quunhnfubiny y =tgx Yud y =ctgx dnilyghwjh qpudbhlyn’ junnigh mpjwo Hnily-
ghwjh gqpudhlyp b G2k hwwnlnipmGatpp.

w) f(x)=tgx—1, P flx)=1-ctgx, Q) f(x)=ctg(x+g}
) f(x)=tg(x—§), B f ()= et @ f(x)=tg24]:
296. Fwuwynpty Guquiwb upgny.
w) tg43°, tg73°, tg(-50°) P) ctg72°, ctgl3, ctgl07°,
2n Sm 61 i T r
tg—, ctg—, ctg—, —, tg—, -—— |
q)CgS ctg—-, clgg I})tgg tg7 tg( 9)
»297. Qb $niGyghwh npnpdwl whpnyypp.
1 2
w) f(x)_tg_x’ p) f(x)—@, Q) f(x)=+—ctgx,
1 1
=4/t ) S(x)= = :
) f(x) gx, ) \/Tgx’ Q) f(x) \/@
»298. Ltwnwqgnubi $nilGyghwb L junnigh) Gpuw qpudhlyp.
s
w) f(x)=ctg(§+§), ) f(x)=tg(x+zj, ) f(X)=Ctg%¢

[ yplinue pui hunfwp

»299. Lwulh® dwdnid htowGynpyp YubGgGh 84 Yo, tipk Gw wnwohl dwdmd wigimd t 154y,
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huy jnipupwGyynip hwonpny dwdinid” 1 Yu-ny wwwu, pwl Guhunpn dwdnud:
»300. A-Gugpl wnwohl dwinmyd whglnid £ S04y, phuy jnipuwpwbsnip hwonpny dwdnid’
2 4u-ny wykh, pwl Guiunpn dwinid: LwGh® dwdnid qGugpp ubglih 1470 y:

§3 fa\lun wpljupbonuap, wplnupbnoap,
ulpllmulﬁ(}liﬁun L mpllllnmwﬁ(}liﬁun

Upljuhtnue: UnnpphGuwumwjhG hwppnipjw ypw nh-
wnwpyblp dhwynp ppgwlwghop b y=a ninhnp
(Gy. 61): Mwpq L, np tph |a| <1, www wyn mnhnp hw- - 2o S T
und & EAF Yhuw)powGwqhop dhwy B Ytwnid:

T T
Lowlwynd k [— E > §:| Uhowwjpnid qnjnipjnilG niGh
dhwy B phy, wyGwhuht, np sin B =a : Wy phyl wijw- -
(nwd 66 ¢ pyh wpluhlniu b GQuwGwynid” arcsin o : Ul 61

b\ /
e

a pih wplufilinie Gngind t [—gg] hwpuoh wyl phip, nph
upliniuli a k

Muwpg k, np arcsin a -G npnpywd £ Shwjl wjl niwpmd, tpp a € [-1; 1], hwjwunwy
ntwpnd (la 1> 1) gnympyniG sniGh phy, nph uhGnuG a t:

T T
OphGuwy 1: QnGkGp arcsin%-p: Cum uvwhdwGiwG' whwnp £ qubhip [—E,E}
hwwuwoh wjG phyp, nph upGniup 1/2 t:

T T T .o 1 . 1
Lwlh np ge — 54| L sSim—=— "mpbil arcsmE:g:

Oquytiny uhGniup YhGunipjniGhg, yupbh L wyugnigty, np

E-: arcsin(— a )= —arcsina : j

Onphiwy 3. arcsin[— %j: - arcsin% = —g , arcsin(—1)=—arcsinl = —g :

UnYyynuplinie: GnnpphGuumwjhl hwppnipjwl ypw nhnwpytlp hwynp ppowiw-
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qhop L x=a nighnp: Nwpq t np bpb fa] <1, wwyw
x =a nnhnphwumd &t FEA Yhuwppowlwaghop shwl
B Ytwnd (GY. 62): LoywGwymd £ [0; 7] Showluy- L,
pnid qnynipjnilG niGh shwy B phy, wjGyhuhG, np
cosP=a:Unphy6wijubnitl ¢ pyh wpyynuhlniu

L Gpuwlwynid’ arccosa :

j<ae [—1 1] pih wphhnupliniu §ngynid E [0; 7] hwypwoh wyl php, nph
nupliniun a k:

n J_

V2
OphGwly 4: arccos —== ., puuﬁh np Ze [0; 7] U cos= i

4
Oquiytny cos(m — x)=—cosx (inyyGnipyniGhg’ Yunpbih L wywugnigty, np

E-: arccos(—a)=m—arccosa : j

OphGuuly 5: arcco —ﬁ —n—arccosﬁ n—E—E
phGuwl 5: 5 5 e JA ,y=tgx

m T
Uplpnuwlighliv: Stuwlp, np wmwlqtGup (_E 5)

vhowlwjpnid wdnn £ b plnniGnud £ juiwjwub hpw- a

Juwl wpdbp: <bmbwpwnp' judwjwlwi ae R pyphw-

2
TI T _
Uwp qnjnipjnil niGh shwy 5 phyp ( 35 ) thowlw;- O b=arctga

pmd, nph wwlqblGul a £ tgb=a (GY. 63): Uy phya
wijwlinmd GG ¢ pyh wpymuwbqtlu L GuwlGwlyniy’ Ul. 63

ST ]
a

»
>
X

arctga:

NI

TC 9
r= a pih wplpmbqlibu Ynsgjnid | ( 5’ 2) dppwljwyph wjl phyp, nph
pwliqkliuli a L:

4 2 2
Oquytny mwGqtbup YbGwmnipjniGhg™ Jupbih Luululgmghl, np

E‘: arctg(—a)=—arctga : j
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OphGuwy 6: arCtg1=Z,pmﬁh np —G(—— —) L tg—=




OppGul 7: arctg(—l):—arctglz—g, arctg(—\/g):—arctg\/_:—g;
VA

UphynunulighGu: Lwih np Ynnwlgbbup (0; ) Gh- y=ctgx

owlwypnid Gyuqnn kb pnynilGnd £ judwjwlul wpdtp,

niptdl yuwdwjwlywl a -h hwdwp gnynipynil niGh shwy b
b=arcctga

T

phin (0; ) Showhw)phg, nph YnnwlqtGup a t ctgb=a  —
(GY. 64): Uyn phyG wlywlnmd GG a pyh wpyynunuwblqtiGu L

»
>
X

(ST}

Gpwlwynu” arcctga : Ujuyhuny’

LY. 64 |

y< a pip wphlnypubqbbu hnsgnid b (0;t) dhpwluyph wyh ppdp, npp fn-
pwliqkliup a L

T T
Ophtwl 8: arcctgv/3 = pwlhnp € 0; 1) 1 ctgg:\@ :

Oquytiiny ctg(m— x) =—ctg x GnyyGnipjniGhg’ Junptih L wwywgnighy, np

E-: arcetg(—a)=m —arcctga : j

Opptiwy 9: arcctg(— \/§)= T— arcctg\/g =7 — g = %t .

cd Cwuljuighi| Gp nuwup
1. UwhdwGbp arcsin a -G: N°p a -tiph hwiwp twjl npnpqwo:

2. hGsh” E hwjwuwp arcsin(—a)-G:

3. UwhdwGbp arccosa -G: N°p a -tph hwdwn E wjyG npnoywo:

4. bGsh® L hwjuwuwp arccos(— a)-G:

5. Bh°Gs £ pyh wpyunwbgbGup, L hGsh® t hwjuuwp arctg(— a) -G:

6. B°Gs Epyh wpyynunwbqbGup, L hGsh” t hwjuwuwp arcctg(—a)-G:

£ Unwownpuiipiitip
301. LpwgGb] wnyniuwyn:

a 0

R[S

Gl L] &
2 2

ol

1
2

arcsin a

arccosa
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GGt wpumwhwjnnipjwl wpdtipp (302-303).

302. w) arcsin O + arccos|1,

q) arcsin% + arccos% ,

303. w) arcsin(— %J+ arccos (— % }

q) arccos| — ﬁ + arcsinl ,
2 2

p) arcsin 1 + arccos 0,

1 1
arccos — — arccos | — = |:
) 5 ( 5 )
p) arcsin(—1)+ arccos (- 1),

n) arcsin(— %)+ arccosg :

304. hiwuw niGh” wpyynp wpmwhwjnnipjniGp.

.1 .
w) arcsmg, p) arcsin
305. Uywgnigt] hwjwuwpnipjnilp.

1 (1
L -~ |=0,
u1) arcsin 3 arcsin 3

J3-1
2 b

J3+1

2

q) arcsin

p) arcsir(\/g - 1)+ arcsir{l - \/5) =0:

306. hiwuwm niGh® wprynp wpnmwhwjmmpjmGp.

w) arccos\/g ,
307. Uywgnigtiy hwjwuwpnipjnilp.

P arccos(\/g —5),

q) arccos2 :
3

2 2 1
w) arccos— + arccos| —— |=T, 0] arccos(2 - \/§)+ arccos =T:
3 V542
308. Q-wunlb wpmnwhwjnnipjul wpdbpn.
arcsin ! + arccos ! n 23 +
— — arcsin — + arccos —
w) > 2 P) > n
V2 .
q) arcsin 72 + arccos 72 , n) arcsin 1 + arccos1:
309. LpwgGb) wnniuwyp:
a 0 V3 | B - B NE)
3 3
arctga
arcctga

310. Qunlb] wpnwhwjmnnipjwl wpdtipp.
w) arctgl — arctg NG} )
q) arcctg 0 + arcctg(— V3 )

b) arctg g —arctg0,
112

P) arcctg(g )+ arctg(— \/g ),
n) arcctg(~1)— arctg[— ﬁ J

3
Q) arctg(— V3 )— arctgl:




311. Uwwgnigh] hwjwuwnpnipjniGp.

w) arctg 7 + arctg (— 7): 0, p) arcctg(\/g - 5)+ arcctg(S - \/g)z T,

2
Q) arcctg(l—\/§)+arcctg[ﬁ+J=n,q) arctg(l—ﬁ)+arctg(ﬁ6 Jin
+

[ yplinuepwis hunfwp

»312. Lniot] hwjwuwnpnidp.

x—2 x—-2 2 7
w +9,/[/—= =10, NAx+5 - ==
AT Y Jaxvs 3
»313. Lot hwdwlwpgp.
x4 xy=-2 {(x— y)xy =30
) yi+xy =3, P) (x+ y)xy=120:

§zl qlulpquu}nlsﬁ linluﬁl“nlﬁulzuuluullulﬁ
hujwuwpnuiGhph modwb pubwdbbpp

Uju wuwpwgpuonid dklp Ynioklp
sinx=a, cosx=a, tgx=a L Ctgx=a
wwpqugnijl nwbljniwswhwluwl hwjwuwpnidlikpp:

1. sinx = a hwjwuwpdwl pomudp:

Lwlh np uhlnub wpdtipGtp L plnniGnid ShwyG [— I; 1]
dhowlwjpnid, nipkdd |a| >1 phypnd sink=a hwjwuw-
nnuiG wpdwwn sniGh: C B

“huwpytlp @ =1 nbypp: Uhwynp 2pgwlwqoh ypw
dhwy Ytwp, nph opghGwwmp 1 L, E(0;1) Yt k (GY. 65):
Vywlwlynmd t” sin x = 1 hwjwuwnpnipjnilp Shpwn k, iph OA
ulqpGulwui pwnwyhnp x nwnhwb wywuniyynhg hivn gpu- LY. 65
Unud & OE nhppp: L<Gwmbwpup’

=V

o sinx =1 hwijjwuwpdwb jnionudl F
x=§+21tk, keZ: (1) )
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<wgniGnptG Yupnn GGp hwingyby, np

o= sinx =—1 hwjwuwpdwb jnionulli F

x=—g+21tk, keZ. 2)

Ujdu tGpwnnptiGp |a| <1:9hgnip Shwynp oppwlwghop i y = a ninhnp hwwnynid GG
B UL C Ytwmbtpmud (GY. 65): sin x -p YihGh @ dhwjG wjl niypny, ipp 0A uyqpluywb
2wnwyhnl x nwnhwl wiyyniling yuwnbihu hwjnlyh OB Ywd OC nhppnid: Lwiw-
dwyl wpluplniuh vwhiwlGiw G w)G fhwymGyh OB nhppmd, tipk x = arcsina : hulj tph
x =71 —arcsina , wyw Junwgyh OC nhppnp:

Lbumlwpwnp® 0A ulqplGuwluwl pwnwyhnp YhwymGyh OB Jwd OC nhppnid, tpp
wjG wyunwnblp

arcsina + 2mk » ke Z, Ywd w—arcsina + 271k, ke Z
wlyyniGGtpny: UjuhGpG® sin x = ¢ hwjwuwpiwl wpdwwnGnl 66
x=arcsina+2nk, keZ, 3)

x=T—arcsina +2nk, ke Z: 4)

LotonuiGlph wju tipynt puqunipyniGGatipp Yupbih £ Gepluwjywgltp oty pwlwdlny.

o sinx =a huwJwuwpdwl jnionudl F

x=(-1)"arcsina+7n, neZ: (5)

bpnp, tpt (5) pwlwdlmd #-pqnyq k' n =2k, unmwlnud Lap (3) pwlwdlp, huy tipk
n-pYtlwn £ n =2k +1, unmwlnud tGp (4) pwGwalp:
Luwbh np arcsin 0=0, (5) pwGwdlhg unwlwp, np

o sinx =0 hwwuwpdwb (niondl F
xX=mn, neZl:

Q-dup sk unniqbif, np nuonudGhph (5) puquinipynilp g =1 phiypnid hwdipGyand k
(1)-h, huy a = -1 niypmu (2)-h htiwn:

OphGuwl 1: TmotGp sinx = % hwjwuwpnuip:
n .1
Swiwdwjl (5) pubGuélh, x=(-=1) arcsmz +Tn, neZ:

1 n
Luwh np arcsmzzg,mphdﬁ‘ x=(-1) %+nn, neZ:

n T
Nunuufuw (—1) o +7n, neZ-:
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OphGuwl 2: TnotGp sinx = —% hwwuwpnuip:

Qwiwdwyb (5) pwlwdth, x=(-1)" arcsin(— %j+ mn, neZ:
. 1 . 1 n+l . 1
Luwlh np arcsin| — 5 =-— arcsmg ,mpbdl x=(—1)"" arcsin 5 +7nn, neZ:

Nunwujuut (—1)" arcsin% +7n, neZ-

UtylGwpwGtGp (3) L (4) pwGwdlbpp qpudhynpbb: sinx =a hwjwuwpdwl

wpiwwbbpp y = sinx pniGyghwjh gqupuphyp b ¥ =@ mnnh hwndwl Yhnbpp wpughu-

GtpG b6 (GY. 66): Lwlh np y=sinx $nGyghwl 27 -wwppbpwlwd t, pujuywd t
quGt [—7, t] showlwjph wpdwwmbbpp L gnidwpt] wwppbpnipniGGtpp:

VA
y=sinx

N
T 0 N /] NES

A -
»
-TC-arcSina arcsing  TU-ardgina 2TC#/arcsina 31‘C—arc\@a X

L. 66

hyybtu mbulmd Gip Gupnd, [=7, 7] Thowlwmd Ju tpynt wpdwwn, plng npoud,
T T
w6 wpdwup, npp [— 5 > 5} dhowlwypnii k, arcsina -G t, hul Uyniup’ (T — arcsin a )-G:
Gnudwptinyg wupptpmpjnmGatpp” vnwGnd hp (3) L (4) pwlwalbpn:

2. cos x = a hwjuuwupdwl ponip:

A
Lwlh np Ynuhlniul wpdtplbp £ pinnilnid dhw)G ’ B
[— 1; 1] vhowlwjpnud, miptdd, tiph |a| >1, wyw cosx=a
hwjwuwpniG wpdwwm ynibh: >
“thnwpytip @ =1 nbwpp: Uhwynp 2pgwwqoh ypw ¢ @A
vhwy ytwp, nph wpughup 1 &, A(;0) YbwnG t (GY. 67): C
Lowlwlmd t L. 67

% cosx =1 hwjwuwpdwli jnionidli £
x=2nk, ke Z: (6)

{wlgnilnptl hwingynu tlp, np

<:-: cos x =—1 hwjuuwpdwli jnionudl F >
x=n+2nk, ke Z: (7)




Qhnwpytlp |a| <1 ntiwypp: “hgnip thwynp 2powlwghop b x = ¢ ninhnp hwunynid
Ll B L C Yumbpmd (GY. 67): cosx-n YhGh a thwjl wyl nhwypnmd, tpp OA ulqplw-
Jul pwnwyhnp x nwnhwl wiyjnilng wunwnmbihu hwymGyh OB Ywd OC nhppnd: {w-
dwdw)l wpyynuphlniuh vwhdwGiwG™ w6 yhwymGyh OB nhppnid, tipk x = arccosa :
buly OC nhppnp Yumwgyh, tipti x = —arccosa :

tnlwpwp' OA ulqpGulul pwnwyhnp YhwyjnGlh OB Jwd OC nhppnd, tpp
w)l wnwntlp + arccosa + 27k , ke Z, wiymGGtpny: Nwnh’

micosx =a hwijwuwpdwl jnionidli F
x=xtarccosa+2nk, ke Z: (®)

UwulGwynpuwwtu, tpp @ =0, hwpyh welbnyg, np arccos 0 = 1t/2 , unwnd bGp, np

T
cos x = 0 hwjwuwpiwl pnomdG b x= iE + 27k , ke Z: hipGmpni)G hwinqytp, np
nronuiGtiph wju pwquinipynilGp unpbh L unwg wytth wupgq pwGwdunyg.

<:': cosx=0=)x=g+1tk, keZ. >

Guipnn tip unniql Gwl, np nonwiGph (8) puquinipynilp g =1 nhypnid hwdpGyGnid k
(6)-hG, huy a =—1 ntiypmd’ (7)-hG:
OphGwmy 3: LmotGp cos x =—1/2 hwjwuwpnidp:
1
{wdwdwyl (8) pwlwdlh' x= iarccos(— 5)+ 2nk , ke Z:

1) 2 2
LwGh np arCCOS(—E)=?ﬂ:,mphdﬁ‘ x:i?n+2ﬂ:k, keZ:

2
MNuunuwujuwl x = i? +2nk, ke Z:
OphGuwl 4: TmotGp 2cos x = J5 hwywuwnpnuip:
5
Lwlhnp 7 > 1, nmiptidG cos x = g hwjwuwnpndG wpdwwm ynilGh:

UtijGwpwGhip (8) pwlGwdlp gpudphynptiG: cosx =a hwjuwuwpdwl wpdwnmGhpp

y=cosx pniiyghwjh gqpubhyp b y =a niqnph hwndwb Yawntinph wpughultinG a6 (GY.
68): Lwlh np y=cosx dnilyghwl 27 -wuwpptpwywa t, puduwiwl t qnlt) [, 7]
vhowwjph wpdwwmbbpp b gnudwnpb] wwpptipnipyniGGhpn:

yl\
y=CO0S X

‘ ya RN N\
N A N ® /[ m |\«

A -
arccOsa-27 - apcosa O arconsa -arcg0sa+2T arccos)\ZTE X

Ul 68
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hGyytu mtulnd Glp Gyupmy, [-7, 7] dhowlwynd Ju tpynt wpdww, npnlghg
utiyp, np [0, 7] dhowlwjpnid t, (arccosa )-G t, hul Ujniup’ (— arccosa )-G: Gnidwptiiny
wuwppbpnipyniGatpp” unwlnd Gip (8) pulGwdlip:

3. tg x = a hujuuwpiwG pomuip:
T T
Q-hwutilp, np jnipupwlynip a -h niypnid gnynipyniG niGh shwy phy [—5; 5) uh-
owljwjpnui, nph mwliqkGul a k, L wyn phyp arctga -G & (nb'u GY. 69): Lwbh np nw-
qtilup -wwppbpwlwd t, mpbda®

VA
. | jyTtex |
| I [ |
| __a | |
L 2 L2 12 2
E arctga+ 7 O arctga arctgaym X
¥ N ] |
L. 69
Wt tgx =a hwjwuwpdwl jniondl ©
x=arctga+mnk, ke Z: )

OphGwly S: LmotiGp tg2x = V3 hwyjwuwpnuip:

{wdwdwjl (9) pwGwdlp’ 2x:arctg\/§+1tk, ke Z: LwlGh np arctg«@:

b

w3

niunp’ x=E+Ek, ke Z:
6 2 —
MNuonnuufuw G €+§k, keZ:
4. ctg x = a hujuuwpiwb pmonwip:
Qhwtlp, np jnipwpwlsjnip a -h nhiypmd qnynipyniG mGh shwy phy (0; ©) thow-
Juwypnud, nph Ynnwbqblup at, L wyn phyp arcctga -G k. (mbu GY. 70): Lwlh np Yn-
nwlqbklup 7 -ywppbipwyw b, nipbda’

wr ctgx =a hwjwuwwpdwb nionudl
x=arcctga+mnk, ke Z: (10)

Utilip Gwl, nptipp a # 0, ctg x =a hwjwuwpnuip hwdwpdbp b tg x =1/a hwjwuwp-

dwln:
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cd wulpugti| Gp puup
1.

N

N kW

A Unwouppuiipibip

VA

—)
—

- y=ctgx

arcctgq -1 \_arcctgd arcctga 4+ T

Y. 70

——
me———"

OphGuwl 6: LniotGp ctg % =0 hwjwuwpnip:
Lwbh np arcctg0 :g, ntunp’ % =§ + 1k, npntnhg’ x=7+2nk, ke Z:

Muunwujuwb 7T+ 21k, ke Z :

OphGuwl 7: Lmotlp ctgx = —% hwywuwpnuip:

Uj6 hwiwpdbp £ tgx = —\/g hwjwuwpdwlp, npp nuondG £ x = —g +7mk,keZ:

T
Nuunuujuwi — 3 +nk, ke Z:

Qntip sin x =1 L sin x = —1 hwjwuwpnuiGtph nomiGtpp:
N°pG L sin x = @ hwjwuwpiw nonudp:

N°pG t sin x =0 hwjwuwpdw( promuip:

Qntip cosx =1 L cos x =—1 hwjwuwpnuiGhph nroniGhpn:
N°pG t cos x =a hwjwuwnpdw( (nuonidp:

N°pGt cos x =0 hwjwuwpiw jnuonuip:

N°pnGp 66 tgx=a L ctgx = a hwjwuwpmiGtph nrondGhpp:

Lniotp hwjwuwpnidp (314-319).

314. w) sinxz%, p) sin3x=1, q) 2sindx =+/3,
n) 2sinx+1=0, b) sin3x=0, q) 3sin2x =2,
psntaB panto2) P) 26in =2
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315. w) cosx=-1, p)\/Ecos2x—l=0, Q) ZCOSX—\/§=03

n) cos%:—%, t) 2cos2x++/2 =0, q) cos3x=0,
t)2cos4x+\/§=0, [1)3cosx:\/§, p) cos %:1;
316. w) tgx =1, p) tg2x =3, 9 V3tg2x =3,
1) 3tgx=+/3, h)tg%=0, q)\/§tg§+1=o,
B V2tgx=-2, p) tg3x=—1, p) tg5x="7:
317. w) ctg2x =0, ) ctg3x:—\/§, q) ctg§=1,
nV3ctg2x+1=0, b ctgx=-1, Q) ctg2x=2:
»318. w) ZCOSG—%]:«E, ) 25in[3x+§):—\/§,

Q) \/gtg(x+§j:3, n) sin[g+§j:—1;

>319.w) cos F—2x |=— L o 2sinf E- X =3,
6 2 32

T X
ctgl ——— |=1,
Q) g(4 2]

[ ypljine it hunfwp
»320. Uyuwgnighi, np tptp hwonpnujwl pyuwwiitpny qpuo juiwjwiwl tnwGh) phy
pwdwlymud k 3 -h:

»321. Uyuwgnighy, np 22---2 phyp pwdwlymd £ 6 -h:
222 hwwn

n) 2cos[§ —2x)= V2

§3. Gnuw Glynbwyuhwljub hujuwuupnuiGhp

LGwpuwynp sk quuwupgb] pninp tnwGyyniGwswthwwl hwywuwpndGepp b nwg
nnuwig nodw b inuGwybGtpp: Wyu qupuwgpudnid YpGGwpytlp towGlyyntGwswthwlub
hwjwuwpmiGtph novwl npn) tnulGwyGbp:

1) UpunungphsGhph JippmodwG by Gwul:

OphGuwy 1: TmotGp sinx —sin 2x = 0 hwjwuwpnidp:
Uhpwntiny sin2x =2sinxcosx (nyjGnipyniGp’ vnnwlnid GGp’

sinx(1-2cosx)=0
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hwjwuwpnidp: Nunp’
sinx=0 x=nk, kel

1 & T .
cosx:E x=i§+2nk,keZ'

MNunuwujuw G Tk, * g +2nk, ke Z-

2) a sinx + b cosx = 0 mbiuph hwdwubin hwjuwuwwpnudGbp (@b 0):

Uju hwjwuwpdwlp pwjwpupny x-tph hwdwp cos x # 0 : bpnp, tph cosx-p qpn
£, wyw, mbnunpbny hwjwuwpiwb vk, unwlnid tlp, np sin x -p lu qpn k, npp hw-
Juund L sin? x+cos® x =1 GnyyGnipjuGp: {<Emblwpwnp’ hwjwuwpdw6 tpynt Swubpp
Juptih £ pwdwlb) acosx-h L unwlwy

tgx=-b/a
wuwpquant)G hwjwuwpnidp:

Oppliwmly 2: TmobGp 2sin 2x —3cos 2x = 0 hwwuwpnidp:
Lwbh np cos2x # 0, mpJwd hwjwuwpiwb tpynt Ywubipp pwdwlbny 2 cos 2x -h
unwlnud bGp tg2x =15, npumtinhg

2x =arctgl,5+ mk <:>x:larctg§+n—k, keZ-
2 2 2
1 3 mk
Muunuufuwl 5 al‘Cth + > keZ.
3) asinx + b cosx = ¢ whuph hwjuwuwpnuiGhp (@be # 0):

Spywo hwjwuwpdwl tpynt dwubipp Va® +b* -h pwdwlbnt b @ odwlinuly wh-

nil Gepdnidtnt dhongny wyl pipynid £ cos(x — @) = _°c hwjwuwpdwn:
2, 12
a +b
Ophwly 3: LnwdtGp sin x ++/3 cos x =1 hwjwuwpnuip:
Jwjwuwpiwl tpynt Swubpp pwdwGbny 2 -p° unwlnd Gip

%sinx+§cosx :% :
7
{wyh wnlhny, np % = sing N 73 =cCos g , unwnud LGp

b 1
COS{ X —— |=—

hwywuwnpnuip, npntnhg” x — g = ig +2nk, keZ:

MNuunwujuw i —g+2nk; §+2ﬂtk, kel
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4) ‘bnywub duuhnjunipyniGbpny punwlniuwghG hwjuwuwpdwG pbp-
Ynn hwjwuwpniiGhip:

Ophfiwly 4: Lnwdtlip cos4x +2cos” x =1 hwyjwuwpnuip:

Stnunpbny cos4x-h thnfuwptG 2cos?2x—1, hul] 2cos?® x-h thnfuwpkG’
1+ cos2x, unwlnd LGp’

2cos?2x+cos2x—1=0:
Lowlwybny cos2x =t L qubkny unwgyud
212 +t—1=0
pwnwlniuwjhG hwjwuwpdwd ¢, =-1, ¢, :% wpiwwbbpp” hwlgnmyd Glp htnljw) hw-
Jwludpha.
cos2x=-1 2x=m+2nk, ke Z

cos2x = 2x=i§+2nk,kel:

1

2
. T T

MNunnwujuwG E+Tck, i€+7l7k, keZ:

5) A sin’x + B sinxcosx + C cos’x = 0 wmbuph hwiwubtn hujwuwpnuiGhp
AC# 0):

Juwjuwuwpiwlp pwwpwnpnn X -tph niygpnd cos x # 0 (hGsn®t), niuwmp hwjwuwp-
dwl bpynt Swubipp Yupnn Gip pudwty cos? x-h b unmwGw) Gpul hwiwpdtp punw-
Uniuwjhl hwjwuwpnd tg x -h GHuwndwdp.

Atg’ x+Btgx+C=0:
Ophf6iwly 5: Lnwdtilp 3sin xcos x —3cos” x = cos 2x hwwuwpnuip:
3sinxcosx —3cos” x =cos2x &
& 3sinxcosx—3cos? x=cos’ x—sin’ x &
& sin® x+3sinxcosx—4cos’ x=0 & tg’ x+3tgx-4=0 &

|:tgx:1 X=E+Ttk,k€Z
PN PN 4

tgx=—4 x=—arctgd+nk, ke Z

MNunwufu G §+Tck;—arctg4+7'ck, keZ:

cd Swulpugti| Gp puup

1.  bBGswybt®umob] gsin x+ b cos x = 0 wmbiuph hwjwuwpnuip:
2. blywb®unioty sin x + cos x =1 hwjwuwpnidp:
3. bhyuyt®u oty Asin? x + Bsin xcos x + C cos” x = 0 wtuph hwjwuwpnuip:
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A Unwouppuiipibip
Loty hwjwuwnpnidp (322-336).

322. w) 2sin? x—sinx =0, p) /3sinx—sin2x =0,
@ tg’ x—tgx=0, 1n) Scosx =sin2x:
323. w) 2sin x + tg(mt—x)=0, P) ctg§+cos(7c—x):1,
\/— . s . .
q) 2s1n(x+5)=ctg(x+n), n) 2sinxcosx+4cosx=sinx+2:
324. w) sinx+cosx=0, ) ﬁcosx—sinxzo,
Q) cosx—2sinx=0, n) 4cosx+sinx=0:
325. w) sin8x+sin2x =0, P) cos5x+cos9x =0,
q) sin 7x =sin(mw —3x), 1) Cos6x:sin(§+4x),
t) sin9x—cosx =0, q) sin2x+cos6x =0:
»>326. w) cosx—\/gsinxzﬁ, p) cos2x+sin2x=1,
a) cos x +sin(— x)=—\/§, 1) ctgdx —ctgbx=0:

>327. w) sin(m + 3x) + cos(n — 3x)=+/15 ,

1) sinx_;n +\/§cosx+23n :\/5, Q) c032x+cos(§—2x):\/§:

328. w) 2sin” x+sinx—1=0, p) 3sin® x—5sinx-2=0,
q) 6¢cos’ x+cosx—1=0, 1) 4cos’ x—8cosx+3=0:
329. w) 3tg® x+2tgx—1=0, p) 2tg’ x+3tgx—2=0,
q) tgx—2ctgx+1=0, n) 2ctgx—3tgx+5=0:
330. w) 2cos’ x+5sinx—4=0, p) cos2x+3sinx=2,
Q) cos2x—5sinx—-3=0, 1) —2+3cosx=cos2x:
331. w) 3sin® x —sinxcosx =2cos’x,  p) 2cos’ x—3sinxcosx+sin’x=0,

q) 9sin xcos x—7cos? x = 2sin’ x, 1) 2sin’ x—sin xcosx = cos’ x:

>332. w) 2sin2x = 6¢cos> x—1, p) 2sin? x—cos2x+sin2x =0,
q) 5sinxcosx+1=7cos? x, 1) 1+ 3cos® x =5sin xcos x :
333. w) cos 7xcos13x =cosxcos19x, p) sin xsin 6x = sin 8xsin 3x,
q) sin5xcos3x =sin9xcos 7x, 1) sin xcosSx =sin2xcos4x:

334. w) cos4x+cos2x=cos9x+cos3x,

p) sinx+sin2x+sin3x+sin4x =0, q) sin8x—sin6x+sin4dx =sin2x:
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»335. w) tgdx-tg2x =1, P tg2x—tgx=0,

) tg2x-tgx=-3, ) 1+tg’ x=—3—:

Sin- X

»336.w) tgx—sin2x =0, P tg3x+cosbx =1,
q) 6¢ctg” x—4cos® x =15, n) 2tg* x-3tg’ x+1=0:

[ yplinuepwis hunfwp

337. 3np dhwwmbuwl YnipwjaGtpny pphqunp upnn E qupwump hGdt) 10 opnud:
w) LwGh® opmid YhGakG nupwnp, tph wyfuwwmh dhw)G hhGgq YndpuwyG:
p) Lwlh® op k wlhpwdtym nupwmp hGdbnt hwdwnp, tph Yndipw)Gatp6 wypuwnmbG
60 %-ny wwywu wpnwnpnnuwlnipjudp:
q) Lwlh® opnd yuywpuyh hniGdp, tpt wpuwwntl 25 %-ny wyb] wpnwnpnquljw-
Ginipjuip:
1) Gpb YnipwjGGtpG wuwwnmwGpuwjhl opyu Yhul wpfuwwmbG tpynt wlqud wybih

wpwq, hul Ytuophg htimin tpynt wlqud wytijh nulnun, pwGh® opnid juywpuyh
hniGéan:
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338.

339.

340.

> 341.

342.

343.

344.

345.

346.

347.

Unwownpulipltp nuuplpwgh YpYinpywul hwdwp

Qwpyty 24, 44, 54 ynntipny nipnuiGyjniGwlhunh wiymGughon
w) Ukl dtwnp Gumnipjudp,

p) bl nighitnp Gunipjwidp,

q) Ut vwlmhditwnn G)wmnipjudp:

Funnuwnty pybtpp.
w) V2 +7 L3446, P V1T=V5 1742,
%) (\/5—1)% L (V5 -1)07, m (3-1) (\/5—1)%
Uwwgnghty, np mpywo phyl hpwghnbwy k.
w) sin15°, p) cos15°, q) tg22,5°, 1) ctg22,5%:
Ltppwlwlnipjudp wywgnighy himbywy pdtiph hpwghnGunipniGp.
s T T L
w) cosg, n) COSE, q) cosi, n) cosa:

©EJwjhGmnnhypw A L B Ytwntiph hinwnpnipymtGp A L C Yhwntiph hinwynpnipjuG
20 wnynuG k: QnGh; A -G, bpk’

w) B=5, C=17, p B=-2,C=9, q) B=0, C=8:
OJuwjhlninnh AB hwndwon 25 wnynuny dkowgnphl dhe Guytwp pnntiny wiywnpd:
Qu(t) vnwgyuo hwnywon, tpk’

w) AB =[1;5], p) AB=[-3;9], q) AB=[0;12]:

QuGh] x-h npuiwb wpdtpltpp, npnlGg nhypmd £ (x) -G pGwo & a pyh € pow-
Juypnud.

1 —
w) f(x):x—+1, a=1,e=0], b Fl=2% 31, a=2,e=005:
.

X+
Qunlbt] plwlywd 7 -tph pwGwlp, npnlg niypmd f(7) -p sh ywwwimy a pyh €
2nguiljwphd.

n 3n—-2
n)= ,a=0,2,e=0,01, n)= ,a=3,¢e=0,1:
w S () Sn+2 p) f(n) n+5
Muwnqtig(t) wpnwhwjjnnipynilp.
2 2
1+coso +1 1+cosa I+tgo+tg” o
w) sin o Csinfa 1+ctgo+ctg’ o
2
tgo.  ctga—-1 1 1
I-tg“a ctga I+tg"a I+ctg”a
{wpyb wpmwhw jmnipjuG wpdbpn.
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348.

349.

350.

»>351.

4
»352. Uyugmghy, np tptt A -G, B -G, C -6 trwlljwl wilyymGibp &G, L tg A =§

»>353.

»>354.

»>355.

> 356.

357.

358.

359.

_ 4
w) tg225° -cos330° - ctg120°, n) ctgs—n~sm3—n~tg5—n~cos—n,
3 4 6 3
q) tgl”-tg3”-tg5 -...-tg89°, n) ctg2”-ctgd” -ctg6”-...-ctg88":
Npnptp wpnmwhwjmnipjw Gup.
i 3 23
w) 0,5—s1n§, p)%—COS]—;, q) sinl—sin2:

. 4
Q) sin 20 -G, tpl SINOL+COSOL = 3 .

. 2 T
Q-hgnip sin 200 = 5, O<a< 5 : Qwpyb] wpunwhwjmnipjul wpdtpp.

w) sin oL+ cos o, p) sin® o+ cos® o, q) sin* a+cos* o :
Uwuwgnighiy, np wnweohl pwnnpnh o -Giph hwdwnp.

w) sinot+cosa>1, p) tgo+ctgo>2:

wuyw C =45

, tgB=17,

Uwuwgnigh]. np tp A-G L B -G unmpwlyymb tnwllyjul wilmGibap &6, wyw

tgA-tgB>1:

1gA-tgB<l1:

Uwuwgnigli, np ipti A-G L B -6 pmpwllynil tnwGljw6 unip wilymGatp 66, wyw

Quit; ABC unipuyjniG tnwGljuwl wiyjniGiiph mwGqbGultpp, tpt hwjwGh t, np

tgA-tgB=3, tgB-tgC=6:

Gnwljwl wiymbiaphg vkyp 120° £: Qb Ojnu bpynt wilyynGitpp, tpt hwjnGh

L, np Gpwlg YnuhGniuGtph gnidwpp \/5 L:

J5
“thgnip cosSOL = T : Gt wpmwhwjmnipjwl wpdtipn.

w) cos 20, p) cos4a, q) cos6a:
. 3 =«
“hgnip SINOL = g, E <O < T: Gt wpnwhwjnnipjul wpdtpp.
w) sin 20, p) sin30., q)sin 4o,
.o o
n) smE, ) cosE, q) cos3a:

Uwwgnigty (n1jGnipjnilp.

2sin a.cos B —sin (o + )
cos(ot+B)+ 2sin ausin B

=tg(a—p).
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ZCosocsinB+sin(0€—B) _

=—tg\o.+p):
P cos(o.—B)—2cosacos B glo+p)
»360. Unyugnigh) hwjwuwpnipjmGp.
w) cosEcosﬂcoss—n=l, p) ————4sin70" =2:
7 7 7 8 sin10

s
»361. Quih), pb [E’n} thowlwjph np x -tiph hwdwn £ §hyn wlihwjwuwnpnipjnilp.

. . 3w 4
w) smx<s1n?, ) cosx>cos7, q) tgx>-1:

Qb pniGyghwyh npnpdwl mhpniypn (362-363).
362. w) yz%—ZCtg4x, p) y=tgx+ctgx:

»363. w) y=+/sin2x +1-2sin” x , n y=\/cos1tx—\/sin1tx:

Qb pniGyghwyh wpdbpltph puquinipniln (364-365).

364. w) :5coszﬁ—2, n yzgct Zx+1, q) y=2,5-sin3x|+3:
y 3 3 g

365. w) y= (x— 9)3/2 -5, py= 3l-2¢ , q) y=25- (()’2)2—J‘2 :

Muwpqby, pb httmlyw $nbGyghwltphg npnlp GG qniyq, npnlp’ YhGwn L npnlp’ n’s qnijq, n's
ytGw (366-367).

366. w) y=sin3x, p) y=2+xcosdx, q) y=3—-xtg7x:
3 3 .
2+3cos2x X~ +sin5x
367. =z - = = >
w) y 71 Py 4—3sin3x Q) y tex—1

368. Qwnlby pnilGyghwjh hhdGuwlwl yqupptipnipyniln.

T T T
=1—sin| x—= |, = += |+ 2, =3—tg| = —x |
w) y sm(x 6] Py COS(X 4) Q) y g(S XJ

»369.9-nGh) pniGyghwjh Grulwywhywiiwb L dnGnnnGnipjwl howlwjptipp.

. L
w) yzZsm(x—gj, p) y=2cos3x-5, Q) yz—tg(g—x):
Qb $niGyghwyh dtowgniyG L thnppugntyG wpdbpltpp (370-371).
370.w) y=3—4co0s0,7x, P) y:sin2x+c032x:
371.w) y:(sinx+cosx)2, »p) y=sinx+2cosx:

372. {tnwqnuty pniGlhghwi L junnigh] gpudhyp.
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w) y=2sin(-x)+1, p) y=4sin 2x—% , q) y=—tg2x:

{wpyt wpnwhwjmnipjul wpdtipp (373-375).

. 2
373. w) arcsinl—2 arccos(— %J P 2 arccos[— ? ]_,_ arcsin % .

374. w) sin[n + a.rccos[— g D D) cos[n - arcsin[— g n :

1 1
»>375. w) sin 3—Tc—arccos— , p) cos E+arcsin— :
2 3 2 4

376. Qwnlt] wpnwhwjmnipjwl pnjjunmptiih wpdtipGiph puqdnipynin.

5

w) arcsin(2x—1), p) arccos , q) arctg —
+4 x° -
Lot hwjwuwnpnuin (377-385).
. (2x 0w S5x w
377. w) 2sin| — +— —\/§=O, n) \/gtg 4+ 1-1=0:
5 3 2 6
378. w) /3sindx+cosdx =0, P 3SiHX+4Sin(g+xj=01
379. w) \/gsin4x+cos4x:1, D) 3sinx+4sin(§+x}=l:
380. w) 1+ cos4x=sin3x—sin x, p) 1—cosdx=sin3x+sinx:
381. w) tgx+3ctgx=4, p) tgx—4ctgx=3:
382. w) cos2x =3—7cos(3n+x), P) sin4§+5003x+4:0:

>383. w) 2cos’ 2x —12cos” x+cosdx—1 :85in1%+ Zx}

p) 2cos’ 2x—2cosdx +4sin’ x+ 20052x—5:5cos[57n—2x]:
384. w) cos’ x—7sin’ x = 6sin xcos x, p) sin® x+9cos® x =5sin 2x:
385. w) 10sin”> x—6sin 2x—11cos* x=1,

p) 4sin’ x—3sin xcos x+5cos’ x=3:
386. Lniotp hwdwlupgp.

x—y=1 y—x=3
W) | cos mrx ++/3 = cos my P) sinme—+/3 =sinmy
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q) tg’x 1) cos*x h) —cos’x q) —tg’x 122.w) 1 p) 0 q) 1 ) 1 123. w) 12 p) -21
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n) y=-Yx,xe(0;00) 278. w) 4 p) 0 q) 2 279. w) xeR p) xeR q) xe[0;)
n) x€ [0;00) b) xe [O;oo) q) xe (—oo;O] 283. Qwdwyswth £y =x mnnh Guwndwdp, oph-
Guy y=7-x 284. 2, 4, 6 285. —1/6, 2 286.' w) (w; 7 +7k) p) (7/2+27k;57/2 + 27k)
Q) (= 7/2+ e, )2 + 7k )n) Qs 27 + 27k ) ) (= 72/ 2 + 270337/ 2 + 270k) Q) (=70 + 27k 70 + 272k
287.w) [27k; 77 + 27k | p) /2 + 27; 37/ 2+ 270k | Q) (- 7/2+ 27k, )2+ 270 ) W) (= 70+ 27k;27k )

' Uyunthtinl inw@lgm@wsunhuljwd wowgumpubpitiph qunufuwbGtpnd Gapugpnnd £, np
keZ:
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) [wk;z/2+7k] Q) [-7/4+ n; )4+ 7k] 288. w) sin(—15°), sinl15°, sin75" p) cosl45°,
cos75°, c0s22° q) cos(77/5), cos(~x/9), cos(-z/13) 1) sin(57/3)=sin(47/3)<sin(z/5)
289. lll) Xmax :5”/6+27[k’ Ymax :1’ Xmin :_7[/64_27#(5 Ymin =-1 p) Xmax :ﬂk’ Ymax :1’
Xmin =7[/2+ﬂk > Vmin =-1 Q) Xmax =_ﬂ/2+2ﬂk > Vmax =27 Xmin =ﬂ/2+2ﬂk5 Ymin =0
1) Xpax = 7/2+ 7K 3 Viax =1s Ximin = 7 5 Yiin =0 290. w) UkidwgnyyGp’ 0, thnppugnyyGp’
-2 p) dkowqnyyGp’ 2, thnppwgniyGp’ 0 q) dkowqnyylp” 5, thnppwqgniyGp’ -1 1) dkow-
qnuyGp’ 9, tnppugniyGp’ —1 293, 45294. 8, 10, 12 296. w) 973, 1g43", 1g(-50°)
p) ctgl3’, c1g72°, ctgl07° q) cig(67/5), ctg(27/5), ctg(57/7) n) te(-7x/9), tg(x/7),
g(7/9) 297 w) (#/2:7/2+4k)2) p)  (w/2:7/2+4k/2) Q) [-7/2+mk;ak)
n) [k )2+ 7k) ) (= 7/ 2+ 7e; 7k ) ) (e; /2 + 7k ) 299.7 300.21 302.w) 0 p) 7 q) T7/12
n) —7/3 303. w) 27/3 p) 7/2 q) 7 1) —x/12 304. w) Wyn p) wyn q) ng 306. w) Oy p) ng
q) wyn 308. 7/2 310. w)—7z/12 p) 77/6 q) 4x/3 n) 11z/12 t) /6 q) —7x/12 312.w) 6,

p) 1313, w) (-2:3), (2:-3) p) (53) 314. w) (1Y z/6+ 7k p) 7/6+27K/3 o) (-1) z/12+
+7zk/4 n) (1f*'zfe+x b) /3 q) (~1) arcsin(2/3)/2+ /2 t) (~1) k+12ﬂ'/3+27zk
n) (C1Y3z/a+37k p) (-1f"'5x/a+57 315. w) z+27k p) tx/8+7k q) tr/6+27k
n) t47/3+4rk b)t37/8+ 7wk q) x/6+ k3 1) £57/24+ 7k /2 n)iarccos(x/g/3)+ 27k p) 67k

316. w) 7/4+7k p) arctg3/2+7k/2 q) 7/6+ak/2 1) 7/6+7k b) 27k q) —x/2+37k
L) —arctg2 + 7k ) —7/12+7k/3 p) arctg7/5+ 7k/5 317. w) 7/4+ k)2 p) —7/18+ 7k/3
q) 72427k 1) -x/6+k/2 &) —m/d+ak q) arctg(l/2)/2+k/2 318. w) 57/6+ 47k,
—r/6+4rk p) (1) z)o-x/12+7k/3 q) mk n) -5z/3+4mk 319. w) —)A+ 7k

Se/12+ 7k p)2x/3+(=1) 27 3+ 27k o) 27k n) 7k, w/A+ Ak 322.w) Ak, (-1f 7 )6+ mk
)k, t7/6+27k Q) 7k, 7/4+7k n) 7/2+7k 323.w) 7k, tx/3+ 27k p) 7z+27zk, 7/2+
1k Q) zf2+ak, (- xfatdk n) tx/3+27k324. w) —x/d+nk p) x/3+k
q) arctg(l/2)+ 7k 1) —arctg4d+ 7k 325. w) #k/5, 7/6+k/3 p) m/A+ak)2, m)14+ kT
0) /2, 7/I0+7k/5 1) 7k/5 b) 7/20+ k)5, )16+ k)4 Q) —x)16+ k)4, 7/S+ k]2
326.w) —7/12+ 27k , ~Tx/12+ 27k p) 7k, w/d+7k q) 3r/4+27k 1) D 327. w) 137/36+
L27k[3, ~Tr)36+27k[3 p) m4dnk, mf3+4nk q) x/S+ak 328. w) —m/2+27k,
(1Y z/6+ 7k p) (=1 arcsin(i/3)+ 7k q) +27/3+27k , +arccos(l/3)+ 27k 1) +/3+ 27k
329.w) —7z/4+ 7k , arctg(l/3)+ 7k p) —arctg2 + 7k , arctg(l/2)+ 7k q) 7z’/4+7dc —arctg2 +
+7k 1) arctg2+ 7k , —arctg(l/3)+ 7k 330. w) (- ﬂ/6+7zk p) 72+ 27k, ( 71'/6+7zk
Q) () zf6+ 7k n) 27k, tx/3+27k 331.w) x/d+ak, —arctg(2/3)+ 2k p) x/A+k,
arctg2+ 7k q) 7m/4+7k, arctg(7/2)+ 7k 1) 7w/4+7k, —arctg(l/2)+ 2k 332. w) x/4+ 7k,
—arctg5+ak p) —x/d+ak, arctg(l/3)+ 7k q) m/A+ak, —arctg6+ak 1) x/Ad+7k,
arctgd+ 7k 333. w) /12 p) A2, 79 ) /4, n/24+ak/12 1) k. 7)6+k/3
334. w) n/6+7k/3, 27k]7, 27k/5 p) 24k[5, x/2+7k, w427k q) 7k, x/10+7k/5,
74+ k)2 335.w) tx/12+7k/2 p) 7k q) tx/3+ 7k n) 7/4+7k/2 336.w) 7k, 7/4+7k/2
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p) /3, 7/12+7k/3 q) tx/6+7k n)x/4+ak/2, iarctg(ﬁ/2)+ﬂk 337.w) 14 p) 25
Q) 8 1) 8 338w) 74 p) 67qd q 67lud 339, w) 2+7<3+6
D V-5 <v7-v2 o) (51" <(5-1f" m(B-1]*> (B 3a2w)2, 7
p) —4.75, -1/6 q) -2, 4/3 343.w) [0,555] p) [-4.510,5] q)[-1,513,5] 344.w)(21;0)
p) (137;0) 345.w) 7 p) 165 346.w) 2 p) tg®aq) 1 n) 1 347. w) —0,5 p) —+/2/12 ) 1
n) 1348, w) + p) — q) — 349. 7/9 350. w) +/15/3 p) 24/15/9 q) 7/9 355. tgd =1,
tgB=3, tgC=2 356. 30°, 30° 357.w)1/9 p)—79/81 q)—239/729 358.u)-0,96 p)0,936
4)-0,5376 1)3410/10 1)4/10/10 q) 0,352 361. w) (3z/5;7] p) [7/2:47/7) @) (37/4;7]
362. w) (k/4;7/4+ mk/4) Showywjptinh dhwnpnudp p) (k/2;7/2+ 2/2) shewlwypbph

Jhwynpnidp
363. w) [7k;z/4+ k] Showluwptiph dhwynpoudp p) [24:0,5+2k] Showljuptiph dhw-

Unpnuip 364. w) [-2:3] p) [lie0) q) [3:5,5] 365. w) [-5;0) p) (0:3] @) [l;0) 366. w) YtGw &

p) ng qnijq &, ng’ Yhlw q) qniyq £ 367. w) qnijq & p) ny qniyq £, ng” Yalw q) ng qnuyq &, ng’
Yl 368. w) 27 p) 27 q) 7 369. w) npuiwG t (z/4+ 27k;57/4 + 27k) Showlwjptph

dhunpiwG Ypw, pugwuwlw' (- 37/4+ 27k 7/4 + 27k) dhewluypph Shuynpiw
Upw, M[-z/4+27k;37/4+27k), L [3n/4+27k;Tx/4+22k] p)  puguwuwlwi t,
M-r/3+27/3;27)3]), L [27k/3;7/3+27k/3] @) npuywG L (7/3+7k;57/6 + k)
dhowluyptph  shwinpiwG Jpw, pwguuwlw (- 7/6+ zk;7/3 + k) Showlwjphph
ShudnpiwG ypw, T(-7z/6+ 7k;57/6+ k) 370. w) 7, =1 p) 1, 0 37L.w) 2, 0 p) /5,
—45 373.w) -7 p) 237/12 374.w) —~/2/2 p) =0,5 375.w) —1/3 p) —0,25 376. w) [0;1]
p) (~oo-6]U[-2/7;0) q) (~oo-D)U(=L1)U(;0) 377w) 57k, Sak+57/6 p) 27k/5
378.w) 57/24+ 7k/4 p) 7/2 +arctg(0,75)+ 7k 379.w) 7/6+7k/2, 7k/2 p) *arccos(0,2)+
+arctg(0,75)+ 27k 380.w) /4 + 7k/2 , —)2+ 27k, (1Y z/6+ak p)ak/2, (~1f 7 )6+ k
381.w) 7/4+ 7k, arctg3+ 7k p) —x/4+ 7k, arctgd+ 7k 382, w) £27/3+ 27k p) 7w+ 27k
383.w) +7/3+ 7k, p) (1) 2/12+ 2k/2 384. w) —x/4+ 7k, arctg(l)7)+ 2k p) 7/A+ 7k,
arctg9+ 7k 385. w) arctg2+7k, —arctg(2/3)+7k p) xfé+mk, arctg2+ 7k

386. w) (7/6+ 2k;1/6+ 2k), (5/6 +2k;—1/6+ 2k) p)( Y /3+k,(- /3+k+3)
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